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������$%��$��%���������������� ��������2������$�!���������$���������2�����$/����4�� ��

 ���������2���������������2�����#��>����$��$���������2�����$�� #��$�$�4� �1���������

$�!��� ��$� �!"���#�$�  �� ���� ����#� � � 4�������� �/� ��4���� ��� ������%�����E� ���

4��!�!��� � � �� ��� 4��7�2� � �  �� ���  �J�� �� ��� 4���%��E� $��� �� $�$� ��������1$����$�

!B$���$������������� � �?����������� �2!��/�


��(����2����E���������4��� �����$%��4���������J��$��24��������$���� ������4(� � �E�

2������$� >��E�  �4�� ��� ��  �� ��$� ������������$�  ��� 2���� �� ?�  �� ����$�

�#������� � �$E��������#� � �4� �1�����%���������"�����$���� �$�4�$���#�$/�

���� �� $��  �� ��� ��$��  �� >��� ��� ���$%�� 4�� �� ���%��� �� $��� 4�$���#�� 4���� ����

��%�������&�E�4�$���� ���2��$�� K���$%�� ��
4������ � L/����� ��$�� �� �$��� ��4�� ��

���$%�� ��$� ��2!��$� ��� ��$� 2���� �$� 4�� ��� ���%��� �� $��� ��#���!��$E� ���>��� ��$��

$��24��� #��� ��%� �$�  �� ���2�� >��� �� 2�?��� ���$%��  �� �4������ � � 2�?��� ���$%��

�$���� �/����)��)�E�������$�����1�$�����&2���$������������������4�$���#�2������������

!��������E�$��!�������4����4��&��%��������� ���$�����������$%����>��!�����$� ���� ���

 �#��$�/�

��!� ����>���������$%��$���$�������>��!�����$�2M���4��$E��$�)�!������$����B��$�$�?E����

$�� ��$�E� ��� �#������&�� ����������#�� ���� ��� �!"����  �� �$�%������� ��� ���$� �� $��

2���2�����&�/��

� �2B$E�������$%���$���)�������������>�������#��$�&������$�4���!��� ���$�������#� � E�

4��� ��� >��� ��� �$� ����#����� >������ �� ��� �$�2��� ���$%�E� �$��� $��24��� #�� �� �7�$���� ���

2�?�����2�����2� � �/�

���#���� � � �� ��$��$�������$�?� ��$�#������� � �$� �� ��$� ��������$�2���� �$E���� ��$�

>������%�$����4�� ��������E�)������24��$��� �!�������$�� �������� �� ����$�2�$2�$E�

?�� >��� ��$� #�����$� ��� ��� 4�$� �� $��� ������ �$E� 4� ��� �� $��#��� ��2�� 4�����  ��

����������E�4������$� ����������$��B��$��24��� �$������ �$/�
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��������� � � ����$�� ��� ������$%���$�>������%�$���E� �4�� ��� �� ����$��������������

>���$�����������E�4�� �� �$4����� ��)����2�����$�>����������������$�������2�����E� ��

���2��>���4�� ���$�%�����?������!����������2B7�2��$�$���#��$����$/���

�$��� ���!�"��  �� ��#�$��%���&�� �������� ��� �$�� ��� $�!��� ��� 
�$��&��  ��� ���$%�/�

�B$���2����E������� ��� ���������E���������E��#������?��$�� ������������2������>���$�����

 �!�� ������� ������ ������$/�

�������4���� ��+E�$���74�������$������� ����$E��������� ����$���1%���$� ������$%��?�

�������� ������4��2�������$�������&�� ����$�2�$2�$/�

'�$������2����E�$���74�������$�4�����4���$�?�2B$� �$����!��$� ����������$� ������$%��

������� �$�4�����$�������$�2B$�����#����$�>������)����$�� �� ��?�������� ��C�4���� ��

3/.D/��

'���� ����� ����� ��� �����4���  �� ���$%�� ��� ��� ��B��$�$�  �� ��$� ��#��$����$E� ?� ��� ���

�4���� �� 3/+E� $�� �������� ��2!�(�� ��� �$�� ��� !�$� �� ��� ���� $�����  �� )�4&��$�$� ����$�

��2�����6���� � ��$4��� �E��$1���2���������$����� ���7��2�$� ���2��� �$��7��2�$�

 ��8������2���9	��%��$����/�

6��� #���������� �� ��� ���$%�� ��� $1E� ��� ��� �4���� �� 3/0E� $�� �$�� ���� ��$� ������ �$�  ���

��#��$������������($��/����������4���� ��3/5�?�3/;E���$����������$� ����#��$����$�!�"��

������� �2!��E� �$1� ��2�� ��$� �4���������$�  �� '��2�$�  �� ���$%�� �� ����� � �$� ��

$���$������4��������#��$���4�����#����� ��)�$����$%�$E���$4����#�2����/�

'�$������2����E�?���������4���� ��3/-E�$�����������?� �����������2������$�2������� ��

����  �� ��$� ��4�$�  �� ���$%�� �7�$�����$/� ��� �4���� �� 3/@� $��  � ���� �� ��$� �������$� >���

�����?���������2�$2�/�

�� ����������&�E� ��� ��� �4���� �� 0E� $�� �74�����  �#��$�$� 2� ���$� %��(����$� 4���� ���

� 2���$�����&�� ������$%�E��������� ����$�2(�� �$�!B$���$�4����$��%�$��&�E��������� ��

����#�������&��?�����2� ���&�� �� ��)�$����$%�$/�

�������4���� ��5E�$���$�� ����2� ���$� ��4��%��2���&��2���2B�����4�������%�$��&�� ��

�1����$�  �� ������ ��"�E� �������� �� ���  �����&�� ����������� ?� ��$� �$�����%��$�  ��

��2�������&�� ����$�2�$2�$/���������?���2� ���$� ����2���$��$�?��$���B$����$/�
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6��� #��� �$�� �� �$� ��$� 2� ���$�  �� �4��2�����&�E� $�� �74����� ��$� 4�����4���$�

������$����$�>��� $�� ���#��� ��� ���!�"�� ?� ��$� �1���$� �� ���!�"��>��� $��#��� �� $�%����

4������� �$�������� �������$�$� �������/�

'���M���2�E�$�������?��� �$��4(� ���$E����4��2����������>���$���������������%��$�����

 �� ��$� �����4��$� 2B$� $�%��������#�$� �$� �$� ��� ���  ���2����/� ��� $�%�� �E� �����?��

�$�����%��$� 4���� ��2!����� ��� �4�����&��  �� ���$%�$� 2� ������ ��������$�  ��  ���#� �$�

��2��$�����$�
4�����$�?�A�����$/��

��

�
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�� �������������

��� ������������������
�

��������%�� �����)�$������ �����)�2��� � E����$���)�2����$��24���)���$�� ���74��$���

�� ��%M�� ��4��  �� ���$%�E� ?�� $��� ����&2���E� 4��1����� �� $�����/� ��$� ��1%���$�  �� ��$�

��$���2����$�������� �$���2�� ����$�� ��($���$����2������������ � �	� ��E� �� ��

$���������!���4����$���$��������� �2�� �� ���%���������$�?���2��������$�������2�� ��

��������$� ��������/�

�� 4������  �� ������$�  ��� $�%��� N�NE� ��� $�$��2�� 2��������� �������������� )�� �$�� ��

��24��$��E� 4��� ���$� 4��1� �$�� ��� ������ �	�� ��
��
����� C �$ �� .@-,� �� .:.0DE� 	��

�	������ 	

�	� ��	����� C �$ �� .:.@� �� .:3:D� ?� 	�� �	������ 
���� ��� �	��
��� ��	����

��
�����C �$ ��.:3:���.:-3DE� �����������������$���4�$� ����2!���$����"�����$�%M�����

���	�����	���	

�
�������CH��%2���.::5D/�

��� ��
��
����� $�� ���$����?&� ��2�� ��$������&�� ��%��� ��2�� ��� 4���&�� ��������������

 �� �� �� �� 4�1$� ��%�!�� $�� 2��� �� ��� ���E� ��� ����� ��� 4��2��1�� ��� �24������&�� ��

�74������&�� ������ $��� ��$���������$/�����$������� ���$��� ��4�� ��4���&�� ����>��� ��$�

��4�$� ����2!����������"�$/����4���&�����������!��&����� �����2�� �E�$���������%��4��

������>���$����������!��� ��$�4�����4���$�4�1$�$�����4��$/����4�1$������������ ���$���

4���&�� ���� ��%�������� 4��$��� >��� ���� ��� �1 ��� 2�� ���� ��� �$����$� ��2�������$� ?�

����������$/��

����	������	

�	� ����������	�������
����	��$�� ���������&���2��K��������$����� ���

$�$��2�� ����������� �������������L/� ��� ����������&� 4��� ��� ������� �7��$��  �� �������

2������������������&�/���������$����� �� �����4��2����%������2�� ���E���$��������$����

���������� $�$4�� ������ ��� ���#����!��� � �  �� $�$� 2��� �$� ��� ����  ������� �� ���

�2!��%�� $�!��� ��$� �74���������$�  �� ���E� ���� ��� ����  �� 4����%��� $�$� ��$��#�$�  ���

4����� ��2����/�	�?�4���� �$4�($E� ���2�?��1�� �� ��$��������$�� �4������ ���2�$2��

4��1����/�'����� ������E��������������&�� ����$�%�$��$�2�������$�$��������&������#($� �����

�24��$�&�� �� ������ ��2������2�$�#��?��7��$�#�/��

���.:++E������������������� ��
���!��E�$������2�� &����� �4��&��������2�� �E� �����

4���&��������������2!��E�4�����$�����������$�����>�����$�4�1$�$����� (������4��2��������
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�������������� �� ��)�$� (������$�!���$�$���$��#�$� ������4���� �$2��������������2������

2���������?E���$��#��E���������$�����>�����$�4�1$�$�����$�4��B#���4��2��������>���$�$�

���������$���$��#�$� ��������!�����������$�$�4��1����$�2��������$�C��#�E��/	/�.::-D/��

��� 4��!��2�� $��%�&� ���� �� 2��)�$� 4�1$�$� �24������� �� 2���4����� ��$� ��4�$�  ��

��2!��� ��� �����&��  �� $�$� �!"���#�$� ���������$/� ��� .:3.� ��%�������� $�$4�� �� $��

���#����!��� � �C��!����$�������9���D� �!� ��������$��$��� ��$�$���$��#�$/�

��4������ ���$��2�2��������2�� ��$�� �#� �&�������$�!��>��$�����&2���$�����!��>���

 �������!����$�������E����!��>��� ����&����?����!��>��� ���
��/�

��� �$��� 4��1� �� �4�����&� ��� ���2� �� K4��1�����  �� �24�!����2������  ��� #�����LE� ���

�����$��!�$�!�������������� �#���������$���24�����#�$��������2����$�������4�������&��

 ��������$/������2!���������2��&��!$��������� ����������2����������&2����%��!��/�

��� "�����  �� .:00E� ��$� 4�������$� 2�� ����$� $�� ���������� ��� �������� F �� $� C��=�

G�24$)���DE�4���� �$�J���������#���� ��� �����������2�� ���E� ���B� �$�� ��� $�$��2��

>������#�!��4�����2!������ �� ��)����� � �C���
	�����	

�
������D/�

���$���������1$����$���� �2������$� �������� ����������

� ������&�� �������%������������������������4� ���$�?���������$� ����� �$/�

� ��$���$�$� ����2!��� �!��1��� ��$�����"�$�������������4����E�4�������4��$������

 �� �$�>����!���$E�$��1����"�$��!��$����������24�/��

� ��2����� �������?���$�2��� �$� ����$��#�/�

� �� �$� ��$�4�1$�$� �!1���� )����$�� �����$�$��2�� ����2������2������������ $���

��$���������$�?� ��2��� �$����#����!��$�

�'����  �$4�($� $�� ���&� ��� A	�� CA�� �� 	��������� �������������D/� 
�%���$2��

�����%� �� ������ 2���$�����&�� ������#��$�$��2��������������������������E��$� ����E�

 ���������?� �$���!������$���$��#�$E���2���24����� ��� ���$�$��2����������F �� $/�

��$� ��$��#�$� $��� �4���� �$�4��� ��$�4�1$�$�2��2!��$� �� ����� ��������� $�$��2�� ��

������ !�$� �� ��� ��� ��%��$�� ��������� ?� ��� ��� �24���������  ��� ��2������ ��� ��$�
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 ��������$�4�1$�$/�����������	
���
���	�����������������������	���������������������

�	����������������������C��#�E��/	/�.::-D�

�� �$���$�4�1$�$�#����������$�$�2��� �$���� &����?��$�� �$�6�� �$�#�����&���� &����

��� ���E� �$��� ��  �� ����� �� ��� ��2!���� ���� 4���  &����$� ��� ��$� !����$� ��������$�

�7����"���$����4������ ��35� &����$���������CH��%2��E��/�.::5D/�

��4������ ��.:5@E������������$�������&�� ��������#����!��� � � ����$�2��� �$�����4��$�

?� ���� 2���� �$� ����������$� 2B$� ����%�� �$E� ��� 4��1����� 2��������� $�� )���� 2���$�

������#��?���$�2�#�2�����$������$���$��#�$���������������$�$��)��������2B$�#��B����$E�

��#���� ���$1�>������$�$��2��$���1��������� �!��� � /��$�� �$�6�� �$�$����������!����

���$�����4��!��2�� ������������ �!� ����� �$�>����!������������� �2�� �� �� &����$�?�

��$���$��#�$��$�� ���� ��$�$/�

'��� �� �� ����E� ?� )�$���4�����4��$�  �� ���  (�� ��  �� ��$� -,E� ��$�2���� �$� ����$�� �$�

6�� �$�%������� ��������������$��!��� � /���!� �����������>���� � � ���#� �� �� ��)��

�$��!��� � E���$���#��$���$��4���!��������$�2���� �$��������������������������>�����$�

��#���!���������������$��4��������$/���

6��� $�����  �� ���$�$� >��� ��2�������� ��� ��� 4��2�#����  �� .:-.E� ��2!��� �� ���� ���

���$��!��� � � ���4���&���E���� �"����E�4������4�$E�����!�� ���� ����$�����$� ��� &����

�����������?� �� ��$� ��4�$� ����2!��� ��"�$� ��$4����� ��� &����4���4����� �� ��$�4�1$�$�

�� �$�������� �$/��

��2�� ��$���� ��  �� �� �� �$��� $�� ����� ��� K��
�	��
����������	�
����	��
L� >��� ����

��� � �� ��� .:-+� ��2�� ����  �#�$�&��  ��� K !������ ��	���
���� "#�!����L� 4����

4����$�����������$� ��������$���� �#�$�$/�

��$�4��1����$�2��������&2���$� �� ��$��$�� �$�6�� �$��� ������$� �� ��$��J�$�$�$�����

�?� ����� �� 4��#����� ���  ����2!�2������  ��� $�$��2�� $	�

��� %����/� ��� ��1 ��

 �������#��  �� �$��� $�$��2�� ������&� ��� .:-3/� ��� 4��1����� ��$���� �7���2� �2�����

�74��$�#�� �� ��$��$�� �$�6�� �$�������!�?&��� �������$� � � �� �#��������� &���E� ���

�����  �$���� ��&� ���$� ���"�$� �$4�������#�$�  �� ��4�����$� )�?�� ��  ���  &���E�

��2����� �� ��$�������$�2��������$� �� ��$�4�1$�$� �7����"���$/����2�?��� �����2������

2���������  �� ��$� �$�� �$� 6�� �$� ���2���&� ��� �������&�� ��������� ?� ��� �7����"���E�
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)����� �� >��� ��$� 4�1$�$� ������� �� �� #��� 2B$� ������$� �� ���������� �24����� ��

�������&���$�� ���� ��$�������#($� ����$���4�$� ����2!�����"�$/��

��4������ ���$��$�2�2����$E���$��4��������$�����������$�����$�� �$�6�� �$�$���������

��� ��2!��� $�%��������#�/� �� �� �� ��� ��������2����� �74��$��E� $�� $�2&� ��� ������  ��

����� �������� $������ �� ���2� ���E� ��� ��!���������&�� �� ��$�2���� �$� ����������$E� ���

��2����� ������������&��?��������$�$� ���$������ ���������E��������E������������ �"����

�������$� ���!���#������� � ������$���4�$� �������($/��

��� �$���  (�� �E� ��$� �����$� ��"�$E� $�%���$� ?� ��� �$�  ��4��$����$� ���%����� �� $���2B$�

#��B����$� �����$��>���������$�/���$�������������$� ����$� ��4�$� �������($���2��������

��� ����!���  �� .:-:� ���� �� ��� ������  �� ��� ��$��#�� A� ����� ������2�������E�

�!�� ���� �����4�B������ ����"��������4�� �������($E�� �4��!������4��1����E������������$��

4��2��1������$�2�#�2�����$�2B$��24���$������$���4�$� �������($���������'����/�

���4��!��2�����&�����%����������� �2!��������� ��$� ��#��$���$E�?��>�����2����!�����

4���%��� �� �$2�����&��$�!�����$��������$� ����$���#��$����$E��� ������� �!� ��������

%���� �$�2���1��  �� ��$�2�$2�$/�$�  ����E� >��� ��4�$���  �� >��� ��$� �$���������$�  �� ��$�

�������$�4� 1���$���!��������$�$������%���$�2�2����$E����)��)�� ��>����7�$����������

4�$�!��� � � �����%���������� ��)���������E�����!��������$�%��� � ���4��E����2��)�$�

��$�$E� ���24� ��������#��$�&�/�

��4������ ���$���2�2����E� �!� �������������� �2!������� ��?���������������� ��B2����

 ���2���� �E� $�� )����� ����$����$� ��$4��$��$� �� �$��$�4��!��2�$�  �$�����$/� '��� �� ��

����E�$����2��������� �$����������(�����$�����1����$��#���� �$�>���$��#������ ���?� ��

�������2�� �� ���$����$������$��4��������$�����������$�?E����$�������2����E�$��������

2� ���$� ��?�$� )����2�����$� 4��2����� �4��2�����  ��)�$� �4��������$� ���� ��� ����  ��

�?� �������$������$��$/�

'��� �� �� ����E� $�� )���� ����$����� >��� ��� ��2�����  ��� ���$%�� >��� 4�� ���� ���

4��!��2B����� �$�����E�$��%�$������ ������2���������������E� �����2��>���4�� �����%���

��$����������� ����$�����$�������� � /��$����$����M�����2������ ��>���$��4�� ���$�%����

2�������� �� ������$� %�����1�$� $�!��� ��$� ��#��$����$� >��� $�� ��������� ?�  �� >��� $��

2�����%�E���$��#��E�������������� ����$���#��$���$/��
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����������� ������$%��$��)��1������$�����4����2���������������#� � �����&2���E�?��>���

$��� ��� ��������  �� ($��E� ���  �$���������� )��1�� >��� ��$� ��#��$���$� �4��$��� 4��� ����$�

����#� � �$� ?� 4�$�!��2����� $�� �!���$��� �� ����$� 2���� �$E� ��� >��� )��1�� >��� ��$�

��#��$���$� ���$� ������� ���#��� �� ��!�� $�$� ��#��$����$� ������  �� ��$� ��������$�

������2�������$/��$����24����!��������$%�� ������������$�� ����������21�������/66/�

��� ��#���  �� ����$� >��� ��� �$�� 2�2����� 2�����1��� ��$� ��4�$�  �� �����($� ��� ��#���$�

�������� �$�?�����2B�%���$� �����������&��2B$�4�>��J�$/�

'�$������2����� ?� � �2B$�  �� ��$� ���$%�$� %����� �$� ��� ��$� �4��������$� �������$�  ���

4�1$E� $�� $�2����� ��$� ���$%�$� ������1 �$� 4��� ��$� �4��������$� ��� ��� �7����"���E� 2�?�

���������� �$� 4��� ��$� ������������$� ��� ��� ��2!���  �� 2��� �� ?� 4��� ��$� 4�$�!��$�

��2!��$�  �� %�!�����$/� ��2!��$E� �$��$� M���2�$E� >��� 4� 1���2� ������� ��$� 4��1����$�

��2�������$�?����!������$E������$�����%�� �������%���$���$�$E����74��4������#��$����$�

�7����"���$/�

��!� ���� �������������%��!�������&�� �� ��������21��2�� ���E����4��!��2��%����� ��

��� �$�� �$� 6�� �$E� 4������ $�� )��1�� �7���$�#�� ��� ��$���  �� 4�1$�$� ���� 2���� �$�

��!������� �$E�4������>������$�����&�����4��!��2�� ������$%��$��)��1������$�����?���%1��

����4��������$4��$������2�$2�/�

���4��2�����$�����%���>���$��4�������2���)���$���� ����� �#��$�������&�� �������������

 �� ��#��$����$E� ��� ����� �24����E� �� ������$� 4�B�����$E�  ����� �� ��$� �������$�  �� ����

������&���>����!�� �� �������� ��������$�����#�$/��

��� �#��$�������&��$����2�E�4��$E���2��4����� �������������4��������%�$��&��������� ��

��$��������$� ����#��$����$/�

�����$����$�����%���$��4�����4����� ���4��!��2�E�4������ �$���$���#��$����$��74��$��$���

��2!��$� !��$��$�  �� ��$� ��4�$�  �� �����($� ������M��� ������ �$� 4��� ��$� ���$%�$� >���

$�4����� ��)�$�������������$/�'����$������&�E�$��)��������$���������������$���4�$� ��

���$%�$� �� ��$� >��� $�� $�2����� �� ��$� ��#��$����$E� �$1� ��2�� ��� ���2�� �� ���������� ��$�

2�$2�$/� � �2B$E� ��� �� �$� ��$� �$�����%��$�  ��  �#��$�������&��  �$2���?���  �� �%����

���2��������$%�E�4������>��� �!���$����$�� �� �$������ ��?� ���������2��2���%�B����/��

���� �� ��$� ��4�$�  �� �����($�  �$2���1��E� ��$� �������$� 2��������&2���$� $�� )��1���

��#���!��$E�?� �$��#���!��$����� ��($��$���2����!��/����$������ ����$�)�4�����$�����
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���� ����$�2B$�$��$�!��$����$��$�������������$/����)��)�E� ��)�$�#���������$������1���

 �� ���2��  ����2������� ��� ��$� � ������$�  �� ��$�4�%�$�  �� ��$�  �� �$/��� !�"� �$�  ��

��4�$� �������($E���2����$� ����$�� ������$� ����$�4�%�$�?���2�?���$�!� �� ����$���4�$�

 �������($E�2B$�$�%��� � � ��>�����$� �� �$���24���$�����$�4����$� ���������/�

'���� �����������4��2�����$�����%��E���$������$��$�$��4��������� ����2�������$���4�$� ��

���$%���� ��$�>���$�� �74����� ��$� ��#��$����$E� �$1���2�������������E� �� ��� ���2��2B$�

�"�$�� �E� �� �� ����  �� ����$/� '��$����� >��� $�� ����� ��4���$�  �� ��24����� ��� >���

�����$4�� ������ ��������E�4� �1��� ����2�����������2�� ������$%�E������$�����$������

���� %�B����� $�!��� ��� 2�$2�E� ��� �����  ��1�� ���� �����2���&�� ������ ?� $�������E� 2�?�

4�$���#��4���������2�� �� ���$����$/�

���� �� $��  ������!��� �� � ��������!��� ��$� ���$%�$E� $�� �#����!��� ��$� 2�$2�$� 4����

���������$���24����/���!1���$������$� ��� �$���������$����$%�$�4��4��$� �����%��������

���$��&�E���2����$���������$/�

��$� ���$%�$� ������&%���$� ?� $������$� �$���� �$� �� $�$��2�$� ������&%���$� 4��1���  ��

2������$����������$� � � �����!�����?��4������4�B�����$�?�2� ��� � �$� ��%�$��&�� ��

���$%�$����� �$�������$����$��������$���������$�?�$������$E�%��!���$����� �#� ����$� ��

�>�����$�$�$��2�$/�

�$1�$�����&���� ���2��� ��&���
�����'�����E�$�2�"�����������4&����� ��$�%���E�>���

��!�1���� �$���$���4�$� �����$%�/����)���4��&��$���2��������1��#�����$��$�� �!�����$�

���$����$� ��� ��$� >��� ��%�� 4� 1�� $��� ��E� �$�  ����E� ���� 2� �������&��  �� ��$�

��� ������$� ��2���� �����4��#�$��$� �������2����/������$�����������E� ��)���4��&�E�

>�� �!�� $��� #����/� � �2B$E� ��$� ��2����$�  �� ���$%�$� $�!��� ��� ��������  �� ��$�

��#��$����$�$��1��� ������2�����4��4���������$������2����� �����(	�)�����'�����E��$�

 ����E���2�?������$%��2�?���4������ �����4&����� ��$�%���/�

�� 4������  �� �$��$� 2�2����$E� ��� ��$� �24��$�$E� ��$� ��$4��$�!��$�  �� ��������� ��$�

��#��$����$� � >������� ��� 4�4��� ����#����/� ��"�� $�� ��$�� ��� ?� ��$4��$�!��� � � $��

�����������$���$��$� �����$%�$�?�$���4��2�������%�$��&�� ����$�2�$2�$/��2!�$��$4����$�

$��� ��������$� 4���� 4� ���  ������� ��$� �!"���#�$�  �� ��� �24��$�E� �$1� ��2�� 4����

 ����2����� ��� 4���������&��  �� ��$� ��#��$����$� ?� 4��$��� ��� 2���)��  �� ���#�$�

4��?����$/� ��� �����E� ��� ��$�2��E�  �� >���  ��)�$� ��$4��$�!��$� 4�� ��� ��������� ��$�
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���$%�$� ���  ������� ?� ��������� ��$�4��!�!��� � �$�  �� (7����4���� >��� ��� ��������  �� ��$�

��#��$����$�>�� �����2B$��$�%��� ��4�$�!��/����4��2��������&��>���4��������2���)��

�$�������$�������&�� ����$����$%�$/�

�������� �������#� � � ��������%�������&��$�� ��2��� ���$����$���������2����E� ������

4��������$4��$�!�����2��4��������$��� ����>��4����������&�� ��$�$���$4��$�!��� � �$�

��$4����#�$/������2�� �� ���$����$��$�BE�$����2!��%�E���� ������ ��4�������7�$�������

 �� ���$%�� ��?�$� ������$� ?� 4��!�!��� � �$� 4�� ��� �����2�����$�� 4��� �$��$� 2�$2�$�

 ���$����$/�����>����� ���$�&��4�� ����������$��������$���� ������$� ��������$��

�  �����	
���)*	�/���� �$4���� ���� ����������2���&������$�����4����4�� �����

�����$���� �� ����� ���$�&�/�

�  ��� ����	
���)*	�/� ��� $��  �$4����  �� ��� �����2���&�� ����$����� 4���� ��2���

����  ���$�&�/� O����2����� $�� 4�� �� �24����� ��� �74��������� 4��#��� ?� ���

�������&�/�

�  ����	�����������	������/������$�� �$4���� �������2���&��4������E����>�����$�

������$� ����$���������2�����$�4�� ���4�� ����$��?�$���24������$�B������ �/�

��� ���4����$��  �� ��2��  ��  ���$����$� ������#�$� �� ��� �������%1�� ?� ����� ���4��!��2��

 ����2��� �� ������#�� �� ��� �4�����&��  �� ��� ���$%�� 4��#��2����� � �������� �E�

��� �������2����� ��� %�$���� ���$� ���� ��� $������&�� ��� ��� >��� $�� ���������� ���

��%�������&�� ?E� ������ �� ��� ������� $�� �74��������� ��� ��� �����2������  �� $���������$�

4����� �$E� $���������� ���� 4�$�!��� ���������#�� ������ ��$� 4��#��2����� ������� �$� ?�

4�� ����� �$/����$������&�� ��������������#��2B$�� ���� �����$��24����$�$�������� ��

 ����2����� 4��$��� >��� �����  �4�� ��  �� 2M���4��$� �������$� ������ �������$� >��� $��B�

����$�����4�����������������&�� �����2�7�2�����&�� ����%���$�4��B2����$/�

��������$�� ������ ���$�&����������� �2!��E��� �4�� �����2����� �����$������&��>���

�����2����� ������E� �7�$���B� ���� �$�����%���  �2������� >��� 4�� ����B� 2�?���$�

%�������$�C��2�����$�4(� � �$D�>�������>���������/�����$�����$�E��� �$���$�$���������$�

����������2�$2��4��!�!��� � � ������������/�����!$�����E�������4�B���������)�?�����

�$�����%��� �2�������4���� ��$� $���������$�4��$���>��� ��� ��2�� �� ���$�&��$�� ���#����

��!�� ���� �����2���&�� 4������/� 
������2����E� ��$� 2�?���$� !��������$� $�� 4�� �����

���� ����$����$%�$�$���2B$�����$�?���$�4(� � �$�2B$�4��!�!��$/�
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���2��2����E� �� �� $������&�� 4� �B� 4�� ����$�� ���� ����  ����2��� �� 4��!�!��� � �

��?�� �$��2���&��  �!��B� �������$��  �� ��� 2������ 2B$� ������ 4�$�!��E� $�� !���� �$��$�

�$��2������$�$��� ��1����$� ���!�����/�

��� �� �$� ��$� ���$%�$� ������� ���2�$2�� �24��������/���� ������ �� �$� ��$� �������$� >���

4��2����1��� ������������� ��� ���$%�E�  �$�  �� ����$E� ��� �24����� ?� ��� 4��!�!��� � �  ��

����������E� $��� ��$� >��� �������2�?��� �24���������4���� ��� %�$���/���!� �� �� ����E� ���

%�$��&��  �� ���$%�$�  �!�� ��2������ ���� ��� $������&�� ������#��  �� �� �$� ��$� ���$%�$�

� �������� �$� ��� ��� 2�4�� !� �2��$������  �� �24����$� ?� 4��!�!��� � �$/� ��!��� �$���

2�4��$��4�� ��� ��2��� ���$����$� ������#�$� �� ��$� ���$%�$� ��� ��$�>���$�� �!��4��$����

2�?���������&�/�

����7�$������� ��������$%����������4��!�!��� � �2�?�!�"��4�� �� �$4������$����4�$���

 ��>���$���24�����$���2�?�����/��������$���$�$E����4��!�!��� � �2�?������4�� ��#��$��

��24��$� ��4��>�������������$���2�?�4�>��J�/�����24���������������#�� �4�� �� ��

������$� �����&��$�2���B���� ���2!�$��������$/�

��!� ����>���$��%���������$� � � �����$���������$����$%�$E�$����2������4������$���������

��$�$������$E��%��4�� ����$�>�����24���1���2���� �$E��$�����%��$E����/E���$������$�$��

#�1��� ���������� �$� 4��� �������$�  �� ���$%�� ��2���$/� ��� �!"���#�� ���� �������  ��

�4��2�����$�� ����2�����&��?��$�� ��/�

�

��� ���	��
���
�����
��������������
�

��$����$%�$�����������$����� �$�������4��2���2�2�������2�����$%�$���$��2B����$�?�

���$%�$������$��2B����$/��

����$�'�������+��
�),
�����$����$� �����&���2����$�2B$���2���$�?���������!��$E�?���

��$�'�������-��+��
�),
����� ��2�� ��$�2B$� �$4��B ���$� ?� ����2����� �������� $�!���

����$/�

6��� #��� ���$����� �$� ��$� ���$%�$E� $�� �����!��  �� !�$���� �&�2���$� 4���� %�$������� $��

��2!�����&�� ������ ���2�����������/���$������$��$�4��$�����>��� ���2�"������2�� ��

�4��2����� ��� .��
�
�� ��� '������� 4�$�!�� 4��� ���������� ��� 2B7�2�� ��$� '�������
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+��
�),
����E�?��>��������$�����4�� �����$%�$��������� �$������#��� ��$�%��� � � �����

��#��$�&�� ���� !�$������ ���#� �/� ��� �!$�����E� ��� )��)��  �� >��� ��$�-�� +��
�),
�����

>�� �$��������� ���������E�2�����1��$�!��� ��$� ��#��$���$����� ������� �2!���>������

2��)�$� ���$����$� ���� ��$��#�!��E� )����� ��2�?�  ��1���� ��� ��2��  ��  ���$����$� �� ���

)���� �����2�����%��� �$���#��$����$/�6���%������#��$�&��$�2��� ����������� �2!��$�

��$��#�!��$�$�!���$���������E����!�!��$��� �������$����>���������2�?��1�� ����$���$�$�

���2���!��������� �$#����&�� �����2�$2��)���������$�2���� �$�2B$��$��!��$/��

���4��2�����B������>���$��4�$�����2���)��4�����2����%��������24����� ����$����$%�$�

���$�$��2B����$�������� �#��$�������&�E�?��>������������������$%���������$����4��2� ���

 ����������� � � �����$%�$������������� �$/�

�
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���#�������&�� ������$%��?�$��%�$��&�E�������4����$����)������� ����2�� �� ���$����$E��

�$��������$��&��������#�2��������#�/�

������2����E���$�2���� �$� ��������$�C�� ����$���2����$� ���#� �$D�2B$�����#����$�

������2�� ��$��� ��$� ���)���%��?����#�����<���!���� �� �� �$� ��$�B���$E�2������$�

4��2�$�C��))���
���DE�!���$E���$�$� �������($E�1� ���$�!��$B����$E� �#�$�$�?��������$/�

���.::0E�*/�'/�	��%���4��4�����'���)�
	��������2�����2� ����4������������������$�

���$%�$�2� ��������������4��� ���/���	����'�������C/������
�'���DE���������$�� ������

��2�����4(� � ��2B7�2�����>���$��4�� �������������������������� ����#��$����$�������

)��������� ��24�����  ����� �� ?�  � �� ��� ��#���  �� ����������  ����2��� �/� ���

�24��������� ���$��������4����$�����>�����%���$����� � �$� ����( ���E��24��� �$�������

��2��(� ����$�����$�!���$�4��#�$�&��!�������E��������������2� ���$��������$� ���� ��

���� � E���B�� �!��$������#���2��� �������$�$�4��4��$���������&�� ���#�����������$%��

 ��$�$��������$/��

��4������ ����� (�� �� ����$���#�����$��#�#��������2�� ������2��)��2B$����$%�E�?��

>����������4����$�� ��%��!�������&��#�#� �E� ��$��24����$�4�� ��� �$�4������4�1$�$��

�74�� ��������$��� ���2�� ��4�����������������&�� ����$������21�$/���2���"�24��$�

 �� ��$� ������$�  �� ��� %��!�������&�� �$�B�E� ���  �#������&��  ��� 4�$��2�"������ C.::5E�

�"���
��0�1�����2�� ��� ���$�$� �$�B����� C.::-E��"���
���	��
��DE� ��� ���$�$� ��$�� C.::@E�

 �� �� $��  �$4��2�� ��� ��!��� ?� $�� 2��������� $�!��� $��  �� �� 4M!����E�  �� �� ��2��

��$���� ������%����������� �2!����� ��$�2���� �$DE� ��� �#������&�� ��� �����!��$���J��

C.:::E�K"���
��+�)*��DE������1 �� ���1� ������$ �<�C+,,,E������!�3��������*�	*�4��


�����
�����DE� ��� �$���������&������&2���� ���$�� �$�6�� �$�C+,,.DE���� ����2!��

 �� ��� �����21�� ��%������� C+,,+E� �"���
�� 0�����D� �� ��� 2B$� ��������� !��!�"��

��2�!������������������$�$�!������!��$���2�������E���%��$��?��$4�J����������4��2�#����

 ���+,,-/�

������ ���$��E�$���4������>�����$�2���� �$�����������$�$��)���#��� ����������� ����

���� ���������� ������� �2!���  �� 4�����$/� �$��� ������� �2!��� $�� ���������� ���� ���$�
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4�����$�����������$�!B$���$���2������$�����$���4�$� ����2!��E���$���$�$� �������($�?�

��$�2������$�4��2�$/�

��2� �� �$� �� ��$���#����� �4������5��'�������� ����6��E� ��%���>��� ����$�"���� ��$�

��#��$���$� $�!��� ���$� �������$� >��� $��� ��� �2������$� ��� ����>����� ��#��$�&�E�

����	��������
��� �������*������� �� ��	���
�/� ���)�� ��%��� ����$�"�� ��� ��#��$��� >��E�

� �2B$�  ��  �#��$������E� �$� ��� �2������ >��� ��$� ��� �$� ��#���� �$� $���� ��� �$�

 �$4���!��$� C��� �$� >��� ��� $�� ����$����� ����4����� �� ������ 4����� 4���� �$�$�

���������#�$DE�������24��>���$�� �!������ ���������%��4�����$�������#��$�&�������>�����/�

��� ���$� �����&��  ��� ���24�� ��$�����  �� �$4������ ����#�����/� ��$� ����$� � �$�  ��

��>�� ��E� $�� �7�$���� ��$���������$� �� ���  �$4���!��� � � ��2� ����E� ?�� $��� ��� ���2��  ��

����� � �$��� ��4�����$E���24�����������$%��4���������#��$��� ��������>����������$�� �����

�4�����&�� ��� ������$������$� � #��$�$�  ��� 2���� �E� 4� �(� �$�� ���������� ���� ����

4(� � �� �� ���� ���� �����!��� � � !�"�� ��� ������&�� ���� ��$� �74������#�$� ���� �$� ��� ���

2�2����� �������#��$�&�E�����������%�� ���4��1� �� �����2�$2�/�CG�����BE�*/�+,,,D/�

������� ��$� ���$%�$� �7�%�� ��24��� ����$E� �$�  ����E� $�!��� 2� ����$� ?� #��������$P�

�$��!������ �12���$�  �� ���$%�� ���4��!��� ?� >�(� ��4��  �� ���$%�$�  �!��� $��� �#��� �$P�

%�$��������$E� ����� ����� ����2!��$E� $�� ����������$����E� ��� ��$�4����$����%�����$� ��

%�$��&�E�?������������$�2� ������4���� �2�����$�4��#��2������$��!���� �$/��

��$�%�$����$���������� ������>���2���"��������2���&�E��������%�� ��?����!��� ��$�!���
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C�&2�� �#���������B� ��� ���$%�� �$�� 1$����2�����4�� ���!��DE� $���� ������� �2!��$� ���

��� )��������� $�!��� ��� >��� $�� 4�$���� �$��$�$� ����������$� ?�  �� ��4�� ��� �4�������

���$%�$����4��#�$��$E�������� �������$����$�2� ���$� ��%�$��&��4���$��!���� �$/�
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�������$� 4��!�!��$� ?� �� $�%���� ��� � �$�2����� ��%���$� $������$� 4���� �"�$���� ��$�

�74������#�$�>��� �$4�����������$������ � �$� ��$��4�� ����#� � �?�!��������$/�

��� � ���  �� ��$� �$�������$� 4������� >��� $�� ��� ��� 4�$� �� ��� #������� � � �$� ��� #�����
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��24����� �������#��$�&�E�����$� � � ��4����!��������������������4����� ����� ������$�

��2��������$� ����>�� ��/��
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$�%M���������E�����4�����&�� �����#�������2���&���$����M��������2�����>���2��#�����

2���� �/� ��$� �%����$� ��2��� 4�$������$� >��� $�� #��� �"�$��� �� )�$��� ���%��� �� ���

�>����!���E� ?� $���$�#�$� ����
��  �� ���#�� �����2���&�� #��� �����B� ���/� �$���

�����2���&���$�$�4��$��2�������24���� ��4����� �$���$��%����$� ���2���� �/�C����E�
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�24��$�$�?�2���� �$�4����������4��������2���&�E�?����>����������� �!��1�������������

����>����!���� ���2���� ��C������4����� � �DE�$1�4�� ��4��4����������4������ � �$����

���%�$��&�/�

'��� ����� 4����E� ��$� �24��$�$�  �$��������� ���� �����$�� ����#� � � ���$2����� ��

�����2���&�����2���� ��4����%��������74������#�$�>�����$�$������#���!��$/��

'����� ������E����$�� �!����2�������4�$���&��$����������������������$%�E�$����>���)�?�

>��� �� ������� �� !�$��  �� ������ )����2�����$� M����$� 4���� ����� ����� ���� $�$��2B����E�
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'���� A���4�� ����E� ���� �B�����  �� ��� �$������ �(������ ��4������  �� ��%������$�

�� �$������$�  �� ��� 6��#��$� � � '����(������  ��	� �� E� ���.��
�
�� ���� '������ �$� ���

4����$�� ����2�� �� ���$����$��������2!������ ��������� �2!���$�!�����������&��>���

#����$��� ���?�$�!�����$����$��������$�>����7�$���B��$���$�������&��������/�

���%�$��&�� �����$%�$�$�������E����4��2�����%��E� ��$�������������>������$%�$�$��4�� ��
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�$�B������%�� �$�?�$�������� �4�� �����$/��

������A�%����.E�$��2��$�������4����$��%������� �����%�$��&�� �����$%�E���������4�� ��

$����4����!��������4��%��2�E�����4��1����E����� ����#� � E����4�$� �����4����$�E����/�

�����B� �$�� �� ���������2����������� ����$�/��$� ����E�����4������&�� ���4����$�� ��

%�$��&�� �����$%�� �4�� ��B� ��������7���������>����$���$���������/�

�����2!��%�E����4����$�� ��%�$��&�� �����$%�$��4���� ��������>���������#� � ����$���
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����$�������������������������&���7����2�������B��$�$����$�$����$%�$�?E��&2��?�4���

>�(� 4�� ��� $��%��E� 2B$� �M�E� ��$� ���$%�$� ��� � �������� �$� 4�� ��� $�%�������� ����

�2������4���������#��$�&�/�'����4� ���� ������������$����$%�$��$�����$��������������

� ������2���#�����������

� �� ��$� ���� � �$� �� �%����$� ����&2���$� ��#������ �$� C�24��$�$E�

�����$E����#����$�'M!����$E����/D�

� ��$� 4����$�$� ��#������ �$E� $�$� ��������1$����$� ?� 4�����4���$�

����#� � �$/�

� ��$� ��$4��$�!��� � �$�  �� ��$� �%����$� ����&2���$� ��#������ �$E� ���

$���������?�������2�� ������������$������������$/�

� ��$�  ���2����$� >��� �����#������ ��� ��$� �4��������$E� ��� �����&�� >���

��24���E�>��(��$���$��2�����?�>��(��$���$�����!��/�

� ��$����24�$��$���� �$�����$�����#� � �$������$�4����$�$���#������ �$/�

� ���4������4���&�� ����$� �$�����$��%����$�����&2���$�>��������#������

��������#�$��%���&�/�

� ��� %������E� ����>����� ����� �$�� ��� >��� $��  ����2���� ����$����� 4����

4���������� ��$� �����$� ���� ��������� ?�  ������� ���� (7���� ��$�

4���� �2�����$���$�%���/�

7� 9�,������ ��� 	������8� 6��� #��� � �������� �$� ��$� ���$%�$E� $��  �!�� ��������� ���

4�$�!��� � �?� ��$����$��������$� �� �� �� ������� �� ���$%��������� ���� ���$��!������ ���

��#��� �����$%�$E� �����2��>���$��4�� ����������>����������$� �����$%�� ��� �1������

2�?��� ������� ?E�4��� ��� ������ ����$����1��� $��� � 2���$��� �$� �� ����� �$/� ��� ��#���  ��

���$%��$�� ����2�������$� ���� �����4�$�!��� � �>����7�$��� ����$���$�$�$��� ���?���$�

4�$�!��$����$��������$�>����7�$���B��$���$���)��)���������C����24����������2�%���� �
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�����B��$�$����������#����2!�(��$��4�� ��������������� �������#��� �����$%�����"�$�������

������24��?���$������$�$�����$����$�4����)����������B��$�$���24����� �� ����$� ���$�

��2(����$�$������ ���� �$�4���������B��$�$�2B$�����������#����4���� �$�������������

�!$��#���&��%��������������� ����$����$%�$�4���������B��$�$�4�$�������?�2B$� ������ �/�

6�� ����>��� $�2�����������#�� 4�� �� ��������� ���$����������$�  �� 4���!��$� ��2�� ����E�

2� �����!�"�E��� �$���4�����$�2B$� ������ �$� �� ���4��!�!��� � �?� ������$��������/�
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�� ������ ����$����$%�$�?�����24�����$�!�����$���$��$�?���$�!��������$E�?���$�4�$�!��$�

�4������ � �$�>���$��4�� ���4��$�����/��



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�++�9�

6��� #��� �#���� �$� ?� 4������� �$� ��$� ���$%�$E� $�� ���$�������  �� ����� �� ���� ��$�

4����� � �$� ��%�$��&��4����$�������2�����/�

7��0	�
�)���
���������	������/���������2������ ����$����$%�$�����$����$���� ���� ��?�

�4��4�� �� ������� ���������$�%����������� ������$%�/�

��2��4�����%���������$���#���$� �����$%��$��4�� ��� �#� �������

� ���$%�$�  �� !�"�� ��#��E� �$�  ����E� >��� 4�� ��� $��� ���4�� �$� ?� 4�� �� ��� $���

����$�������������&��� �������/��$��$� �!���$������$����$%�$��������� �$/�

� ���$%�$�$�%��������#�$E�>���$������$%�$�2B$��24�������$�4������>��� �!���$���

����� �$/�

� ���$%�$� ���������#��E���$������$���>������� ��������� � �$��� 2���$�����&����

%�$��&��?� �����4��4�����&�� �����4�������2���4����� 2���$�������$����$%�$/�

�7�$����#����$��4�����$�4������������2������ ����$����$%�$��

� ��� ���������$%�/�G�?�>��� �$������>��������� ���������$%��4�� ����$������>���

����$����$%�$�$��#���#���2B$�$�%��������#�$/�

� �� ����� ��� ��#���  �� ���$%�E� �� ����� �� ��� 4��!�!��� � �  �� ����������E� ��$�

���$��������$E����2!�$������#��/����4��!�!��� � �4�� ���� ����$�������#($� ��

��$� ��������$�  �� %�$��&�� ����$� ��2�� ��������� 4���� �2�����$� ���������#�$E�

�$�%���2������ ��������� � ������� �������#��$�&����2�� �����%�$��&�E���$���E�

��2����� �������4�������&�E���2����� �����$�4��#�$�&�E����/�

� ����$������ ��� ���$%�E� �$�  ����E� 4�$��� ��� ��$4��$�!��� � �  �� ��� ���$%��  �� ����

��%�������&�� �� ����/� 6�� �"�24��� $�%��������#�� �$� ����$������ ��� ���$%�� �� ����

��24�J1�� ��$�%���$�C����$����$���� �������E��#� ����2����DE� �������� ��� �B�

>������ ��������$�� ��>�������#�����������/��$�����$��$��1�� �� ����$���������

��24����/��7�$��� ���4�$�!��� � � �� ����$������ ��� ��$4��$�!��� � � ����� ���$%��

4������2����E� ��2�� 4� �1�� $��� ���  �� ��#�������� �� ��� ����� 4����� 4���� >���

��24�������$���$4��$�!��� � �$�?����$��������$� ���������2������ � �/�G�?�

>��� ������ $��24��� ��� �������>��� ��$� ���$%�$� �!��� $����!��� �$� ��� ���4�����

>����"���������$���������$�2B$�������#�$�$�!����$��$����$%�$/�
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� ���4����?�����������$����$%�$����� ���$��$����4�� ���$������ � �$E��� ��� �$�

������$���� �$E��� �� �������$��� ����� ���������$���������$��"�$�������4��>������

4��!�!��� � �?�������$���������$���!�"�$/�

�����$��� ���2���"�� ������$%�� �!��$�����24��� ��������$�!��������$��!���� �$/��$�

����$�����  ����2����� ��� �24�����  ��� ��$��� ������  �� ��$� ���$%�$� ?� ��� ��$���  ��

� 2���$������$�?�2���"����$/�

��$� �4�����$�  �!��� $��� �#���� �$� $�!��� ��� !�$��  �� >��� ��$� ���$%�$� 4�� ��� $���

�� ��� �$�?�����7���$�&�� ����$�!��������$���2���� �$E���!����$��4�� ������������#�$�

�4������ � �$/�
������2����� �������2�?��� $��� ��� �4������ � E�2�?��� �$� ��� ���$%��

�$���� �/�����!$������ �7�$����2��)�$��"�24��$� �� �������4��&�� �� �� ����&�� ��

���$%������$�"�$������!��� $���2�������� �(�2���$�����&2���$/�G�?�#���$����>���)�?�

>���������������������$���$��$�$������$E�4��1����$E����/��

������������&��$��2��$���������!���3/�������2�����&�� ��������2������ ������$%��E�����

���������&���7�$��������������������2������ ������$%�E������#��� �����$%��?��4������ � �

������ �$�4������2�$2�/�
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�8� ���2�����������&�� ?� ��#�$�&�� �$� ���� ���4�� �$������� ��

����%������� ���4����$�� ��%�$��&�� ��� ���$%�/��$�����$�����2���������� ��� ������#� � �

 ���4���E���$��$�����%��$�?����$�$��2�� ��� 2���$�����&��>���)��$� ���$��!���� ��4����
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��$� ���$%�$� ����$����� $��� �������� �$� 4���& ���2����� 4���� %���������� >��� ��$�

������$������$���2!�����$��������������$�4����� � �$� ����$����$%�$E���$����$%�$�>���

4��2��������$�B����$�$���2�?�4���$/�

'����>���������$%��$���%�$�����!���?E�4��������E�$�$��4��!��� �����$� ����$�� ������ ��

��$�4����$�$� ��%�$��&�����������%�������&�E��$�����$���������7�$�������$�2���B���� ��

��$�$�%������$���24������$��

� (:	������ ���������� ���� ��� 	������ ����
�������/���� �������� �� ��� �7�$�������  ��

������$���%���#�$���$�������$� ��>���������$%��$����������� ���������� �$��������

 �� ��� �������&�� �����24�� �/�
������2����� �$��$�4(� � �$� $��4�� ��� )�����

�����$4�� �����������#�������&������&2���E����>���)�?���$�$������$�>����$��

��� $�� 4�� ���� �$1E� ��2�� �$� ��� ��$��  �� 4(� � �$�  �� #� �$� )�2���$� ��  ��

 �$�$���$�2� ���2!�������$/����>���$��24���$���4�$�!�������2�����������&��

 �����4(� � �/�

� ����	
���)*	����������/��$� ���4��!�!��� � E�4������� ����� �2!��E�  ��>��� ���

���$%��� �������� ���������������#�2�����?����2�2�������24�����������>����$��

4�� �� $��� ��/�G�?� >��� ������ ��� ������� >��� �$��� ��� ���&�� �24����� >��� ���

���$%�� �!��4� ����$���B�$�������� �$���!���&���$�� 1$�����?������4��!�!��� � �

 ���������������������%�� ������24�/�

� "�����
����
	����
�	��
����/�'�$�!��$�����������$�>���2���%������$�������$� ���

��������2�������� �$��!��/��������7�$���������&��4���4����� ���%�$��������7�$���

���$%�E����>���$1�4�� ����7�$����4(� � �$/��$��$����������#�$�4��2��������%�$����

�������4������ �����$���4�����&�E���$�4(� � �$����$���� �$����2!�$/�

�

��� (�����
���� ��
�
���

�������� ����&�� ��������4��� �����$%����������B��$�$� ����$���#��$����$�$��!�$��������

)�4&��$�$� ���������� � ��$4��� �/�

��� 0��	��� ��� ��� ;
������� "���	���� C0;"D� ���� ������� �� 4��� 8��� ���2���E� */� ?�

	��%��$����E�
/� ��� .:00/���%M�� �2!�$� ������$E� $�� $��4��%����� �� ��� ��� � ���� $��
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4�������� ���� �����  �� �(� $�%���E� �� ��2�� ���������#�� ���� �����  �� ���(� ���� �������

4��!�!��� � �N/���E�4��� �"�24��E� ��� �� �#� ��� $��2�$���!�� �� ��������� ������ �2!�$�

���������#�$����� �����4��!�!��� � � ����2������(����� ��NS5,TE��������� � � ������(�

����  �!��� >��� ���  ��� �(/� 	� ������ �$�� 2(�� �� ��24�����#�� $�� 4� 1�� ��������� ����

�����&��  �� ����� � � 4���� �� �� $�"���E� >��� ����!�?���� #����� ��2(����� ���  �$������

���$�%�� ������$���$�#�$������ � �$� ���� ��!���/�������� ���$�������&�� ������� � E�

4���� �$��%��� ������ ���������#�$E� ��� $�"���� ��24����1�� ��� ����� � � �$4��� ��  �� �� ��

���������#�E��$� ����E�2����4�����1���������� � � ���� �����������#��4���$��4��!�!��� � E�

?����%��1���>������>��������#�����2B$�����/�

H�)��2��E��/�C'��2�����!��� �������21�E�+,,+D����2��&��������#������1��$�!������

 ���$�&��)�2���E������� ����2�����(	�����
�0!��	����0��	���������(�	����
���E�>���

)�� � �����%��� ���������#�� ��2�� �����B��$�$� ����������E� ��� ��24����2������ �� ��$�

A������$�C$�!����	���<������D/��

���$��������>����

7�"���$4������/�

7�;��6���� � ��$4��� �/�

7�#�����3��8����� �������#��$�&��������#������������/�

9� 3�# UEUEU ����$���� ���$4��� �� �������#��$�&��������#������������/�

7�#���8����� ��#��������$�� �����$��� ����S�.E�+E////E$�

7�����'��!�!��� � � ��>�������$�� ����$��4�� �������4��$����/�

��$� �%����$� ��2���  ���$����$�  �� ���$�2�� �� ��#��$�&�� >��� !�$���� 2�7�2����� $��

����� � ��$4��� �/��$1E�!�"����� ������$� ��������� �2!��E������4��&��������#��$�&��

$��B��>���������>����

�

( )[ ] ( )[ ]�;"#;" UU ≥ � C3/.D�
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��� ���������� � ��$4��� ��$�� ��������2������$4�������2���2B����� ����������&�� ��

����� � � �����#��$��E����>�������(�2���$� �$�����$�$��4�� ���74��$����������$�2�������

 �� ��$�  �$�����$� ��#���$�  �� ����� � � %����� �$� 4��� ��$� ��$���� �$� 4�$�!��$�  �� ��$�

��#��$����$E�4������4��!�!��� � � ��>����$�$���$���� �$�$��4��$�������

�

( )[ ]#;" U S ( )�
=

.
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�
�� �#; � C3/+D�

�

����(�2���$���������$�$��1���

�

( )[ ] ( ) ( )�##�#;#;" �
∞

∞−

=U � C3/3D�

�

���� ���=#2���������&�� �� ��$� � � ��������������#��#/�

��$� �$�����$�#����!��$� �� ��#��$�&��>�� ����$1� ����� �$���2��#����!��$� ���������$/�

��������$�� ����$�����#�$E��� ������#�� ����%�����������"�� ��4�%�$E� �� �#� �� �$�?� ��

#�����$� �����������&�E�$�%M�����4����$��>�������$�4��4��/��$�����"���$� ���2����� ��

4��� ���� #����!��� ���������� #U 4������������� ��� ���"����� +�  �� $���$�$� ���������$�

 ����� �� ��� ��� ��24��  �� ��$� �M2���$� �����$E� '+# →�U E�  �� 2������ >��� ���

$�!���"�����  �� $���$�$� <� ��������� �� �$� ��$� ��������2�����$� �����$4�� �����$� ��

�� ������ �� ��$� ����#�$/��$1���� �$4����� =+��<2� >���4��4������������ �$���!���&�� ��

4��!�!��� � � 4�� �� ���$� ����$�� ��2�� ��� ��$�2���  �� ��� ������� �2!���

�����$4�� ������������"�� ��4�%�$� ����$�����#�$�����������$/�
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�����$�2� ���$�2B$�$�24��$E� �����B������$�B����E�$��$�4��������7�$������� �����M�����

4��1� �� ��24����E�  ���2��� �� 4��� ��� 2�2����� ��24����� 
>E� >��� �����$4�� �� ���

2�2����� 4��$����E� ?� ��� 2�2����� 
?E� >��� �����$4�� �� ��� ������� ��������/� ��� ���

2�2�����
>E��������#�������������#�$����%��������4������#>E�������2�2�����
?E����$���$��

+�∈ �$���������E�?����#����� ��#�$��������������#=�2/��

'��� ��� ���������E� ��� #����� �$4��� ��  �� ���  ����2��� �� ����#�� ����������� $�� �74��$��

��2�� ��� �$4�������2���2B�����  �� ���  �$���!���&��  ��4��!�!��� � � >���  ������  ��)��

4����$�����������/�����(�2���$� �$�����$��

�

( ) �
=

=
.

,

U




�
�� �##" � C3/0D�

�

��� ��#�������$4�� �����#����� �� #U ������ ������ ����$����$�� �$�4�$�!��$�?�����$����

4��!�!��� � � ��>��� ��)���$�� ��$��4��$����/����$�2�����$��(�2���$�$���74��$���4����

 �$���!������$� ��4��!�!��� � ���������$��

�

( ) ( )�
∞

∞−

= �###�#" U � C3/5D�

�

��� ���=#2��$���������&�� �� ��$� � � �����#����!������������� /U# �

5��0��	���������;
�������"���	����$�����2��&����$������2�������� ����������� � E�

$������2!�(����2���74��$�&��������!��� �����24����2������ ����$�4��$���$/�

��$��74���2����$� �������$E�	/�C.:53D�2�$��������"�24��$�>���������2�!���>������

������&���������������#������&�� ��4��!�!��� � � ���.T��$�2�?� �$������$��$��4�$�� ���

::����.,,T�C�������#($E� ���.����,TDE�>���$��$��4�$�� ���+,����+.T/�
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�$1� 2�$2�E� ���� �� $�� ������ >��� ���%��� ������  �#��$�$� ���������#�$E� $�� ��)�?��

��$�����#�2����� ���>�����$����>�����$�4��!�!��� � �$�����$�B�������$E��7�$���� ������

���������&�� 4��� �>�����$� >��� �$�B�� !����  ����� �$� C���!��%E� �/� .:;.D/� ��� ����E� ���

$��4��� ����� ����������� >��� �7�$��� ������ ��$� ��#��$���$� �� ��#������ ��� ����#�$�

�7����"���$����������#�$� ��������#����!��/���

�

��� ��)�
	
�����*
��+��	
��,&
������������

��2��$��)����2���� ����������2����E����)�4&��$�$� ������� � ��$4��� ���$��!�����>���

����� �$����������#�$� ����#��$�&��!�"��������� �2!�����$���#��$���$�����4���B��4������

 ��2�?���#������$4��� �E�$����4������>���%������2�?�������� � ��$4��� �/�'����>���

�$���)�4&��$�$�4�� ��$��� �2�$��� ���$�4����$���������������$����� ��$�4��$��$�$�!���

��� ��������� � � ?� ���$�$�������  ��� ��24����2������  ��� ��#��$��E� ������ �$� ���� ���

��2!���  ����#��)��� ��� ��� �
������� ��	������ *�4�� ����	
���)*	��E� ���2��� �$�4����

8������2���E�*/�?�	��%��$����E�
/�4������>�����2!�(��$�� ���2�����9#��)������

/���-��)���7��	����
�	�/�������������&��$�� ��������� ������ ������$/�

6868? 9#��)�������)��	�*������8��

��$� ��#��$���$� $��24��� 4� �B�� �$��!������ ���� ������&��  �� 4����������� ������  �$�

���������#�$������$>������ ����#��$�&��������$���� ����������E� ��2������>���4�� ���

 ��� ��� >��� ��� ���������#�� #U � �$� 4������ �� �� �� �U E� ( )�# UU > P� �� >��� ��� #U �$� 2���$�

4������ ��>������ �U E� ( )�# UU < P������>����$��� ��������������� #U ��� �U E� ( )�# UU ≈ /�

6868� 9#��)�����0	����
���������������
�����8��

��� ������&��  �� 4����������� >��� �$��!������ ��$� ��#��$���$� ������  �$� ���������#�$�

�����$>������ �$� ���� ������&�� ����$���#�E� �$�  ����E� ��$�  ���$����$�  �� ��#��$�&��  �� ��$�

�� �#� ��$�$������$�$�����$E� ��2������>���$����� ��#��$��� ��� ��>�������4��&�� #U �$�

4������ �� �� ��� �4��&� �U-� ?� >��E� �� $�� #��E� ��� �4��&�� �U �$� 4������ �� �� ��� �4��&� 3U E�

�������$E�!�"������>�����������$������E�����4��&�� #U ��$�4������ ��������4��&� 3U ��

�
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3#3��# UUUUUU >>> �∴ � C3/;D�

�

��� ��� 2�$2�� 2�����E� $�� ��� ��#��$��� $�� $������ �� ��������� ������ ��� �4��&�� #U � ?� ���

�4��&� �U E�?���2!�(��$�������������� �����������������$��4�����$� �U �?�� 3U-�$����24���B�

>���$��BE��$�2�$2���� ��������������� #U �?� 3U ��

�

3#3��# UUUUUU ≈�≈∴≈ � C3/-D�

�

68686 9#��)��������
�
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�����������������8��

���$��������>����

9α ����#��� ��4��!�!��� � /�

��� ������&��  �� 4����������� >��� $�� �$��!����� ������  �$� ���������#�$� �����$>������ $��

2�������� ���>���  ��)�$� ���������#�$� 4�$��� �� ���2��� 4�����  �� ��� ���"�����  ��

���������#�$E� �$� ����E� ��������2!�����&�� ������� ����%���� ���$�$����������#�$�����

���������������������#���

�

+3�# ∈UEUEU α ( ).E,∈ �

( ) ( )3�3#�# U.UU.UUU αααα −+−+� >> �

( ) ( )3�3#�# U.UU.UUU αααα −+≈−+�≈ �

C3/@D�

�

�$��� �7��2�� 4��$�4���� ��� �� �4�� ������  �� ��$�  �$���!������$� ���������$�  �� ��$�

 �$�����$� ��#��$����$E��$� ����E�>��������#��� ������� � �C$���$�����&�D�%����� ��������
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��#��$�����2�����$��������� �����$���� ��������� ��4������� ����2��� ����#��$�&��

���  �4�� ��  �� ����� )�!�1�� $� �� $�� $�� )�!��$�� 4��$���� �� ����>����� ����� $���$��

4�$�!��/��$���4������2�������$� ��1���� ��2������������ ��$����������������������2� ��9

#��������4���� ��� 2�7�2�����&��  �� ��� ����� � � �$4��� �E� ?�� >��� ��� ���$%��  �� #����$�

��#��$����$E� 2� � �� 4��� $�� #�������E� ���  �4�� �� �7���$�#�2�����  ��� ���$%��

�� �#� ����  �� ��$� ��#��$����$� >��� ��� ��24����E� $���� >��� ��2!�(��  �4�� ���  �� ��$�

��#�������$� ����$� �$�����$� �$���!������$� ����� �2�����$� ����$���#��$����$E�4������

>�����$���2!��������$��������$� ����$���#��$����$�2� �������$�$�������2���������� ���

 �� ��$� 4����������$�  �� ��$� ����#�$� �� �#� ����$� ��� ��24��$��$�� �� 2����4�����$�� ���

���$%�� ����$���#��$����$��� �#� ����$� ������ ������"����� ����$���#��$����$/�

6868@ 9#��)��������
����������)����	�*������8��

'���� �� � +3�# ∈UEUEU E� $� 3�# UUU >> E� �7�$����  �$� ��#���$�  ��4��!�!��� � � βα E ( ).E,∈ �

����$�>�� ( ) ( )3#�3# U.UUU.U ββαα −+−+ >> /�
� ��)���������$��(�2���$E�$��24����7�$���

�����#��� ��4��!�!��� � �M�����4�������4��$������&�� ������4��&��2B$�4������ �E�>���

)������ ��������������#��$��������������4��&�������2� ���?�������2!�����&������������

 ������4��&��2B$�4������ ������4��!�!��� � �α  ��>���$��4��$����E�?�����4��&��2���$�

4������ �E�����4��!�!��� � � ( )α−. � ��>���$��4��$������

�

EUEUEU +3�# ∈∀ ��$�� ( )3#�A����3�# U.UUI�UUU ααα −+≈∃�>> � C3/:D�

�

�����7��2�� ������������ � ���2��$���!��� � �$�� �$4��� ���������$���������2�?�

�24��������4���������B��$�$� �����24����2������ ��� ��#��$��E�?��>��� ���$���2������

��� )�?� ���������#�$�  �� ��#��$�&�� ����1�$���2����� !����$� ��2���$� >��� �24��>���� $��

������&�� �� ���)���� ����2B����� 4���� ��� ��#��$��E� $���� >��� ����>����� ��#��$�&�� 4���

4���� 4������ �� >��� $��� �� �#� ���2����� ���$� ��� �E� 4�� �� $��� ���%� �� ���

��2!�����&����������$� �� ��������$���#���$� ��4�����������4���������#��$��/�

���  ���2�����&��  �� K2��$���!��� � L� 4���� ��  ��� )��)��  �� >��� ��� ��#���  ��

4��!�!��� � �M�����α ��>���)������24���!���������#��$�&�� ��4����������������2� ���
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���� ���� ��2!�����&��  �� ���2B$�4������ �� ���� ���2���$�4������ �E�4�� �� ��������$��

��2������2� ������ ����� ��$��4�������������1� ���� ������� � ���� ����/�

�

6868� 9#��)������	������
�8��

��� ����� �� ���� ��� �7��2�� ��������E� $��24��� �$� 4�$�!���  ����2����� ��� ��#���  ��

4��!�!��� � � M�����  �� α � >��� )���� �� ��� ��#��$��� �� ��������� ������ ���� �4��&��  ��

4����������� �����2� ��� ?� ���� ��2!�����&�� �������  �� ��$� �4�����$� 2B$� ?� 2���$�

4������ �$/����4���� �$��4�����$������2� ��$E� �U �?��U E�$����"����$��$�4��!�!��� � �$E�α �

?� β ���$4����#�2����E�����2�$�>���$��α ��$�2�?���>��� β ���������$�����4��&�� �U ��$�

4������ ��4��������#��$����������������4��&���U ��

�

+3��# ∈∀ UEUEUEU ∴ ( ).E,E ∈∃ βα �

3�#3�# UUUUUU >>>> ∴ �

( ) ( )3#�3#� U.UUU.UU ββαα −+≈∴−+≈ �

��� �� UU >> �βα �

��� �� UU << ⇐βα �

C3/.,D�

�

��� ��� ��������� �7��2�� 4��2��1�� �!������ ��� 1� ����  �� ����� � � ��� ����E� ��� 4��$�����

�7��2�� ���� �����&��)����4�$�!������$���������$� �$�����$��4�����$� ����#��$�&��4���

$����#��� ��4����������/�����(�2���$�2���2B����$E�����7��2�� ���� �����&��4��2����

���$�� ��������B��$�$� ������������&�� ��4����������� ( )EUU �� > �4���2��������������#�E���

���� ������&��  �� �� ��� ( )E*� > � ?� 4��� �����E� ����������#�E�  �� �� $�� 4�� ��� �$���

��������$�2���2B����$�4������4��$��������$�4����������$� ����$���#��$���$E���������$�

 ������� � ���� �����>���4��2����� ����2�����������"����� ������#�$� ����������$�>���

2�7�2������������� � ��$4��� �� ��� ��#��$��/�����$���2�����E�$��4�� ��� ������������
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�������#����� ����������&�� ������� � �4�����������#�� EU� �?� �����2�$2��2������$��)��1��

����*��

�

( ) ��; =U E� *�; =DUC � C3/..D�

�

( ) ( ) ���;�; UUUU >> ⇔ � C3/.+D�

�

��� �����&��  �� ����� � E� 4��� �����E� ��� �B� >��� %��� ��� ��� 2�$2�� �� ��� >��� ��$�

4����������$�  ��� ��#��$��� $�!��� ��$�  �$�����$� ����#�$� ����������$E� 4��� ��� >��� $��

( ) ( )EUU �;�; > ������$�2����������#��$���4�������B� �U ���U /�

�$�2�$2�E���������4��� ������� � ��$4��� ��4�� ��$���������� ��4����2� ������%�� ��

 ��4����������� ����2!��������$� ������#�$��������$%�/��

��� ���2�2�$� .� �� ���� $������&��  �� ������� �2!���  �� �� $�� 4�� �� �!������ ���

 ����2��� ��#�����#���������4��!�!��� � �V������#���������������4��!�!��� � � ( )E. α− �

�����#��� ������� � �>���%�������$�����2!�����&�����������4�� �� ����2����$���$�� ��

��������4��� ������� � ��$4��� ���

�

[ ]( ) ( ) ( ) ( )�;#;�#.; ααα −+= .�E � C3/.3D�

�

� �2B$�  �� ��$� ���������$� �7��2�$�  �� ��� ����� � � ��� ����� !�"�� ������� �2!��E�4����

���2�������� ���� �2����������24����2������ �����#��$���$��4����$���������������$��

�����&�� ������� � /���� $�4��$��� �����$���� � � �24�����>��� ��$� ��#��$���$� $��24���

4�������B�� ������2B$� ��>����E� �$�  ����E� ��� �7�$��� ���4�����  �� $���� � � ��4������  ���

����E� �����2����$�� ��������$� �� ��>�����$&���%������� �$2��������$� �����#��� ������

 ������� � /�	���2B����2����E����$�4��$��� �����$���� � �$�������"�������������$� ��
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����� � ��$������2��������������$E���?��4��2���� ���#� �E�>��������$4�� ����������4���

��&����� ������� � �2��%����� �������>����E��$�$��24���4�$���#�/�
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��!� ���� ������2�����&�� �����2��1�$�>����������"�!����������0��	������;
�������

"���	���E�����&����0��	���������(�	����
����=0(2� �!� ����H�)��2��E��/�?��#��$<?E�

�/� .:-:E� ������ �� ��� ��� 2�� �� ��%��$�"&�� ��2�� (	�����
� 0!��	�� C�������2����E�

0��	����������9�
�	��
����D/����)�$�������$��!�� ������������#�$2�� ����$� ���$����$/�

5��0��	���������(�	����
����C0(D�����������!�$���241�����?��$4�����������"�����2��$��

��24��������$�4��$���$������������ � E������2�� �!��1��$��������24����2������������

��$�� ��>����$�����������������/�

��$�  ���������$� �$�������$� ���� ��� 0��	��� ��� ;
������� "���	���� $�� !�$��� ��� ���

 �������&�� ����$����������#�$�$�!�����$�>���#��$�����$� ���$����$E����#�������&��>���$��

��$� ��?����4�� �����&��>��E������#�$��� ��$��4��!�!��� � E�$����$�����!�?�/�

'���� ������� ��$� ���������#�$E� ���4��2��� ��%��E� )�?� >��� $�24�������� ��$�4��!��2�$� ��

 ���$�&��>���$��4�������/����$�%�� ����%��E������24����#�����$��!$�����$�C��$�� �����

0;"DE� $���� #���������$� �� ��2!��$� ��$4����� �� ������� ��#��� >��� $�� ��2�� ��2��

����������E� ���%�� ��$� %�������$� ��4(� � �$� $�� #��� ��$4����� ��  ��)�� ��#��/���� �������

��%��E�$�����������������2!�����&���������������������$�� �����������$��������$����� ��

��������2�����$/�'����"�24��E�����%��������$�%�� �� ������4(� � ��2B$�4�>��J�E�$��

4����!��B����2������%��������������E�4���������������E�$��2����� �B��$�4��� �$�?�$��

4����!��B�� ���$������2�/�

'����#������� ��$����������#�$E� ���0��	���������(�	����
��������!�?������ �����������#��

C����� � ����2��%����������4(� � ����$4����������#��� ������������D�����������#����/�

�$��#��������������������&��������2�� ��K�L�C#(�$���A�%����+D�?�$��������������4����

� ��� 2�������  �� %�������$E� ��� #����� 2��%����E� >��� $�� ����!�?�� �� �� �� ���#��

��� � E��$��� ��#���2�����C������#��#��4�� ��� ��4�� �����D/��$�4�������E�4���
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���>��E����2������� ��%�������$E�$�����$���4������!�������%����������������������

2�?���4����)�4��(����/�

� ���2������� ��4(� � �$E�$���24�����2��%������$��� ��#���2����/��$�4�������E�

>��� ��� $����� �24������ �� $������ %��� �$� 4(� � �$� $�� ���� ����� $�� �#���� ����

4(� � ��2�����4����������/��$1�4��$E��� ���������� �����0��	���������;
�������

"���	���E����0��	���������(�	����
����4����$�����>������2������� ��4(� � �$�

$���$�2B$�4��4��$��������$%�/�

� �����$���2� �������$� ������%��� ������ ��� �$E����4�� ������ ��������#�����

������2�� ��4(� � �$�C��� �����������������>���� �D��$�2��)��2�?���>���������

 ����$�%�������$�C��� ������$�4������ ����)�D/��$1�4��$E����K+L��$��$�2(�����E�

?� $�� ���2��  �$��� ����� �$� 2B$� #�������� >��� ��� �$��� ����/� �$�� �$�2���1��

�����"�����$���� �#��$�&�� �� ��$�4(� � �$/���%M��H�)��2��E��/� ?��#��$<?E��/�

$��24���$�����)���������4��$���>�����������%�������4�� ������2�$2������� � �

���� ���� 4��!�!��� � �  ��� 5,TE� 4��$� ��$� 4(� � �$� K �����L� 2B$�  �� ��� >���

K���%���L� ��$� %�������$�  �� �%���� �24����/� 6��� 2�����$����&��  �������  �� ���

�74���� ��������2� ���"���
����
���
��E��$� ����E������ �#� ���4� ��2B$�4���

 �$4��� ��$��  �� ��%�� >��� ?�� ������ C4(� � �DE� >��� ��� >��� �$���1��  �$4��$��� ��

4�%���4���� >�������/�
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������������ ���4�� �����&�� �����������#�$E� ���0��	������ ���(�	����
�������4�� ����

��$����������#�$� ����$�$�4�$�!��� � �$����������#�$E� $��������������$�4�$�$� ���$����$�

>���%��� �������������&������������������$�4��!�!��� � �$/��$� ����E�$���2�?���$�>���

($��$����� ����$�4��!�!��� � �$�$���!�"�$E�4�� ��� ��$��$�!��� � �C4�� �����D������$�

���2�$� ��������$� ��4��!�!��� � � ?� ��� ����4����� �����#��4����4��!�!��� � �$�2�?�

����$E�����1 �$�4��������������������/����A�%����+����$�������������&��>������0��	���������

(�	����
����$�4����������4��!�!��� � �$�?�4�$�$� ���$����$/��

�

5
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��. ����������������%���
���������
�������
/��
�
%�������
�������
�

��� #����� �$4��� �� �� #����� ����������  �� ���� #����!��� ���������E� ��2�� ?�� $�� )��

�$4������� �� ��� ��$� ���������$� C3/0D� ?� C3/5DE� �4���� �� ��� �����4��� �� ��$� ����#�$�

����������$��������2!������ ��������� �2!��E��� �������#�����������>���$�� �!���$4�����

 �������#��#��4����(�2����2� ��E�������2�2���� .
 /�

����#�����&����E���� ���$�&��>�������� �#� ���4�� ����2����������� ���2�� ����#������

����������#������������ #U E����������$���� �����������������>��������$�4���E�������!��� ��

2������������E�$������$%�E�$��#������$4��� � ( )#" U E���$�4��2����B������������ ��������� �

 �����#��$����������������$%�/����2������>���$�������#��$���4�����������#������$4��� ��

 �������#�����������������������4��4�������#�E�$�� ��B�>����$��#��$��������$%�P�$��4������

���������E� 4�������� ��#������ ��� ��� ����#�� ����������� ���� ���$%�� ����$� >��� ����!��� $��

#������$4��� ����#��������������E�$�� ��B�>������ �� �#� ����$�4��4��$��������$%�/�'���

M���2�E� $�� ��� �� �#� ��� $�� $������ �� ��������� ������ ��� 4��4��� ����#�� ����������� �� $��

#������$4��� �E�$�� ��B�>���$�������� ������� �#� �����������������$%�/�

��� ��� �$4�������  ��� #����� �$4��� ��  �� ��� ��#��$�&�� �$� 2�?��� >��� ��� 4��4��� #�����

�$4��� �E������ �#� ����$��#��$��������$%��W ( ) �##" UU > �#��$��������$%�X�

��� ��� �$4������� ��� #����� �$4��� ��  �� ��� ��#��$�&�� �$�2����� >��� ���4��4��� #�����

�$4��� �E������ �#� ����$�4��4��$��������$%��W ( ) �##" UU < '��4��$��������$%�X�

��� ��� �$4������� ��� #����� �$4��� �� �� ��� ��#��$�&�� �$� $�2����� >��� ���4��4���#�����

�$4��� �E������ �#� ����$���������������$%��W ( ) �≈ ##" UU ��������������$%�X�

�4����� �� ��� ������&�� �7�$������ ������ ��$�4����������$�  ��� ��#��$��� ?� $�� �����&��  ��

����� � E� ������� ���������#�$����������7��2�� ���� �����&�E�$��4�� ����� ���������$�

������ �$�  �� ��$� ��#��$���$� ������� ��� ���$%�/��$1E� $��4� �B�  ����� >��� ��� ��#��$��� �$�

�#��$��������$%��$�����#����� ����������&�� ������� � �4���������#��� �� ��>������������

�%�������#������$4��� �� �������#�� ����������E� �$�2�?���>��� �������� � ��$4��� �� ���

4��4�������#������������/�
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��� $���� �� ��#��$�� �� ��� �74��$��E� $�� ��� ����� � �  ��� #����� �$4��� ��  ��� ����#��

����������� �$�2����� >��� ��� ����� � � �$4��� ��  ��  ��)�� ����#�E� $�� �$���B� ������� �� ���

��#��$���4��4��$��������$%�/�

'���M���2�E�����%��� � � ���2!�$�#�����$�$�4�� �B������������ � � �����#��$�����������

���$%���

� ���4������� DUC#" ���������� �#U �#��$��������$%�/�

� ���4�������� #U �������� �DUC#" '��4��$��������$%�/�

� �������$��� ��������� DUC#" ���������� �DUC# ��������������$%�/�

'����$�24�������E�$�4��%�2�$�>����������#������������� #U �4�� �������������������� ���

4��1� �����$� ��� �E� �$�#�����$� �$�����$E������������#��� ��4��!�!��� � � �α E���*�

���� ���� 4��!�!��� � � ( )/. α− � ��� #����� �$4��� ��  �� #U E�  �� ����� �� ���� ���

��������2������74��$��E�$����������1����2��$���$4�������2���2B������

�

( ) ( )*�#" αα −+= .U � C3/.0D�

�

	���2B����2����E����#������$4��� ������$�2B$�>������2� ���4�� ��� �� ����$�#�����$�

4�$�!��$E� �����$4�� ��� �� ��$� 4�� ��������$� �� ��$� 4��!�!��� � �$�  �� >���  ��)�$�

#�����$� $�� 4��$�����/� �$�2�$2�E� ��� �����4���  �� #����� �$4��� �� ������ ����

�����4������&��%��2(��������2� ����E�?��>�������$����α ���24��� � ��������>���?E� ���

��������� �74��$�&�� �����$4�� �� �� ��� ������&��  ��� $�%2����� ������1���� ��24��� � ��

������ �� ?� *8�'���� ��� #����� ��������� α ,E� � ��� #����� �$4��� �� $��1�� ���4�����  �� �$���

$�%2����/�

�������� � � ��� #����� �$4��� �� $���!��� �1�� ������2����E� �� ���#($� �� ��� �����&�� ��

����� � � �����#��$��E� ��2������>����

�
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( )[ ] ( )[ ] ( ),.U ααα ;*�;#"; =−+= � C3/.5D�

�

�$1E�4�����$��#�����V,E�����74��$�&�����������4��4�����������4�����$�!�����������&�� ��

����� � � >��� %������ ���2��������2��������� ���� �������E� �� ��� >��� �$� ���2�$2�E� $���

���$%�/�

'��� ����� �� �E� ��� ����� � � >��� %������ ��� 4��4��� ����#�� ���������� #U E� ��2�� $�� #��E�

��������2����E�$��4�� �����������2� ��������������4��� ������� � ��$4��� �E��$� ����E�

��� $�2�������  �� ��$� ��#���$�  �� ����� � � >��� %������1��� ��$� ��$���� �$� 4�$�!��$�  ���

����#��4������4��!�!��� � � ��>��� ��)�$���$���� �$�$��4��$�������

�

( )[ ] ( ) ( ) ( )*;�;#;" αα −+= .U � C3/.;D�

�

��B��%�2������� ����74��$�&�� ���#������$4��� �E� ��� �����4������&��2���2B����� �����

����� � ��$4��� �������$4�� ���� ���2� ���4�� ��� �� ����$�#�����$� ����������&�� ��

����� � ������ ������ ����$� �$�#�����$�4�$�!��$� �����#����!������������ #U E� �� �����

4�� ��������$�$��� ��$�4��!�!��� � �$� ��>����$�$�#�����$�$��4��$��������� .
 /���� ���

2�$2�� 2�����E� %��2(�����2����� )�!��� �E� ��� �74��$�&��  �� ��� ����� � � �$4��� ��

��4��$����� ��� ������&��  ��� $�%2����� ������1���� ��24��� � �� ������ ��$�4����$�  �� ���

�����&�� ������� � � ( )�; �? ( )*; /�

����4����2�$���� �������&�� ���#��$�&��������$%�������$��>���$���$�B� �$�������� �E�$��

��� �B�>��������#��$���$��B����$� ��� ���#��$��������$%��$��24���>���$����24���>����

�

( )[ ] ( ) ( ) ( )*;�;*�; αααα −+−+ .. � � C3/.-D�

�
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Q����$�4����$�2����������� ���&��>��� �!����24������ �������&���&���#�E��$� ����E����

$�%2�����>������� �$�4����$������$>������ ����������&��>�� ��$��24���4��� �!�"�� ��

���4��4��������&�/�


���������� �� 4���� ����>����� ����#�� �� ��2!�����&��  �� ����#�$� ����������$E� ���

��#��$���$��B��#��$��������$%��$��$�������&�� ������� � ��$��$������2������&���#�E��E����

����$��(�2���$E�$�����$�%�� �� ���#� �� ���������� � ��$���%���#�/�

�

��� ( ) �′′ ,U <#; ��#��$��������$%�� C3/.@D�

�


�B����2�������������&�� ������� � � ������#��$��������$%��$��4� �B���4��$��������2��

���� �����&�� �$������2����� ���������� C$�4��$���  �� ��� $���� � D� ?� �$������2�����

�&���#��C�#��$�&�D/�

�

�

�

"����
�����%�������
�������
�

�
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��4����� �����������2���������������4������$�����$������� �$��������������$%�E�$����� �B�

>����

�

( ) ( ) ( ) ( )[ ]�−+−+ *;�;*�; αααα .. < �'��4��$��������$%��

( ) ( ) ( ) ( )[ ]�−+=−+ *;�;*�; αααα .. ���������������$%��
C3/.:D�

�


�����(�2���$� �� ���#� �$��

�

��� ( ) �,UYY �#; '��4��$��������$%��

��� ( ) �= ,UYY #; �����������������$%��
C3/+,D�

�

���� �E� 4��� �����E� �������$� ��$� ��������$�  �� ����� � �  �� ��$� ��#��$���$� ��������$� ���

���$%��?����#�7�$���$���������$� ������� � � ����$���#��$���$�4��4��$�$�������$%�/�

�
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"����
�.��+����
���
��
�������
�

�

�

�

"����
�0����
 �������
�������
�

�

������$���)�!������ ������������$�4��$��� ��$������#�� ��>��� ��$� ��#��$���$�$���$��24���

�#��$�$� ��� ���$%�/� �$1�4��$E� 4���� >��� $��  ��� ��� �� ��������� ��#��$����$� ���� ���$%��
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�7�%��B������%��������� ��������C����4��2�� �����$%�DE�4�������������$������� (������ ��

����� � �>���$��%��������������������	���
��	���� ���2�$2�/��$���$�4��$�������$�2B$��

>��� ��� %�����������&�� �� ���  �2�� ��  �� ����#�$� ����������$�  �� ��� ��?�  �� ����� � �

2��%�����  ����������� >��� $��  �$������&� ��� ��� ����1��  �� ���  �2�� ��  �� !����$� ?�

$��#����$/�

�

��0 1������������
���%�������$
2
����������	$����

��� �4��!��2�� �� ��� ������&�� �� ��� ��#��$�&��&4��2����?�� ��24�$���&��2�7�2���� ���

����� � ��$4��� �� ��� ��#��$���$������������������������ ��� �!� ����2!�����&��������

��$� �$�����$���#��$����$��������$%��?���$���#��$����$�$������$%�E�>���)�%��2B7�2�����

#����� ����������&�� ������� � ��$4��� �� �����#��$��/�

���$��������>����

9� ,( ��'����2������������� �����#��$��/�

9�(
U
��'����2����������� �����#��$��/�

9� �� �������1��2���������>��������#��$��� � �������� ����#��$�&�� �#
U ��������$%�/�

9� �	 ����� �2������ �������#��$�&��$������$%�/�

9� �	
U ��8����!������������� ������ �2������ ����$�����#�$��������$%�/�

9�����M2���� ����#��$����$��������$%�/�

��� �������������������4����2������������� �����#��$���?���$������1�$�>����$��� � ������

��� ������ � �  �� ��$� ��#��$����$� $��B �
�

�
�
�

	 −�
=

�

�
��(

.
, /� '��� �$��E� $�� 4� �1��  ������� ���

4����2����������� �����#��$�����2������#����!������������� (
U
�>��� �4�� �������� �����
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'���� ��� ��#��$��� �#��$�� ��� ���$%�E ( ) ,U <#; ′′ E� ��� �����&��  �� ����� � � �$� �&���#�� ?�

#����� ����2��� ��4�����$���� ������$� ��4��2����� ��E� �� ����$� ���#� �$�4�������$�

 ���������� � ��$4��� ����$4���������$�������� � �$���#���� �$� �� �$����������

�

� [ ] ,UDC
U

YC =− �� 		(;" � �∀ � C3/+0D�
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�����$�����&�� ���$���$�$��2�� �����������$���$� ��B������24�$���&��&4��2��4�������

��#��$����#��$��������$%��>���������>������%�������������#��$����$��������$%��?�����$���

���$%�/��

��� �$�� ���  �� ��� ��� ���&�� ����$����� ?� $����������  ���4��!��2��  ��� ��#��$��� ��� ���

������� ,=�� E� �$�  ����� ��� ���� $������&�� ��� ��� >��� ��� ��#��$��� ��#������ �� �� $��

4����2����� $��� ���$%�E� 4��2���� $����� ���� ������$�&�� �24�������� 4����  �������

� ���� �2����������24����2������ �����#��$�������������� �2!��/�����$���$������&�E�

������ ���&�� ��4��2����� ���$��1���

�

( )( )( )[ ]��� 			(;" −+′ U., � ,≤ � �∀ � C3/+5D�

�

��2�� ( )�	( +., ��$����$�������

�

( ) ( )[ ] ,U., ≤−+′ ��� 		"	(; �� �∀ � C3/+;D�

�

'���� ��� $�4��$���  �� ��� $���� � �  ����2���� ��������$�  �� ����� � � �$������2�����

���������$E� �$�  ����E� >��� ��� 4��2����  ���#� ��  �� ��� �����&��  �� ����� � � $���

�$������2����� 4�$���#�/� �$1E� 4���� >��� �$��� ��� ���&�� $�� ��24��� ?� ��� ��#��$��� ���

�����?����$���#��$����$��������$%���$��24��$��� �!���>��������� �2�������$4��� �� ��

�$�$� ��#��$����$� ���� ���$%�� $��� ��������� ��� ��4��  �� �����($� ��!���  �� ���$%�/� ��� ��$��

���������E� �$�  ����E� $�� ��� ��� �2������ �$4��� ��  �� ��� ��#��$�&�� ���� ���$%�� $�4���� ���

��4�� �������($�$������$%�E��������$�������"����� ����#��$����$�����������B��$������$�$���

���$%�E�$����>�����2!�(�����>���������#������$%���

�

��� ( ) ,,U >> ��� �		" �− � C3/+-D�
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�

���>�����$��� ����>��������#��$����#��$��������$%���7�%��B����� �$���$���#��$����$�����

4��2�� �����$%��4�$���#��$�!��������#��$�&��$������$%��4�������������$����$���������� ��

��#��$����$� &4��2�/� ��� ��$�� ���������E�  ��)�$� ��#��$����$� ��� ���2��B��4�����  �� $��

�������� ����#��$����$/�

�

��3 !�������
����
���
����������	
���������
�

�����4��2�� �����$%��$�����4� �1�� ���������2�����%��������� ��������>���$������7�%����

���� ��#��$�&�� ���� ���$%�� 4���� >��� $��� 4������ �� 4��� ��� ��#��$��� �#��$�� ��� ���$%��

����������������#��$������$%�/��

��2!�(��4� �1�� ������$����2����������1��2���������>��������#��$����#��$��������$%��

�$�B�  �$4��$��� �� 4�%��� �� ��  �"���  �� %����� 4���� �#����� ��� ���$%�� ��)������� �� ����

 ����2��� ����#��$�&��C����E�
/�+,,,D/�

6��������&����� �2������ ����$�2���� �$��$���� ������$���������$%�$/����2�����$2��

 �� ����$��������� ��"�� ���$� 4�����$�  �� 2���� �� 4���� �� �� ��4��  �� ���$%�E� ��2!�(��

���2� ���	�)�����	����������������������������?���� �2�� ���$�B���%���� �$/����>���

�$��� $�%������� >��� ��� �>����!���� �� �$� ��$� ���$%�$� ������� ��"� �$� 4�����$� "�$��$E�  ��

2� ��>����� �$���$�#�����$�����������2�$2����$�� ����� �2��������2� ������$4��� �E�

���$��4�� �� � �����>����� �$���$�#�����$�$����!��������$�$�4����%����4������ �$���$�

��#��$���$/��$1E� �!� ������������������ ����$���%����$E���%���$���#��$���$�4���������

��%��$�$� 4��$����$� ��� ��%���  �� ��� �2�����$� ������$E� 2������$� >��� ����$� 4���������

�$����$��24�����24����2������������� �$�

�7�$���� �$� ����������$���&����$� ��4��2�� �����$%�E�>��E����>���$�2�����$E����������

2(�� �$�  �� �4��7�2���&�� ��� �����4��E�  �$�����$� ?� ��?�$� ��$���� �$� $���� $���

��24���!��$�!�"�� ����2��� �$���� ������$/����)�$� ����������$�$����

68B8? (	�)�����	��������	��C�
38��

��� ��������2���������� � �2B7�2��>��������#��$����$���1�� �$4��$�����4�%������� �"���

 ��%�����4�����#�����������$%�� ��������#��$�&��������$���� ����������/�
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���$��������>����

9� Z# �� ��#���  �� ��>����� >��� %������ ��� ��#���  �� ����� � � �>��#������� �� ��� ����� � �

�$4��� �� �������#��$�&�/�

9� Z� ��'������������ �������#��$������$%� #U /�

����(�2���$�2���2B����$��$��� Z# ��$�����>����

�

( ) ( )[ ]#;"#; UZ = � C3/+@D�

�

���%�� ��� 4��2��  �� ���$%�� 	��<�=���� $��  ������ ��2�� ���  ���������� ������ ��� #�����

�$4��� �� �������#��$�&��?������>������������>���%���������2�$2����#��� ������� � ��

�

( ) ZU ##"� −=π � C3/+:D�

�

�
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�

��$ �� ��� 4��$4����#�� )�!������ ��� )�!����  �� ���� 4��2��  �� ���$%�E� ��� 4��2��  ��

	��<�=���� �$� ��� ����� � �21��2�� >��� ��� �B� >���4�%���  ��2B$� ���� ��#��$�&�� ����

���$%�� ������� �� ���� $��� ���$%�E� 4���� >���  � �� ��� �#��$�&��  ��� ��#��$��� ��� ���$%�E�

��24��$��������$%�������4��� �/�

���������� �2�������%���������4��2�� ��	��<�=���E������#��$���$��B��� ���������������

���%��� ��� ��#��$�&��$��� ���$%���E��������4����������� Z� E��������#���������$%� #U E���?��

#������$4��� ���$ ( )#" U P�$�����$�!������ �2������������$�4�����������4��2�� �����$%�� ��

	��<�=���E��������$������#��$����4�������B������#��$�&���������$%�E�2������$�>���$�����

$�!������ �2������ �������#��$�&���������$%���$���������������4��2�� ��	��<�=���E����

��#��$������%��B������#��$�&��$������$%�/�

�

��� ( ) �#�#" � ≈�+= UU Z π �

��� ( ) �#�#" � >> UU Z �+ π �

C3/3,D�
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��� ( ) �#�#" � << UU Z �+ π �

�
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79		�C8��

'����� ?� ����=� 4��4����� ���� ���2��  �$������  �� 2� ��� ��� 4��2��  �� ���$%��  �� ����

��#��$�&�/� ����$� 4��4����� ���� �&�2���� 4���� ���$%�$� 4�>��J�$� ��� ������&�� ���� ���

4����2������������� ����$���#��$���$�?����$%�$����������2�������������$E��$� ����E�4����

4�>��J�$����$%�$���?��#������$4��� ���$�����/�

���$��������>����

9� ,( ��'����2������������� �����#��$��/�

9�σ ��8�������� ����� �$���!���&������������ ����$�#�����$��������!��$�4�� 3U /�

�� �$���$����������$���2��������$E����4��2�� �����$%�� ��'����9����=�$�� ��������2��

�>������ �����1�� 2��������� >��� �%����� ��� ����� � � �$4��� ��  ��� ��#��$��� ��� ����

��#��$�&���������$%�������������� � E�����(�2���$�������$E�>����!��� �1���������#�����

�$4��� �� �������#��$�&��2���$� ��)��4��2�� �����$%�/��$1�$��$�����$� ���������#��$���

����4����2������������ ,( E�?����������&�� ������� � � ( )(; E��7�%��B��������#��$�&�� 3U �

����4��2�� �����$%��21��2���%����� (9π E�>���$���$��%�����$�%��������%��� � ��

�

( )[ ] ( )[ ](93"(;3(;" π−+=+ UU � C3/3.D�

�

��2�� $�� )��  ����� �� 3U � ��2�� ��� ���$%�� ������#�2����� 4�>��J�� ?� ���������2�����

�������E ( ),U =3" E�$��4�� ����$��#����$���������&��2� ��������� �$�������� ����?���E�

>�� �� ���74��$� �����4��2�� �����$%�� ��'����9����=���2���

�
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[ ]DYCDYYC+. + (;(;3(9 −= σπ � C3/3+D�

�

��� �� $�� ����� ���� �74�1����2����� ��� �����4���  �� ��� #��������  �� ���  �$���!���&��

���������� ����$�#�����$��������!��$�4��� 3U ���2�� ����2������� �����4��2�� �����$%��

 �� ��)��#����E�"�����������$�#�����$� �����4��2����?�$�%�� �� ���#� �� ����������&��

 ������� � /�����$���$���� �E�$&����>�����$� �� �#� ��$��#��$�$���� ���$%���7�%��B������

4��2�� �����$%��4�$���#�E�?��>���$������������$�� ����������$� ������� � ��&���#�$����

$�%�� ��  ���#� �� �$� ��%���#�� ?E� 4��� �����E� ��� ��$���� �� ������ 4�$���#�/� �$�2�$2�E�

���� ��2�?���$�������#��$�&��������$%�� ��� ��#��$��E�2� � ���� ���#($� �����$�%�� ��

 ���#� �� ����������&�� ������� � E�2�?���$��B����4��2�� �����$%��>���$���7�%��B�������

��#��$�&�/�

�$�� ���������  �� ��� $�%�� �� ?� 4��2����  ���#� ��  �� ��� �����&��  �� ����� � E� >���

2���2B����2����� 2� ��1�� ��� %�� ��  �� ���#������ �� �����#� � �  �� ��� �����&��  ��

����� � E��$�������� ��4����2� ������%�� �� ���#��$�&��������$%�� �����#��$��E�2� ������

 �$������4��$���24��2�������$��

� ����#��$�&���!$������������$%�/�

� ����#��$�&��������#��������$%�/�

�4����� �������2���&���24��������4���������������������2�?���4����$�&����� �2�� ��

 ����#��$����$��������$%�/�

68B8�8? 9��	��
���*����
�����	�����8�

����)���#��$�&�� ����2����$�������#��$���$���������������#��$����$��������$%����2��$��

 ��!����$����2���$� $�� �����$���� $�E�4������ ���������E� ��$����$� ����!����$� ���������$E�

�����$4�� ��� �� ��2�� 4��#��2����� $�� )�� � ������ �� ��� ��������� ��%���#��  �� ���

$�%�� ���?�4��2���� ���#� �$� ����������&�� ������� � /�

���$��������>����

9�9����#��$�&���!$������������$%�/�
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�� ������E� ������� ������*������	)����$�%M���������1�� ������$�2� ��E���2���>����

��?�� �2�� ����2��������� ����2����� ��� ������ C���4����2����D� ������$�2� ��E�?�

�*���� ����	��	�� ��2�� �>���� ��?��  �2�� ��  �$2���?�� ��� ��2������ $�$� ��%��$�$�

C4����2����DE��������$��

�

[ ]DYCDYYC (;(;9� = � C3/33D�

�

�4���� �$���$������4��$� ��!����$����2���$������������$������ �2�� �� ����#��$����$�

���� ���$%�E� ��� �1�2�$� >��� ���� ��#��$�&�� ���� ���$%�� $��1�� ���$� ��� �� ��� !����

���2��� ���� �� ��� ��2������ ��� 4����2�����  ��� ��#��$��� ��2������� $��  �2�� �E� $��

#���2���  �� ��#��$����$� ���� ���$%�/� �$�  ����E� $�� ��� �#��$�&�� �!$������ ��� ���$%��

 �$2���?���������2���������4����2����� �����#��$����

�

⇔,<
�(

�9� ���������2��� C3/30D�

�

'���������������E�$�������2���������4����2����� �����#��$��� �$2���?����� �2�� �� ��

��#��$����$� ���� ���$%��  ��� 2�$2�E� $�� 4�� �� ����2��� >��� ��$� ��#��$����$� $���

���$� ��� �$� !����$� ���������$/� �$�  ����E� $�� �$���1�� ����� ��� ����������&��  �� ��$�

��#��$����$� ���� ���$%�� ��2�� !����$� ���������$� $�� ��� �#��$�&�� �!$������ ��� ���$%�� �$�

�������������� ����2��������4����2����� �����#��$����

�

⇔,>
�(

�9� ��������������� C3/35D�

�
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��� �������2�����$��)�� $�4��$���>��� ��$� ��#��$����$� �!���$������$� ��� �$�!����$�

���2���$E� !�$� �$� ��� ��� �&%����  �� >��� $&��� �� 4������  �� ���  ����2��� �� ��#���  ��

4����2����� C�����DE� ��$� ��#��$���$��$�B�� �$4��$��$��� �$�2��� ���$%�$E� �7�$���� ������

������&�� ������2�����4��4��������������������#���4����2������?������#��$����$/�

�$���$�4��$���)��$� ��������$�� ����������21�$�����������2����� �$������� �$���2��

���������2�������/�����!$�����E�$�� �!��1����$����%�����������4��� ���#��$�&���!$������

��� ���$%�� �� ��������$� ����������$E� ?��>������ ���4�B������ $��4��$������ ����2��� �$�

��$�$�>���4�� ���$����74���� �$� $�%���2�������2��4�� ���$��E� ��� ������#����� �� ���

��#��$�&�������)�����������24����� ������������� ����#��$�&�E� �� �����������&��������

��#���4����2������?� �2�� �� ����#��$����$��������$%���$���%���#�/�

���%� �$������ ����2��� ����#��� ��4����2����E� ��$� ��#��$���$�>������E�$�!��� �� �E�

���$��� ����E� $��� �$�2��� ���$%�E� >��� ���>��� 4� �1�� 2�"����� ��� ��$���� �E� ��2!�(��

4� �1�����$�������$�4(� � �$�>�������$�B�� �$4��$��$����$�2��/�

��2!�(���7�$������� ����������� �� ���� � ���� ��� ������ �)�������� ���$%�/�6���"�24���

�������$�B���� ��$�4����$� ��4��$����$E� ?��>��� ��$�4����$�2B$��%��$�#�$�$�� ��$��#��E�

��� �2�����2�����4�����)���� ���$�"&#���$�����4�>��J�$�4����2����$E�2������$�>���

��$� 4����$� 2B$� ���$��#� ���$� $�� �������� 4���� ��#��$���$� 2�?���$E� ���� ��� ��#���

4����2������2B$����#� �/�

��� ��$�2��E� $�� 4�� ��  ����� >��� ��� 4����4��&��  ��� ���$%�� ��2!��� 4��� �������$� ���

����$����2����� #������ �$� �� ��� ��#��$�&�E� $�� $������&�� ����&2���E� �� �����$�� ��$�

�74��������$�$���� �$����$���������$�>���$��� ������������2��$�2�����$/�

68B8�8� �9��	��
��	���
�������	�����8��

	������$�>�������#��$�&���!$������2� ���������� � �2���������>���$���$�B� �$4��$�����

��#���������������#��$�&���������$%��4������ � �2���������4����2�����E���������4��� ��

�#��$�&��������#��������$%���4����������2���&��$�!������4��4����&�� ����#��$����$�����

���$%��$�!������4����2����������� �����#��$��/��

���$��������>����

9	���#��$�&��������#��������$%�/�
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�ε �����$���� � /�

����'����� ���4����2����� �����#��$��� � ��� ������#��$����$��������$%�/�

��������%1�������������1�� �����#��$��E�$�������� �� ����2�����$�����!���� ����#��$�&��

�$����!����!B$������ ����"�/�

6�� !���� ���2��� $��1�� !B$���� $�� ��� ��2������ ��� ������ C4����2����D�  ��� �� �#� ��� $��

 �2�� ����2����E�4����2���$�>���4��4��������2�������������2����� ����������E��$�

 ����E����4�������"�� ��������%�$�� ����� ��)��!���� �$2���?�/�

6�� !����  �� ��"�� $��1�� �>���� ��?��  �2�� �E� ��� ��2������ ��� ������  ��� �� �#� ��E�

��2����� 2B$� >��� 4��4��������2����� ��� �����2�����  �� ��� �����E� 4��� ��� >��� ���

4�������"�� ��������%�$�� ����2������

�

[ ]DYCDYYC (;(;(9	 = � C3/3;D�

�

��������4��� ���#��$�&��������#��������$%���$�BE�4��$E���������� ������������$���� � 9

4����2����� �� ��� �2�� �� �� ��#��$����$� ���� ���$%�E�  ��2������>��� $�� ��� �#��$�&��

������#�� ��� ���$%�� ������ ���������E� ,>�(
�9	 E� $�� 4�� ����1�� ����  �$2�����&��  ���

4�������"�� ���4����2����� ��� ��#��$��� ��2�� �� ��#��$����$����� ���$%�E� �$� ����E� ���

���$���� � 94����2����� $��1�� 2����� >��� ��� ��� � E� $�� ��� �#��$�&�� ������#�� ��� ���$%��

���������$�����E� ,=�(
�9	 E�������$���� � 94����2�����$��1����������E�2������$�>���$��

����#��$�&��������#��������$%�������� ����������E� ,<�(
�9	 E��$���1�2�$��������������

���$���� � 94����2����� ����� �#� ���2�?���>��������� � /�

���� �� ��� ���$���� � � ��� ������ >��� 2� �� ��� #������&�� 4����������  �� ��� ��������  ��

��#��$����$����� ���$%�������� ������ ���4����2����� ��� ��#��$��E� ���� ��#��1���������

4�������������4����2����� ��($����



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�50�9�

�

�

(

�(

��

�

(
,=ε � C3/3-D�

�

��� �����$����4����� ���4����2����� �����#��$��� � ��� ������#��$����$��������$%�/�

��2�� ��� ��� ��$��  �� ��� �#��$�&�� �!$�����E� ��� �#��$�&�� ������#�� ��� ���$%�� )�� $� ��

$�4��$��� ��� �������2����� ���$�����E�  �� 2������ >��� ��$� ��#��$����$E� 4��� �����E� $��

���$� ����B��!����$����2���$�!B$���$/�

��� �$� ����$����� ��&����2����� ��2����� �$��� �����4��E� ?�� >��� 4�� �� �4������ %����

����� � �  �� �����2���&�� ������ 4���� ��������� ��� ��24����2������  ��� ��#��$��� ��2��

4����4� ���  �$�J��� �$�����%��$� ��#��$���$� ��2� ��� ?� ���%��4�����4����  ����2��� �$�

��#��$���$E� >��� ��� $�� �"�$���� �$������2����� �� �$�� $�4��$���  �� �#��$�&�� ������#��

���$�����/�

��� )��� ������� ��  �#��$�$� ��������$�  �� ����� � � 4���� ��4��$������ ?� �74������ ���

��24����2������ ����$���#��$���$�>������$���"�$�����7����2���������$�$�4��$��$� ��

�#��$�&���!$����������������?��#��$�&��������#�����$�����/�

��������!���0�$����������������2!�$�2� � �$� ���#��$�&��������$%��4������$���������$�

2���2B����$� 2B$� ������� �$� ��� ��� ��B��$�$�  ��� ��24����2������  ��� ��#��$��/� ��$�

A�%���$�-E�@E�:�?�.,������$4�� ����� ��)�$���������$� ������� � /�

�

�

�

�

�

�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�55�9�

�

#
$�
�.��

#
���$�����
��
����� ������$������

��� ������$����
������

��� �B������;=(2�S� +�(*(� −+ � ���������� ����������

'�����������%���#���;=(2�D�7�(7�*� ������������ ���$������

�74�����������%���#���;=(2�D�7�7�*(� ���$������ ����������
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�

������$%��%��!��� ����������#� � � ����2��� ����$����� �����$�2�� �� �$�����$����$�$�

 �����$%�E���%���� ������$�����$�����������!������$�>����������(�2���$� ��4��!�!��� � E�

4������>����$���$���24�$�!��� �������2� � ����2(����� ������$%��%��!��/�

���� �2!��%�E� ���>���4�����  �� ��$� ������� �2!��$� �24�1����$� ��� ��$� �4��������$� ���

$��������������!��$�C��2�E�4����"�24��E�������$%�� ����������������������4������&�� ��

��� ���2���#�� ��$���DE� ���  �!�2�$� �7������ �$��$� ���$%�$� $���� � �4���� ?� ��#�$���

4���& ���2����� ��$� 2� � �$� ����$����$� 4���� 2���2������$/� ���� �$��� 4��4&$���E� ��

����������&��$�����2�����?� �$���!�����$���4���%1�$� ����$����$%�$��

68�8? '�����������	����8��

���"���$����41%�����$������%��� �#��$�$���4�$� �����$%�E�#������ �$������ �������4�����

���4��4���2���� �/�

������$����$%�$� ���#� �$� ����$���2!��$���#������� � �$������$�4�����$� ����$�����#�$�

?� 4�$�#�$� ����������$/� ��4���� ��� 4��!�!��� � � ����� 2�#�2�����$� � #��$�$� ��� ��$�

4�����$�  �� ��$� ��$���2����$� ����������$�  �� �� $�� ���%��� 4�$������$E� 4� ��� ��

4��#����� ���4��������$�>�����%����������� ��������2�������� ���!������/������� ��$�
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2B$� ��2���$� $�� ����������� ��$� ��4�$�  �� �����($� ��� 2��� �� ��������� �� ��� ����$�

2��� �$E���4�$� ����2!���?����4������ ����$��������$/��

��� �74�$���&��  �� ��$� ��#��$����$� �� ��$� ���$%�$�  �� 2���� �E� ������ $�24��$� ��2��

2���� �2��$������$E� �$� ���$���������  �� #���������$� ��� ��$� �������$�  �� ���$%�� >���

������������$�4�����$� ��2���� �/��$��$��������$������?��E����>������ ������2������

�7)��$��#�E���$�$�%������$��

� ��#���$� ����$���4�$� �������($� ���� ��4�1$/�

� ���������&����������$� �$�����$���4�$� �������($�?���$�2���� �$/�

� ��4�$� ����2!��/�

� '�����$� ��2������$�4��2�$�?������������$� ��������#����!��/�

� 8������� � ������$���4�$� �������($E���4�$� ����2!���?�4�����$/�

������� ���$��$����$%�$�4�� �� ����������$���������

68�8?8? '�������������������������������8��

���%��� ��2�� ���$���������  �� ��$� �4��������$� ����������$� >��� $�� �����M��� ��� ��$�

2���� �$� ���������$� ��� ��������������$� ���  �#�$�$E� �������(� �$�� ��� ��$� $�%������$�

���$%�$��

3/-/././. '���������
���������)*���=���
28��

�����"�� ��$� #���������$� 4���������$� >��� $�� 4�� ��� 4�� ����� ��� ��� #�����  �� ��$�

4�$������$� ��� 2��� �� �7����"���� 4��� ��$� #���������$�  �� ��$� ��4�$�  �� ��2!���  ��

����� �� �����2��� ������������� ������2��� ���7����"������������/�

3/-/././+ '�����������	��������������������	����������������
����������
�	:�/��

�$����$��������� ����$�#���������$�>���$��4�� ����������$� �����������$� ����4�$� ��

�����($� ������  �$�  �#�$�$� ?� $�� ������� $�!��� ��$� 4�$������$� >��� 4�$���� �� 4����� ���

2��� ���7����"���/��
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68�8?8� '���������
������
�	:��E��	����8��

8����� ����� ����2������74�$���&�� ����$�4�����$� ��2���� ������$�������������$� ��

��$���4�$� �������($E�4� ��� �� ����������$�������� �$�%��4�$��

3/-/./+/. '��������	����������������	������
����8��

��� ��������2�����$��$�!��� � � ����$���$���� �$������ �$4����2�����$�4�������$� �����

���#��  �� ��4�$�  �� �����($� C��$� �����!��� � �$�4����  �$�����$�4����$DE�  ��2������ >���

 ��)�$� �$4����2�����$����%����� �����������$� ����4�$��%����$�4������ �$���$�4����$E�

�$�2��� ��>�����$���4�$� �������($���������4�����$��2��#��� �����2�$2�����2��>���

��$�  ��� ���%�/� ��� ���$%��  �� ���#��  �� ��4�$� �$� ��� $��$�!��� � �  �� ��$� ��$���� �$� �� ���

��2!����������$��������� ��4����$� ���$�����#�E� �����2��>������%����� �����������$�

 ����$���4�$� �$�����$�4������ ������ ����$�4����$E��$�2��� ��>�����$���4�$� �������($�

��������4�����$��2��#��� �����2�� �$����������$� ������%��4����/�

3/-/./+/+ '����������	����8��

��� ��������2��������$%�� ��>���$��4�� ������#���������$�������#����� ��2���� �����

 ����2��� �$� ����#�$� ����������$� ��2�� ���$���������  �� 2� ����������$� ��� $�$�

4�����$E�?�$���4��������4���������������$�� ���1����$� ��������#����!���?�2���� ��1�$/�

68�8?86 '������������	��������������������8��

�����"������������ ����$�������������$�������#����� ����$��4�����$���2�����$��������E�

����������$��$4����$E� ��#���������$������$���4�$� �������($E����#������� � �?�������24��

>�����$���)�$������#����2�����/����)���������$��2� �������#($� ������$����� �������$�

������ �$�4�����$�$�%������$������$�%���%�$��

� ���
�8��$����4��2���� ���#� �� �����4��2�� ������4��&����$4��������

4������  ��� ��$���2����� $�!?������/� ����%�� ��� $��$�!��� � �  �� ���

4��2�� �� ��$� ��2!��$� ��� ��� 4������  ��  ��)�� ����#�� $�!?������/� ���

���$%��  �����  �$���!�� ��� �74�$���&�� �� ��2!��$� ���$4��� �$� ��� ���

#����� �������������� ���4�����$���2����$���� �� ��2�#�2�����$����

��$�4�����$� ����$���$���2����$�$�!?������$/�
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� .�))�8� ��2!�(�� ������ �� ��2�� ���#�7� � E� �$� ��� $�%�� ��

 ���#� ��  �� ��� 4��2��  �� ��� �4��&�� ��$4����� ��� 4������  ��� ����#��

$�!?������E� ?� 2� �� � ��� ��2!��� �$4��� �� ��� ���  ����� ����� ��$�

#���������$�������#����� ������2�����$�!?������/��$�������$%�� ��>���

�����2!��������$�4�����$� ����$���$���2����$�$�!?������$����$�����

��2!���������4�$���&�� ����� �������������� ���4�����$/�

� /���/���4��$�����������$%�� �����#������� � E�>����$� ���$��$�!��� � �
 ���#����� �����4��2�� ������4��&�������4�>��J�$�#���������$�������

#������� � � ���4�������������4�� �������#��$�!?������/�������$%��#�%��

$���������������#($� �������B��$�$� ��$�2�����&�E� � �������2!��� ��

#������� � ��������$���������$�B� ��/�

� 0!�
�/�	� �����������2!������#����� �����4��2�� �������4��&����2��

���$���������  �� ��� �4��7�2���&�� �� ��� ���)��  �� �74�����&��  �� ���

2�$2��C
�)�������D/����4(� � �� ���#����� ��24����� �� ���4��2�� ��

�����4��&����2� � ��>��� ��� ���)�� ��#����2������ $�������������$�

4��4���������������24������$����� �/�

� F���������	!�/������$4�� ��������$%�� ��#���������$�������#����� ��
���4��2�� �������4��&�������4�>��J�$�2� ����������$���������4�� ��

�����($/�

68�8?8@ &
	���	����������)�	����8��

3/-/./0/. '�����������		�����
�8��

'��#����� ������������4��������$� ����!��������������� ����$���2����$� �� ��������$�

��������1$����$E� ��2�� 4�� ��� $���  ��������$� 1� ���$�  �� ��4�$�  �� �����($E� 2���� �$E�

 �#�$�$� ?� #����2�����$/� ��� �$��$� �4��������$� $�� �74��$�� ���� �4���&�� $�!��� ���

���������&�� �7�$������ ������ ��$� ��$���2����$� ��!�����$� ?� �>�����$� ������� �$� 4����

��������������!������/�������$%�� �����������&��$��%������ �����������&���������������$�

��$���2����$��$� ��������� �����>���$��)�!1��4��#�$���?E���2����$���� �E������!�������

�����24��$����24����2�������$�4(� � �$���������$���2�������!�����/�
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3/-/./0/+ '����������������
�������/��

���%�� ��� ��� ��$��  �� �1����$� ���� %�����1�� )�4��������E� �!��%������$� �� ����$�

��$���2����$�  ��  �� �� ��� ��$� >��� ��� 4�����4��E� ��� �� �� �� ��� 4����E� 4�� �� $���

�2������ ������$� ���#����2�����/�������$%������� ����$�� ���2��������&��������4� ��

�$�>�����$����"�$� ����"�����%���>���$�������#���� �$��������4�� �������($�4������2�����

2B$�!�"�/�'���������24�� ��� �������$���2����������$�����������1$�������������2������

 ���$������$%���$�$�2�������� �������4��&��#�� � �/�

3/-/./0/3 '��������������	�)���
�/��

�4��������2�����$��������� �����4������4���&�� ���������� � ��������$�%���2������

 ��������������&�� ���1����$E��$�2��� ��������$%�� ��4�$�����4�$����4������2��������

�2�$�&�� ��2�� ���$���������  �� ��� ��� ��������&��  ��� ������  �� ��� 2�$2�� ������ ��$�

4���������$� ��24�� ���$/� ��� ���$%�� 4�����4���  �� ��� �$�%���2������ �$� ��� ���$%��  ��

4�����E� >��� �$� ��� 4�$�!��� � �  �� ��������� ���� #�������&�� �����������  ��� 4������  ��

2���� �� ���������#���2�$�&�/��$���4�� ��$��� ���4���#����$� ������$E� �����?�� ��

�$4����$� ��24�����#�$E� #������� � �  �� ��$� ��4�$�  �� �����($� ?� �������$�  �� ������� I�

 �2�� �E� � �2B$�  �� ��� 4����4��&�� ��� ������� >��E� ��� ��%���$� ��$�$E� $�� ���%��  ���

�2�$��/�

3/-/./0/0 '���������	��
����4�/��

��������$�� ����$�����#�$� ����������"�E������$�>�������2!��� ����������� � ��������E�$��

 �#���#��� ���$� ���"�$� ��"�$� ��� ���$� ���)�$� ������$� ��2!�(�� ������ �$E� ?� $��� �� ���

�����!��� � � �������#��$�&�����������&��4������������������������1�������� ����$����"�$�

2��������$� �� ����!��� ?� ��� ����� � � �����%� �E� ��$� ����#�$� $�� ������������� 4��� ���

����� �2!���$�!�������24����� ����$���� �2�����$�>��������#��$�&��#����4��4��������E�

�$1� ��2�� ��� 2�2����� ��� >��� $�� �!��� �BE� $��24��� ?� ���� �� $�� 2�����%�� ���

#����2������ �������#�/�

����$���M���2����$��$����������B�������$%�� ��2���� ������ ��$��>��������$������$����

#�� �������$� ��$��#����2�����E�$��� �������#��� �����$%��4��4���������������24��>���

��$���)�$������#����2�����E�����#��$�2�����4��4��������������#��� ����4�$� �������($/�
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�$���M���2������2���&������$� ����� ���7����E�4��$�$��24���)�!�B�>�������������������

������$%�� ������#��$�&�E�>������$�$���������������� �2!���$�!�����$���4�$� �������($���

��$�>���$�� ��#�����B�� ��$����"�$�>����������#��#�?��%������ �E� �$ �����2�2��������

>��� $�� ��!��� )�$��� ��� #����2������ ������  ��� ����#��  �� >��� $�� �����/� ��� �!$������ ���

���$%��2B$��24���������4���������� ��$��>������#�� ����������#�� ����������"������$�

 ��$���2��������&�/�

��� ��� ��$��  �� ����#�$�  �� ������ #����!��� ��� ���$%��  �� 2���� �� ���$�$��� ��� >��� ���

��#��$�&�� ��� �������� ��� �����!��� � � �$4��� �/���� ����������  �� ��$� ����#�$�  �� ������

��"�E������$� ��������#����!������$�������������������$�!�������24����� ����$����"�$�>���

��� ��� ������� %������B�� C�24�����  �� ��$�  �#� �� �$� ?� #����� ������  �� ��$� �������$�

��24�� �$D/� ���4�� �� �$��!������ ��2�� �����!��� � � �$4��� �E� ��� >��� �!���%��� ��$�

����#�$���!��$� �����$%��2B$���� �����������)�$�&�����C4��2�� �����$%�D/�

3/-/./0/5 '������+��
�),
���8��

�$� ��� >��� �4������ ���� �� ���1� ����  �� �������$� ���%� �� ��� �������� ��� �����!��� � �

�$4��� ��?����$��4�� �����2��������$�������� � �$�����1� ���������� ���J�����+,�4���

.,,E� ��1���2����������������� ���������$������� �����2�$2���!��� �B����������!��� � �

4�$���#�E� ��2���$�>����$�2����� ���$%���M��2B$� ���#� ����2��4� �1��$������)�!���

��#���� �� ��� �������/� A������$� ��2��#������&��  �� ��4�$�  �� �����($� ��������$E� ��$�$�  ��

�������&�E� �����2������ ����&2���E� ���/E� $��� ��$� �������$� >��� $�� ���$� �����

 ����2������$� �����$%��$�$��2B�����

�����2!��%�E���� ���$%��>���������������#����������"����� ��#�����$����4����������$��

 ���2�����	������������
�),
����������	������*���E��$� ����E�$�����%�!���������������

 ����%����2�����������#��� ����$�4�����$� �����!������$��#����$�C4�����$������#��� �$D�

?� ��� �� ��!�"����$�4��>��� ��� �������&���$�B� $�!��4�$�� �� ����2��� �$� �12���$E� ��$�

4�����$� ����$��������$� ����24�J1�$���#������ �$�$�����B��������������&�/�

6����$������� �������������2������74��$���$�� ���������4��2�#���� ��.:::E����� �����

%�!������  ��� �&� ��!�"��� ��� ������� ��(������� ���� ���4��4&$����  �� ��!�"��� ��� �������&�/�

���$������������ ���$���2� � �E���$������������$� ����$���24�J1�$���(������$���?�����

������2����/����$����2����2���"�24��E����.+� ���!���� ��.:::������#���������&�� ����$�

�������$� ���� �$�E����>���$��24���$�4����������� ������N�35E�2�����1������4�����
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 �� ��24����2������ $�2����� �� ���  ��� 1� ���/� ���� �2!��%�E�  ������� ��$�  1�$�

��2� ����2�����$�%������$����$�����)��$�� �����������!��� �#��%�������������#�����&��

 ����$��������$� �������24�J1��������$4�����������N�35�CA�%����..D/�
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��� ������ ���7�$��������24��2�$��� >���� ��4��� �$��%����$E�2� �����������������E�

 �� ��24���� ?� #�� ��� ��� ����#�� ����������� C����#�� $�!?������D� �� ��� 4������

 ����2��� ��C4������ ���"�������D�����������)���������4����"� ��C���)�� ���"����������
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��$� ���2����$�  �� �� �� ���������  �� ������$� $���� ��� �!"���� $�!��� ��� >��� $�� !�$�� ���

��������� �� ����#�� $�!?������� C�������$E� 1� ���$E� ��4�$�  �� �����($E� !���$E� ���/DE� ���

4��������������$����������B������24��#����� �������#��$�!?���������4������ ���"��������

?�������)�����>���$���"������B������������/�

���� ��$����24����������$�$�!�����������&���7�$��������24��2�$�� ����24�����$��

����&������������������4������4���� ��)�?E� ��2������>���$���!��� �B��!��������$�4���

�$���4�����&��$�������������&�� ���������&��$�!��C?��>���$��4� �B�#�� ����������&�����

���2���� �������4������2�?��D�?�4(� � �$�$��!�"��CA�%����.+D/�

��������$�� ��#����� ��������$E��$� ��������� �������24��2�$���$�#�� �����������&��

����������)�� ����2��� �����4������4���� �E�$���!��� �B�!��������$�4��� ���#����� ��

������$E�$���������&��!�"�E�4��$�4� �2�$���24�����������&��������2���� �������4������

������������>���#�� �2�$�CA�%����.3D/��

��������$�� ��������$�$�!��� �#�$�$E���������!��� � �����(�2���$� �����2��� �� ���4�1$�

���%���  �!�� $��� �%���� �� ���� �������� ���$����� �� ��� 2�$2�� 4����� ���� ����#�$�

 ���2��� �$��������� �#�$�E� ���%������>�����#������&�������� ��4�� ����2!������%����

���!�����������4(� � ���������4�����&�/�

'����� ������������ �E���������������24�����2��������#����� ��������$�����������$����

���$%�� ��2���� ���$��#� �����?�)�� ��$���%�$����� ��� ���� �2�����4������ ����$�/�
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3/-/./0/- '���������&��������<�������	��/��

�� ���������� ���	������������	���������������������������>���������$%��#��1�� � ��

4�����$�������������$� ���#����� ����$��4�����$E���2�����$��������� ����$�#���������$�

�����$���4�$� �������($E����#������� � �?�������24����$������)�$������#����2�����E�������

���
	�
�������������E������24�� ��� ������4��&�E�� >����������2!��� ������4��2�E����

 ����)��  �� ��24���� �� ���  ����)��  �� #�� ��� ��� ����#�� �� ��� 4������ ��"� �� ��� ���

��������E� >��� $�� �"������B� !���� ��� ���� ���)��  ����2��� �� ��� ��� 2�$2�� ?� >��� $��

 ���2����K#����2������ �����������KE�����$�����$��$�� ���2����B������
����	�����E�

��!��������������)��������������#����2������ �����������E� ���2��B� �$������$�����$��

�����
���)�	������/����#�� � ��� ������������ ���4�����$E�$����24��2������#�� ���

�� ��24���E� ��$4����#�2����E� ��� 2�$2�� ����#�� $�� �$1� ��� �7�%�� ��� ��24�� ���  �� ���

�4��&�/��

����4��&�� ����24���C����D�$��B��"���� ��4���$����24�� ������� �E����#����2������

 ��� ��������� C��$��  �� ��� �4��&�� ����4��DE� ��� 4������ 4��� ��� ����� ������ ���  ����)�� ��

��24������#�� ��� $���2B$� ��#���!���>��� ���4��������� �����4� �1�� ��������� ���2�$2��

�4�����&��������2���� �/��
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��$����2����$�!B$���$� ���� ����������� ���4�����$�$����

� ��4�� ���4��&����4��&�� ����24����� ��#����/�

� ���$�� ���4��&�������4������2��������

� '������ ���"��������=+
	���2��'��������������$���������2!���1���������#�������$��

 ��>���$���"�����/�

� 8����2����������)�����>���$���"������1������4��&��C�4��&������4��D���M���2��

���)�����>���$��4� �1���"��������C�4��&���2�������D/�

��$��������4�$������$�!B$���$������4�����$�$����
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� ��24��� �������4��&�� ����24���=����2E�4�����������$��� >��������� ����)�� ��

��24����?�$��4�%������4��2�/�

� 8����� �������4��&�� ����24���=����2E�4�����������)�?��!��%���&�� ��#�� ���?�

$����!�������4��2�/�

� ��24��� �������4��&�� ��#����� =��
2E�4�����������$��� >��������� ����)�� ��

#�� ���?�$��4�%������4��2�/�

� 8����� �������4��&�� ��#�����=��
2E�4�����������)�?��!��%���&�� ��#�� ���?�$��

��!�������4��2�/�

��2!���� �� �$��$� ������� 4�$������$� !B$���$� $�� �����B�� �$��������$� 2��)�� 2B$�

��24��"�$E� ?�� $��� ���� ��� 4��4&$����  �� �!������ ��� !���������  ���#� ��  �� ��� 4��4���

�$��������� C4�$������$�  �� ��#��$�&�DE� !���� 4���� ��2����� �� ���2����� ��$� 4���������$�

4(� � �$� �����������������$����� ��C4�$������$� ����!������D/�

������A�%����.0�$����4��$�����������"����� ����$���� �$�4�$�!��$����#����2������ ���

��������� �������24��� �������4��&������4��/��������"����$����4��$����������$���� �� ��

��� �4��&�� ?� ��� ��� �"�� #� ��� 4������  ��� ����#�� $�!?������� ��� ��������� ���  1��  ���

#����2������ �����������/��

���#����2������ �������4��&������4���$��4�� ���4��$������ �$����������#�$��

� ���4������ ��2���� ���$�$�4���������4������ ���"��������=�
	���2E���$��������>���

�����24�� ��� ������4��&���"�����B�$�� ����)�/���2� ����2�����4� �1��#�� ���

��� ����&�� ��� ��� 2���� �� �!������ �� 4��� �� �� ��� �4�����&�� ��� 4������  ��

2���� ��2���$����4������ ���"��������?�2���$����4��2�/��$�����$���� ��4�� ��

$�����%���#��$����� �������������������#����� ��2���� �� ���������&��?����4������

 �� �"�������� �$� ��������� �� ��� 4��2�� >��� ��� $��  1�� $�� 4�%&/� '��� ��� �����E� ���

��$���� �� ��B� ��2����� �� ������2�� 2�?��� $��� ��� 4������  �� 2���� ��  �� ���

����&�E����>���$����4��$�����������%�B�������������1�����$��� ����/�

� ���4������ ��2���� �����%������������������4������ ���"�������/�����$�����$�����

�4��&�����$��B��"���� �E�4��$����$����24���B���������&�������4������$�4������

���>���4� �2�$���24����������2���� �/������$���� �� ������4��&����$�����$���
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����4(� � ��4������#����� �����4��2��4�%� �/��� �4�� �����2����� �������$���

���4������ ��2���� �� ���������&��C$��24���>����$�(�4��� �!�"�� ���4������ ��

�"�������DE� ���4(� � �� $��B� �%���� �� ���4��2�E� ���>���>�� �� ��4��$���� �� ��� ���

%�B�����2� ����������1����4������������"��#/�

'�����������E������$���� �� �������4��&�� ����24���$��B����4������ ��2���� ��2���$�

���4������  �� �"�������� ?�2���$� ���4��2�E� $�� ���4������  ��2���� �� �$�2�?��� >��� ���

4������ ���"�������E������4(� � �� �����4��2��$�����4������ ��2���� ���$�2�����>������

4������ ���"�������/�

�� ����������&�� $�� ��4��$������ %�B����2����� ��$� ����$� ���$� 4�$������$� !B$���$�  ��

�4�����$/������$���� ��$��B���� �����24�� ��� ������4��&����������24��� ���4�����$�?�

��� ���#�� � �����������$�� ����$�#����$� ���4�����$/�
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'���������������$��������$� �����$%�� ����$��4�����$�����������$�$��B�4����$������������

��B��$� $��� ��$� #����!��$� >��� �������� ��� 4������  �� ��$� �4�����$E�  �$����� �� ��$�
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�$4����$� �� ���$%��>���$�4����/��$��$�#����!��$� $��� � �����������&��?�4�$�!��� � � ��

#������&�� ���$�!?������E�������24��>�����$���)�$������#����2������ ������4��&�E���$�

��4�$� �� �����($E� ��$� �#� �� �$� ?� ��4���$�>���4�� ���4�%��� ��$� �������$���!���$E�

��$4����#�2������

�  �
�3���
��������*�����
�8��������2B$�$�!�����4������ ����������&��$�!������

>��� )�2�$� ��24�� �� ���� �4��&��  �� ��24��� 2�?��� #����� ��� �B� ���$����

�4��&��  �� ��24��E� 4��$� 2�?��� �$� ��� !��������� 4��������� >��� ����"��B� ���

�4��&�/���� �������������������#����� ��2���� �� ���$�!?������� �������4��&��

?����4������ ���"��������$�� ���2����K#���������1�$���� ������4��&�L�

� (	�*�*����������1�����	������ ��*�����
�G�����
������/� ��������2�?��� $��� ���

#������&�� >��� ��� 4������  �� ���� �4��&�� 4�� �� ������  ������� ��� #� ��  �� ���

2�$2�E�2�?��� $��B� ��� �24�����  �� ���4��2�� ��4�%���4��� ����E�4��$� ���2�?���

2� � ��$��4� �B����"������4������������� ���4������������E�?�4���������2�?����$�

���!���������4��������/�

� /���	�
�)��	�������������
�/��������2B$����24����$���)�$������#����2������

 ������4��&�E�2B$�4�� ��#���������4������ ���$�!?������E����"B� �$�����4������

������� ��$��#�����������/�'��� ��������2�?���4����E�2�?���4��2�/��� ���4�����

 ��� 4������  �� ��� �4��&�� >���  �4�� ��  ��� ���24�� $�� ���  ���2���� K#�����

��24����� ������4��&�L�

� 0����� ��� ��
�	:�/� ��� �������  �� #���������$�  �� ��$� ��4�$�  �� �����($� $�!��� ���

4������  �� ��$� �4�����$� �$�  �!��/� ��2����$� ��� ��$� ��4�$�  �� �����($� )�����

��2������ 4��� ���� 4����� ��� ��� �2������ �$4��� �E� 2������$� >��� 4��� �����

�� ��������#������������ ������>��������"��������/������$���� ������� ���$�$� �$�

������$�$��B� �$���������� ��$�������� �������4��&�� ��#������� �������4��&��

 ����24��/�

��� ��� ��$��  �� ���� �4��&��  �� #����� ��$�  �$� ������$� �24�"��� ��� #�����  �� ���

�4��&��������2�$2��$���� �E� ��2������>�����2����$������$���4�$� �������($�

)��B�� �$2����������24����� �����4��2�E�?�#���#��$�/���������$�� �������4��&��

 ����24�����$����$��������$� ����$�������$�$���������4��$��$E� �2���� �����

2�?���#������$4��� �� �� �������&��$�!��� ��� �$2�����&�� ���#������������  ��
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��$�4���������$�!��������$�������$/����$�������2����E���2����$������$� ��4�$�

 �������($�$�%�������B����2����$�������4��2�E�?�������������/�

� ����������/����������� �� ��$� �#� �� �$�$�!��� ��$�4��2�$� �� ��$��4�����$��$�

���� >���  �$2���?��� ��$� 4��2�$�  �� ��$� �4�����$�  �� ��24��� ?� ��2������ ��$�

4��2�$�  �� ��$� �4�����$�  �� #����/� �� �� ����E�  �!� �� �� >��� 4���� ��������� ���

#�����  �� ������� )�!1�� >��� �����%��� ��� 4������ �������  �� ��$� �������$� 4��� ���

 �#� �� ������!���/���������$�� ����$��4�����$� ����24���$�!�����$��������$�

>���#�?�����4�%��� �#� �� �$E�$��4������$��#��B��� ��� ��������������������&��

>��������$�4�%��/�������&���$�>����$��� �#� �� ��������2��B�4����� ���4������

 ���������&����� 1�����>���#���������4��&�E�4������>���$�����)�!��$��������������

>��� )����$�� #������ ��� #�����  �� ��� ����&�E� ��� #�����  ��2���� �� �� ������� $��B�

���������  ��� #�����  �� 2���� �� ������E� ��� >��� ���� �� ��%���#�2����� ��� ����

�4��&�� ����24��� ���������$/�

�

��������!���5�$��4��$����������� �����$�2���������$�2�#�2�����$� ����$�4��2�$������

2� ����������$������$�#����!��$�>��������?��������$�4�����$� ����$��4�����$��

�

#
$�
�0���& 
%�	����
����� ��	
��

#������ ����������$������� ����������$������

�	����� ����"!#
������ B���������� ��<8=� 
���� ������	
	���<;=�

�	����� �����	������ 
���� ������	
	��� B���������� ��

1������
�������������� B���������� �� B���������� ��

5��
���� 
 � B���������� �� B���������� ��

1����� ������	*�� B���������� �� 
���� ������	
	���

���� �� ��� 
���� ������	
	��� B���������� ��

C.D 6����2����� ����������4��#���������2����� �����4��2�/�
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C+D 6����2����� ����������4��#�������� �$2�����&�� �����4��2�/�

6���#����������� �������4��&�E���$����$%�$�2B$�����#����$�#�����$������#������&�����

��$�4�����$� �������#��$�!?�������?����#������� � � ��($��$/�

68�8� '��������� 	:��
�8��

���4��$��������� ����$�4����$����������$��$�B��4���� �$4��$��$����24�$�!����� �$�4����

��24����$�$��!��%������$�������������$/���� ������ ���7�$���������$%�� ���������4�����

���$���$� ��#��$����$� C��4����E� ������$�$E///D� ��� ��$� 4����$� 4��#�$��$� 4���� ����/� ��$�

��������1$����$�4�����4���$�$������

� '�� �� $��%��� ��2�� ���$���������  ��4�($��2�$�  ������$E� ���$%�$�  �� ���2�� ��

����$��4��������$������� ��!������/�

� '�� ��$���%�$����� �������#($� ����$��!����2������ ���12���$/�

� ��$�4(� � �$�4���������$�$��������� �$�?�$����2���������24����� ���4�����4���?�

 ����$�������$�$���$���� ����$�������$�$E� �4�� ��� �� �����4�� ��4�� ����� ��

>���$�������/�

������� ������$%�� ����( ����4�� ��� �$���%���$����$�$�%������$�2� ��� � �$��

68�8�8? '������������
	���	
����������
�
���
�8��

��� �������� �� ��� ��4��� � � �� �������&��  �� ��24���� ���� $�$� ��$4��$�!��� � �$�

������������$� ��� ��� 2�2�����  ��� #����2�����/� ��2!�(�� $��  ���2���� ���$%��  ��

$�$������&�E� )����� �� ����������� ��� ��$���  �� ���24������ ��$� �4��������$� 4��� ����$�

$�2�����$���������$���24���� �$/�������$%�� ����( �����7�$�����������%�� �����#� �� �����

�4�����&�E�4����4�� ��#������ ����� 1��������� �!� ������$�2�����$2�$� ����>�� ���&��

?�����2!��$�������#�������&����4�����$� ��2���� �� ����$��4��������$/�����74�$���&��

������$%�� ����( ������������������������4���� �� �!���������������$��� �����24�����E���

4�����$��������$� ��2���� �E���$��4��������$�>������)���#���� �E�?�4�� ����%����$��

2� ����������� �$� ����24��$���&��C��

����������
���D/�

�$E� 4��� �����E� ��� ���$%�� ��)������� �� 2��)�$�  �� ��$�  ���2��� �$� K��$���2����$�

 ���#� �$LE� �����!����� �$� ������  ��� !������/� ������ ��$� ��������1$����$�  �� ���$%��
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�$�2(������?��� ��� �E������ ��� ���$���M���2��������$���� �� ��>�������#������� � �

 ������24��2����������������������2����� ������4�����&�/�

��� �J�� ����������� $�� ��2���E� ������4���� �� ��$���$�$E� ����������� � ��>��#����������

!��������� >��� ��� 4�� �����  ���#� �� )�?��4�� ��� ��  �$ �� $�� ����������&�� )�$��� ���

#����2�����E�2B$E����$����$�E������$�����4��2�� ��� ���#� ��C��$�� ����$��4�����$DE����

>���������$����$�����$� �$4�����!��/�

��������$��������>���$�������������� ����)������24������������&�������1� ����!��$B����

���4������ ��)�?P��4��&��4������>���$��4�%��B����4��������4��2��>�����"�����2���� �E�?�

��� ��� 4����� �������� �� ��� 4������  �� ��� ����&�� �� 1� ���� $�!�� ���$� ���!��2����E� ���

>��!������4��������������E�$������2�$��� ���$����4��&�������24�������$�$��!��%������$E�

$��B� ��� 2������� �� !��������� 2B$� ��� 4��2�� >��� $�� 4�%&� ��� $�� 2�2����/� ��� ���

������� � ��$��� ��4�� ������������$�B�2�?� �2�� � ��4��� ��$� ���2��� �$�K��� �$�

%�������� �$L�

��� ��� ��$��  �� >��� $��4����!�� ��� ���$%��  �� ������4����� ����$�  ��� #����2������  �� ���

�4��&�E� $�� �!��B���%������ ���� ��� �2�$��� ��� ���������&�� �� ����4��&�� �� ��24��� ?�

��%�������� ���� ����� �2�$��E� ?�� >��� ��� �$��$� ��������$� !���������$� $����� �!��%��$�� ���

�2�$���������������>�� ����������>�����2�2����/������2!��%�E�$��24���$�����������B�

���� ���������������������������������� � �>���$��4����!��4����� �2������4��2����2�$���

 ��$�$��!��%������$�������$�?����4������>���$��4�%��B�������#���2�$��/�

68�8�8� '������(���8��

�$������������1$����� ��������� ������������$����$%�$����������$�?���$���������������$E�?�

$�4���� ��� ���$%��  �� ��( ���� >��� ��������� ��� ��$� �4��������$� ���� ���� � �$�  �� �����

4�1$� 4��� ������$������$� �"���$� ��� ���$%�� ��2������� )�!�����/� ��� ���$%�� 4�1$� 4�� ��

2�����$���$����2�����$%�� ������$�������������2�����$%��$�!�����/�

�$�������$%�� �� ��1���������4���������&�/���������� ���$4�J����� ��������2�����>���

��������� ��� ��$�  �� �$�  �� ��� 4�1$E� %��!��2����� ���$� ��� �$E� 4��� ������$������$�

 �$�����$� ������$%����2�������)�!�����/��
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��24��� �� ��� ���$%�� $�!������ ?� ��� ���$%��  �� ����$��������E� ���  �!�(� �$��  ���

������ ��� ���� ��� ��2������� ��  �� ���� � � ��� ������E� 4��$� ���� $���� � � 4�� �� $���

$��#��������>���$�$��2�$����$�������������������� �����$%��4�1$/�

6���$���� � ������2�����$��#�����>����4����������4�1$� �$���������$4�J�E�>���)����

����������4�%�� ����$�������$�$�?�4�����4������2��� �������E�>���B$����4�� ��)�������

���� ��  ��)�$�  �� �$� �$�(��  ���2��� �$� ��� ����$�  �#�$�$/� �$��� �������B�4��>��� ���

%�!��������� �$4��%�� �� �#�$�$���4��>��� ��� ����2��������#����� ������$�2��� �$/�

��� �$��$� ��$�$� �� ��� ��24�J1�� �2�$����  ��  �� �� ��� �$� �24�$�!���4�%��� ������$�$� ?�

4�����4���������� �#�$�� �$������ �����4��4��E�4������>���$���������������� ���2��� ��

�'����������0	�����	������/�


���� ���$��  �� ���$%�� 4�1$� �$� ��� ���2� �� �'������ +�*�	����E� >��� $��  ���#��  �� ���

���������$� >���4�� ��� $��� ��$� �������$� ��%���$� ������� ��� �$�� �� $�� �$���  ��� �� ���

4�%��� $�$�  �� �$/� '��� �����E� ��� ���$%�� $�!������ �24�����  �� �$�  �� �$�� �$� ��  ��

���� � �$�%�������� �$�4�������$/�

68�8�86 '�����������1������
������
	���8��

�$���� ���$%�� ��>���$�� ��>�� ������ �� ��$�4����$� �� ��� ����$����&�� ?����$�� ����!�� ���

������4��$����&�� 4���� �/� ��� ������������ 4��>��� ������� �� �4��������$� >��� �$�B��

��&����2����� �����!� �$� $��� ���$%��  �� ��( ���E� 4��$��� >��� 4��$����&�� ?�

������4��$����&�� �!��1����"������$�� �����2��$�2���B���/��

�$������$%���7�$����������>�������4�� ��4�� �������2���� �����>��������%�����4�����4���

 �������%���������4�%�E�?�$��������������4���$���������$%�� ����( ����4����E�������� ��

���4�����4�����������$�$� ������4�����&��

'�� ����������� �!������%���������� �����4���������������4���������$� ����$��#��������

 �������� �$��(�����$�������$�$��2�� ��4�%�$�������� ��>����������24��������>�� ���&�/�

��2!�(���4��������� ��� ��$�� �� ��� ������ �� $�2���1����� ����"�����&�� ���!��%������$�

��2�� ���$���������  ��  ���������$� )������$� C4��� 2���#�$� %��%�B����$� �� 4��� ��$�

��������1$����$�2�$2�$� ���$�$��2�� ��4�%��������� �D/�
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'�� ���4������� ��2!�(�� ���� ��$�� ��24����� $��#�� �/������� ��$�� ������#����� ��

�1����$E� ��� ���$%�����$�$��������� �����$����� ��� ����4��&�� ���������#�E� ?���� >��!������

$��B� ��� ��$���  �� ����������  ��)�� ������#�� >��� 4� �2�$� 4����$��� 4���� ��>�� ��� �����

�4�����&�/�

���$����������24��2��� �������4�����&����?���24�����$��)�� ��)�����������#���������

����� � �>���$���$4��������!��� ���������$����&�E����>�� ��B�2B$���2� ���>������������

����%�������2�� ����( ����4��������!�����������������&��?�)�����������������24��2�$�/�

��E�� �2B$E�����4�����&��������%�$����!��������4��>��������24�� ��� ��� �������2�����

�����24��������$�$��!��%������$�������������$E�� �2B$� �����$��� �� ����������&�����

>���$�� ������1������$E�$�������������� ���$%�� ��4�$�!��$�#���������$� ��4�����$� C��$��

�14���� ����$��������$D/�

������$%�� ������24��2��������2!�(���4�����������24��$� ���1����$E�?����$�$���������

�����$������������4��&�� ����$�2�$2�$/�������$%���$��%���2��������#� �E����� �E�4���

���$����4����E�$��)�?����24��2��� ��������������������#����� ����$�2�$2�$/�

68�86 '���������5�1����38��

����� ��� ��4��� ��>�� ��� ��� ��4��� � �  �� ����$���2��� ��� ����#�� ��� ������#�� �� ��$�

4�����$� �7�$�����$� ��� �� �� 2�2����/� ���  �� ���� �� �7�$��� ���� ����4��� � � 4����

���$�%���� �!��%������$�  �� ���"�$�  �� ������#�� ����$����$/� �$�  ����E� $�� �������� ��� (��

��2�����$��������� �������� �������$�$��1>�� �$�$���������$�������$�>���)������������

��� ��24��2������  �� $�$� �!��%������$/� ��E� 4��� �"�24��E� ��� ��#��$��� ���� ��� %����

4�>����� >������ #�� ��� ���� ����� � �  �$4��4������� ��  �� �������$� ��$4����� �� ���

 �2�� ��>���)�?�������2�2����� ����2��� �E����4� �B�������������$��4��������$���

��$�4�����$� �7�$�����$� ��� �$��2�2����E� $���� >��� $�� )��B�� ��4�����$� $��$�!��2�����

2B$�!�"�$/�

'�� ���!$��#��$�� �$ �� �$�4��$4����#�$� �$�����$��

68�868? 5�1����3�����)�	����8��

��� ��������2��������$%�� �����4� ��� �$)������������������4�$���&�������24��������

2���� ��������2�2����� � �E�$����24������������4������ ��2���� ������������$��� ���
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����$����&�/�'�� ��$������$� ��4���������$��!��� � ������$�2���� �$E���2����� ������

��������������&���7�$���������������$�4�� ����$�?�2��� �$/�����#��M�����$� ���� ��

���������������&����������$� �$�����$�2���� �$�?�$�$���$4����#�$�4����� � � �$���2�����

4����� �� ��$�4�����4���$�4�� ����$E��$1���2������$� �������$/�'��� �����E� ��4��$��������

���$%��  �� 4(� � �� 4���������  �� #����� >��� 4� �1�� 4�� ����$��  �!� �� �� ��� �$��$��

4����� � � � ���2���� ��������2�2����� ����2��� ��?��������4�� ������$4��1����/�

��2!�(�� $�� �$����� �$��� ���$%�� ���� ��� 4�$�!��� � �  �� >��� ���� ����$����&��  �� %����

#���2�����������$���2�����4����������4�� �������������������24��#�$�!���������4������

 �����$���2����/�[$����$������$�� ���4��������$�������������"��4��#� �$����2���� �$�

 �� �� ��� �$�  �2��$����$P� ��� ���$������&��  �� �������$� >��� �����4�����  �� ���2��

$�%��������#���$��$��1����$��������������$%�E����>���$�������� ��4���$��%����$E� ��)�����

$�!������4������ ����$�2�$2�$���4������ ����$�4��2���$���24��$/�

68�868� <���������
����������������������1����38��

���%��  ���  �$��$�� ��24����� ��� ��$� ���"�$�  �� ��"�� ��  �� ����$� � �$� �24��#�$��$�  ��

��$����1�E�!����4������ �$�J�����4��4�� �� ����$��4��������$�����#�$�?�4�$�#�$E�!����

4��� ����$� � �$�  �� ��>�� ��� ���4��#�$��$/� ��� ���� ���� � � ������ >��� )����� ��� 4�%��

 ������ �������J�E�?����������#���������>���$��4����� ��)���������������4�%�����������

��#���� �������4����� ���������J�$E�4�� ��>��������������4(� � �$E�4��$���>������ �B�

>��� ����4����� ��� ��#��$�&�� ����$�  ��� #����2������  �� ���2�$2�� ?� ��� $�� $�!�� �� >���

4������$��)��BE�$������4��$#��1�$E��������2�$2��#�����������2���$#��1�$/��

68�8@ '������&��	�
������&��	�������������0���������G��

�$� ��� ������ �� �� ��$� 4(� � �$� 4���������$� ��$�������$�  �� $�$��2�$� ��� ���� �$� ��

����������$�  �� $���$�$� ���$4��� �$� ��������� �$� ���� ��� ������$��������� �4�����#�� ?�

�������%1����������?��7�����/�

��$���������1$����$�4�����4���$�$����

� 
������2���������$�����������!��/�

� ��4�� ��  �� ��$�  ���$����$� � �4�� �$� $�!��� �$4����$�  �#��$�$� ����$� ��2��

$�$��2�$E�4��$����E�4���� �2�����$�?� ���2������&�/�
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� ���4�� ��2���%���2� ����������������2������ �����4��������E�����$��!����2������

 ����������$��7�����$����������$�?�������!�����&�� ��4����$� ��������%������

������� ���$��$����$%�$�$�������?����

� 9�
�	�3�������� ��
�	���� �� �#
�	���/� ��4��$����� ��� ���$%��  �� >��� ��$�

����$�������$� 4����$� �$� $�� ����������� ������  ��� 2����� �4�����#��

�������� �E�!����������4��4������� � ���������4��������������/�

� ����)��
���
�/��$���� ���$%�� ��>������$��4�� ��4��$������ ��������2�����

���� �����2���&�E�  �!� �� �� ��� �7�$�������  �� ���� �����2���&�� ����24����E�

�������������4���4(� � �� �����2�$2�/�

� ��
�		����
���������	����������������	�������/��$�������$%�� ������4��� � �

 ��4����$��� ��$� ����$�������$�������� �$� �!� ���� �����$���� ��$�$�$��2�$���

�>��4�$E�)���%�$E� �$�$���$���������$E����/�

� ��
��	�������4�����/��$�������$%�� ��>������4��$����E� �����2������������ ����

��E� ����24��� ��$� 4��1����$� ?� 4���� �2�����$� �$��!���� �$E� 4����� �� ���

4���%�����$�����#� � �$��4�����#�$� �����$/�

� '���	���� !�)����/� ���%�� 4��� ��� ������  �� 4��$����� � ���� �� �� ���

$���������2����� ��4����� �� 4���� �"������� ��$� ����$�������$E� 4����$����$� ?�

�"��������$���!���$� ���������/�

� <	����� E� �������
�� ��� ��
�	����/� � �$��� ���$%�� $�� ���$����� ��� �>�����$�

������$������$����>������4��$��������M��4����������4��4��E�����4����� �����

���$�����&�� ����$�!��������$�4��$�����$�����$� ������24��$�������� � /�

� "		�	/��$�������$%�� ��>������ �$�����������2������4���� �$��� �$�2!��$�$�

�7��$�#�$����4�� ���$�������4��� �$���������4������2����/�

� <�4���
�������	����������	����
�/�'�� ��4�� ����$��4�������$�� ��2� ���$�

 ��#�������&�� ����������$E�$��2���4�����&������ ��������� ������������&�� ��

��� �������&������� ��)�$�2� ���$/�
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� <�����/� �$� ��� ���$%�� $��%� �� ��2�� ���$���������  �� ��� ��2!��� ��� ��$�

4��1����$��24�$���#�$��������������4������&�� ����$�2�$2�$/�

�  ��
�*��/� �����$4�� �� ��� ���$%�� >��� $��%�� 4��� ��� ��%�$���� �����!���

����������E�  �� ����� �� ���� ��� �$��!���� �� 4��� ��� ���2���#�� $�!���

 ����2��� �$� �4��������$� ?� >��� ��2�� ���$���������  �� ����� $�� ���%�����

#���������$�$�%��������#�$������������2���&����������?��7�������������� �/�

� (	�����)���
���������
	�����������/���4��$�����������$%�� ��>���$��4�� ���

4�� �����������$E������$�����1 �$������$�$�$��2�$�������� �$������%���$� ����$�

$�%������$� ���4�$� >��� $�� ���2����� �� ����������&�� ?� >��� $�4����� ���$%��

�4����������$����4���$1�2�$2�$/�

� '����
	����� ������	���
�/��$���� ���$%�� ��>��� ��$��4��������$�

��� $���� ��%�$��� �$� �� ��� ��� $���� ��������2����E� ���%���� �� ����

�����2���&�� ���&���� �������  �� ��� �74�$���&�� ��� ���$%�� ?E�

���$�������2����E�������4�$�!�����2�� �� ���$����$� ����%��������&���$/�

�  ����	)���
�/� ���$����?�� ������ ��� ���$%��  �� >��� ��$�  ���$�

���&���$� ������4�����&�����$���� ������ �$E���������$����������2�2�����

�4������E���2��>�����$��4��������$������%�$��� �$����$����� �������� �$/�

� 5�1������
�/� �$� ��� ���$%��  �� >��� ��$� ��� �$� �� ����#�$�

����������$� �������� �$� ��� $���� ����!� �$� �� �����%� �$� �� ��� ���)��

�������� �E������$��������������2����/�

� 9������������/������"��������$%�� ��>������ ������������$�!����$�

$��������$�!��$���4��$����� ��������� � ������������ �/�

� 9������ �� ���� ���
�)��/� �$� ��� ���$%��  �� >��� ��$� ��%�$���$�

�����!��$� ?� �4�����#�$� ?� ��� ��4��� � �  �� 2�#�2�����$�  �� ��� �$� $����

����$�!��$���4��$����� ��������� � ������������ �/�

� /���	���
�/��$���� ���$%�� ��>��� ��$�4�$������$�$����#����� �$�

����������2����E� 4��� ������  �� 2� ���E� 2���4�����&�� �� ���������&��  ��

4��B2����$���� ���� �$/�
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68�8� '������5����8��

���4��$��������� ������4�������� ������ ��������� � � ��%����� ��%���������4���� ���������

��������$����&�E����4� �(� �$����24���������������������$��(�2���$�4��#�$��$/�

������� ���$��$����$%�$� �������?����

68�8�8? '�������������)��
���
�8��

����2����$�����24����$E�����������$����7���#�� �$E���������7�$������� ����$�2�$2�$/�

��� �B�� ���� ���� ������ ��%���#�� ��� ��� ��4��� � �  ��  �$��������� ��� �4�����&�� ��� ���

���2��4��#�$��/�

68�8�8� '������������������
�������������������������8��

�$�������$%�� ��>�����������$����&�����$���#B�� �����"�����!�����������&�� ����$���?�$�

>��� %�!������� ��$�4�1$�$�  �� ��$� ������  �� ��$�  �$�����$�4����$� ��  �� ��2!��$� ��� ��$�

2�$2�$/�

68�8�86 '�����������������������������
	���	
��8��

�$� ��� ���$%��  �� >��� ����  �� ��$� 4����$� ��� ���%�� ��4��� � � ��%��� $���������� 4����

��24��2����� �� $�� ��$������&�� 4��� ��$� ��������$� >��� �������� �� �� ���$��  �� ������$�

��$���������$����2���#�$� ���4�1$/�

68�8B '������	��������������������8�

��24��� �E���2��$����2!����� �������� �$���$����$%�$���$�����$/��$�����4�� �����$%��

�$E� 4��� �����E� �$4��1�����  ��� #����� ?� ��� ���
�),
���8� '���� ��2!������� $�� ��������

���2��2����� ��� �(������  �� ��24���� #�����$� >��� $�� $�4�����  �#���� �$E� 4���� �$1�

��4��$���������#�����������#��?�#�� ���#�����$��4������2�����$�!��#����� �$/��

�

��8 "
��
������������
�

'���� ���������� ��� ���$%�� �$� ����$����� $�!��� ��B����  �� ���
�),
���� ������ ��� ��4��

4����������  �� ���$%�/� ��$� ���$%�$� ��� ���
�),
����� ��?�$� ��$���� �$�  �� ��� �2������
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�$�B�� �������$� �� ����� �� ���#($�  �� ��$� ��$���2����$E� 4�� ��� �� ����$�� 4���

 �#��$�������&�/� ���  �#��$�������&�E� $��� �2!��%�E� $&��� ��� ���� ��� ���$%�� �������� ��

��$� 2�?���$� ���$%�$� ���������#�$/� ��� �� �$� ��$� ��$�$� �$� ����$����� 4����%��� ��$�

�$�����%��$/� �$� �24��������  �$���%���� ��� ���$%�� ���
�),
����  ��� ��� ���
�),
���� 4����

 �$��������������$�����%����4��4�� �� ����#��$�&�/�

'���� #��� ��� ��������2������  �� ��� 4�������&�E� $�� ���$� ���� ��� $�%������� 2� ����  ��

������� M����E� �$�2��� �� >��� ��� �������  �� ���$%�� $��  �$��#���#�� $�%M�� ���������$�

 �����������$� �$���B$����$/� 6�� �"�24��� ������  �� �$��� ��4��  ��  �$�������� �$� ���

 ���2��� ���(	������'�
�!����=?HI�2��4�������2� ���� ���������M�����</�

���$��������>����

9�<����#��� ��A������ ����#��� �����$%�/�

9�0�����24��

9\E]��	� ���?� �$#����&���14���� ���������� �����$%�/�

9� �̂�8����!������������� �� �$���!���&�����2��/�

9�(	E�J	���'��2�$��74��$��$����2�$2��������� �����$%�/��

����������$�� �$�������� ������� �����

�

ωσµ ��
�< += � C3/3@D�

�

��� ��� 4������(	�  �� ��� #�����  � �� �$� ���� �����&�� ���������  ��� #�����M����� ?�  ���

���24�/���%M�������2�� ��_��E����4������ ���#�����$��1���

�

( ) ( ) ( ) ++++. �<<(�

(�<<(�( 				 ∂∂+∂∂+∂∂= � C3/3:D�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�@+�9�

�

��$����?�� ��?��%��4�� ��>�� ���

�

( ) ( ) ( )[ ] ( ) ωσσµ �<(�
<(
(<(�( 					 ∂∂+∂∂+∂∂+∂∂= ++++. � C3/0,D�

�

'��� ���>������4��2���2��2!����$� ����2���$��E� ��4��$����� �� ���4��2�� �� ���$%�����

�����&�� ��� ���24�� ?� �4�� ��� �� $&��� ��� ���24�E� ?� ��� $�%�� ���$� �$���B$����E� �$�

 ����E�  �4�� ��  ��� ����E� ��4��$����� �� ��$� #���������$� 4���� ��� �������  �� ���$%�/�

���$� ���� ��>��� �$�#�����$�$��)�������74��$��$����2�$2�������������4�����$�(	�?�

J	���$4����#�2����E�?� �� ��#�����$�#�������$4����#�2���������$� �$�4��2�$� �����$%��

>�� ����

�

( ) ( ) ωσωσ �<J��<(# 		 ∂∂+∂∂ II � C3/0.D�

�

���%������$�����%��� ����#��$�&��=#���2�#����� ���#� �� ������74��$�&���

�

( ) ( ) ,II =∂∂+∂∂ <J�<(# 		 � C3/0+D�

�

'������>��E�$��$����24��� ��)����� ���&�E�$���$���B������2�������!��� �����$%�/�����$���

M���2�� �74��$�&�E� K(	EK<� �$� ��� $��$�!��� � �  ��� 4������  ��� #����� �� ��$� ��2!��$�

2��%�����$� �����#��� ��������E������$�������&������������ ���#����/��

'����>�������74��$�&�����������$���#B�� ��$��������>�����24����>�������������$�����2M��

�� �2!�$� #�����$� C �!�� $��� $�$��2B����DE�  ��2� �� >��� ��$� ��� �2�����$�2��%�����$�
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�$�(�� 4�������2����� ������������ �$/� ��� ��$�  �$� #�����$� �$��#������ �74��$��$� ��

�������$� ��$� ����$� �$4��1����$�  ��� #����E� �$�  ����E� �� ���$%�$� ��� $�$��2B����$E� ���

4�������&�����2����1����� ������� �����$%����2M��4���������$����$%�$���$� ����$� �����

�������/��

����$�����%��� ����#��$�&��#����� ���#� �� ������74��$�&��C3/0+D��$�$&�������4�������&��

�����/� ��� %������E� K(	EK<�  �4�� ��  ��� ���24�� ?� 4���� �$�%����� >��� ��� ��������

4��2������������ �����$%�E����4�$���&�� �!���"�$���$����������2����/�������4�B������

�$��� ��� �$� �����!��E� $�������B� �$�� ��� 4��!��2�� ���� ���  �$������ ���>����!����  �� ���

�������/��$����?� �����$��!���������$���� ������$� ��4�������&�/�G�!��� �����2��� ��

��$� ������$�  ��4��2��� �� ��� �� ���#($�  �� ��� �$��!�������&��  �� ��� �74��$�&�� C3/0+DE� ?�

������ �����$�%�� ���� ���C�����#�7� � DE�$�����$�%������$���������$�4����2�"�����

���$�%��2�����/�

��� ��� $�� �"�$��� ��� 4�������&�� ��������2����E� ��� �������� �$�B� $�"���� ��� ���$%��  ��

#������� � E�$�������������� ���$���M���2�E�4�����$���� ������$� �����#�7� � /�

��$� �74��$����$� C3/3@D� ?� � C3/0+D� $��4�� ��� �4������ ��2� ���$�2��������������$/� �$�

 ����E� ��� 4��$������  ��  �$� �������$� ��2���$E� ���$� #�����$� $��1��� $���������$� 4����

���2�����������$%�/����$�%�� ��$���$��1��4�������2��������4��2����������?������������$��

��2!����1��������$�����$� �$�4�������2��������$�%�� ��������/���

���2���� �� ��� �������  �� ���$%�� ?� �$�2��� �� >��� <� �$� ��� ��� �2������  ��� #����E�

�������$� ��� �74��$�&�� C3/0+D� �$� ��� �$�����%��� ��2!��� ��  ��  �����&�� ��B$���/� ���

��2�������&�� ������� ��� ���$%��  ��� ��4��  �� �����($� $�� ���$�%��� ���� �� ��$�

$��$�!��� � �$� �����������������#�$�?�4�$�#�$�$����%����$/�


���� �����4������&��$�����$�%��� �"�� ��>���<� ��4��$��������2���� �E��������$�����

4�$���&����!��� �����$%��$��� >���������� �����$��$�!��� � ���������2���� ���$�����/�

�����$�2��E� ����74��$�&��C3/0+D� �$���!�� ��$�4�����4��$� ��4�������&�� ��� ���$%�� ��

2���� �/�

�
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�����$4������� �$������������%�$��&�� �����$%�$��$����� 2���$�����&�� ����$�2�$2�$/�

'���� >���  ��)�� � 2���$�����&�� ��$����� ���������E� $��  �!���  ������� ���$� �!"���#�$� ?�

���$���������$��$���� �$���($��$/�������������&�E�$��4��$������ �$���4�$� ����������$�

4�����!"���#�$� ��������$��

� &*4�
������ ����������&�� ����$� �$�����$���4�$� �����$%��

<����
��������2����������#��� ����������������#��$�&��������$%��

� &*4�
�����	� ���?�����������������$%��2� �����������$���2������&�� ���(�����$�

?�)����2�����$�

<����
��������2����������4�����4������!����������$%�E�2�����������?�����������

��$� ���$%�$E� %���������� ��$� ��� �2�����$� $�!��� ��4����� �� ��$� �������$��$� ��

� ������������$����������#�$�4�������$�%���������4�����?�2�"�������$���� �2�����$�

6���#���������� �$���$��!"���#�$�?���$���������$� ������ 2���$�����&�� �����$%�$E��$�

�24���������������E�4�$����4�$�E����4����$�� ���&2��$��� 2���$����/�

� ����
�������
�� ���� 	������� �����2����� �����$� $��� ��$� �74�$������$� 2B$�

�24�������$�������$%����������� � � ����B��$�$�C��2����E��24��$�������� � D/�

� "�������
������ 	�������������������&�� �� ��$� ��$��$��$���� �$��� ���$%�$�>���

?��)���$� ��� �������� �$/�

� +������
�� ��� ):
����� ��� ��� ��)����
	���
�� ���� 	������� ���)�� $������&��

 �4�� �� �����4�$�����>���$��>��������2���4�����#�����������$%�E�!����4�������

4��#����&��?��������� ��4(� � �$�C��2�� ��2� � �$���� �����$��� �$2���������

4��!�!��� � � �� %��#� � �  �� ��� 4(� � �DE� !���� 4���� ��� �������&��  ��� ���$%��

C�!$��!��� ��?���!���� ����$�4(� � �$�������$�4��4��$������$�$DE���!����4����

����$��������$����$%�$����$�� �� ��������$%��������$�C?��$���#�� ��� ���������#��

������$%������24��� ������
4��&�� �����$%�D/��
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� �)���)��
���
��������������
���'��$������2���)�� ����$� ���$����$�>���$��)���

��2� �/���

� '��������#������&��?���#�$�&��4���& ���� ����$� ���$����$���2� �$/�

�$��24���������������������24��������� ���2(�� �� ������$��������� ������$%�E�?��>���

)�?���� 1���$����2(�� ��2B$�������� ��������� 2���$�����&�� ������$%��?E���$��#��E��$�

���2(�� ��2B$��$� ������ ��$��������������$���2����$� ���#� �$/�

���2(�� �� ������$��������� ������$%����������������$� �2��$����$��

� (	�
����
������*�	
�	������� ���������&������ ������ ���������74�$���&��������

4(� � ������!��%����2!�(�������������������4�$�!��� � � ������%�������/�

� 9����	�)���
���Q���$�%�������4�%�������4��2��4�����#�����4(� � �$E��$� ����E�

4�%������4������ ���$�%���/�

� ����	��������
��� 	������2������  �� ����� � �$� $�2�����$�  �� 2��)�$� ����#�$�

�������$%�����#��� ��������������� �������#��$�&���������$���/�

�

.�� &'�
�
��;����
�� 
�
��
������������������
�

����$����4���� ��$��#����������������������&���7�$��������������$�4��!�!��� � �$�?���$�

�24����$� ����$����$%�$E��$1���2�����2������ ��������$���$�������/��

@8?8? '�����
����
	���	�*�*������������)���
����������	�������

��2��$��)��#��� ��$�J���� �E��$���� �2���������������2������ �����4��!�!��� � �?�

����24����� ����$����$%�$/�

����������� � E����������7����2��������4��!�!��� � �?�����24����� ���� �$���$����$%�$�

4�$�!��$� �$�2�?� ��1���/�
������2����� $&��� $�� �$4���� �� �$��2������$�4���� �2!�$�

#����!��$���?��4����$�&���$���2!�(��2�?� �����������������&�� ������$%�����$� ��� �/�

'�������������������!��� ���%�$����$��4�� ��������������4��$���������$/����$� (��$�E�4���

�"�24��E� >��� $�� ��2��� ��$� ���$%�$�'��� '4�� '�� ?�'�� C�����2�����  ��������� �$D/���� $��
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��������� �������>����� ������ �� ��$� ���$%�$� ���������� ����2��� ��4��!�!��� � � ��

����������� ?���� �24�����4��#�$�!��E� ?� ������ ����� �������>��� �$��$�#�����$�4�� ���

$���������4�B������2�?� ��������$E�$��4�� ������$�������12���$� �$�����$�C4����"�24���

��$���12���$�.�?�+� �����A�%����.@D/���4������ ���)1E�$��4�� �����$���������%�B�����2�?�

M���� 4���� ���������� ��� ��2��  ��  ���$����$�  ��� %�$���E�  �� ���2�� >��� �$��� 4�� ��

����������$������� �$�����$����������M2������2��� �� ����$�2�$2�$/��

����$�����$�E�?����� ��� �������A�%����.@E�$�����$����2����12���$�$����� �1�������������
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���$� ���� ��>�����������$�������$���2����$�4��!�!��� � �$�$��2��#������������%��

�24���E� ���  ���$�&�� >��� ������ >��� ��2��� ��� %�$���� $�� ��24����� ?�  �"��  �� $��� ����

�#� ����������$��1������$�����%���2B$�� ���� �/����%����2� � �E� �4�� ��B� ���%�$����

?� ��$�������� ���������������������������$%�/�

��2!�(��)�?�>�������������������>�����$��$�� �$������������ �$����4��2��������������

� ���� �2����� ��$� 4��!�!��� � �$/� ��� $�� ����������� ��$� #�����$� ���� 2B7�2�$� ?�

21��2�$E� 4�$�!��2����� ��$� #�����$� �$4��� �$� $�� $�����1��� ��� 2B�%���$� >��� $��

$���4��1��/� ��� ���$���������  �� �� �� ����� �$� ���� 2�?���  �������� � 4���� ��� ��2��

 ���$����$/�
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��� �������  ��  ����2��� �$� �4�����$�4�� �� ��4��$�����$��2� ������ ��$�  ���2��� �$�

2������$�  �� ������$/� ��� A�%���� .:� >��� $�� )�� ��4��$���� ��  �$���!�� ���� �$���������

%��(����� ��2������ ��������$/����)�����4��$���� �������$�����$���$�4�$�!��$��4�����$���

$��������$����2���$� ���%�$���E�$�$��$�����%��$�C��E���E////�	DE�?������$�����2��$����

���"����� ����������2�����$�$�!�����$�>������%�$��������������������� �������4����>���

�����?���  ���$�#�2����� ��� ��$� ��$���� �$�  �� $�$�  ���$����$� C�.E� �+E///��D/� ���

$������&��  �� ���� ���������#�� ��� ��� ��$��  �� >��� $�� 4�� ����� ����  �� �$��$�

��������2�����$����������$��������$�2�?� ��������$�$�!��������%�������&�/�

'�������$����������2������ ��������$�$�� �!���� ������������$�$���������$�$�!�����$�>���

��� $�� ������ �������/���$4�($� $�� $���������� ��� ���"�����  �� �$�����%��$� >��� $��  �$���

� �4���/��� ������ ����$��$�����%��$��24������ �4���� ����2��� �$����$%�$�>���$��B��

 ��������$� ��� �����&��  �� ��$� $���������$� �7�����$� >��� �����2����� $��4��$�����/� ��$�
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@8�8? ��������������	���
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���= 9�(G� ���
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���2� ���� ��#�������&�� �� ����#�$� �� ��4����E� ������ ��4��� ��$� $�%��$���	'E� ����

 �$������� �����%������2�����4����)��4�E�F /�A/�C.:;3DE�4������ �� ����$� �$�������$�

��&����$� 4��#��$�  �� 	��<�=���E� G/� ?� ��!��E� */E� ����� ����� �� ��� ��� ��B��$�$�  �� ���

$������&��  �� �������$� &4��2�$� ��� �����4���  �� �>����!����  �� ��$� 2���� �$�  �$ �� ���

4��$4����#�� ����� �2�� �/��

���4��4����)��4�E�F /�A/����������>�������$� �����4�!������&�� ��$�����1�����������&�

���� #��$�&�� ���������  ���2� ���� ������� ��4������?���E� */� �/� C.:;.DE� ��� ����� ������

���%&���4�!�����$�/�

	��)�$�������$�)��� ������� ���4���������$����$���2� ���E� ���7�!������ �� ����%����

2���������$�$�4��$��$E���%���� ������$�2�?���$������#�$�������2� �������%����/�

��$��4���������$�2B$� �$���� �$�)���$� ����$� ���������E�*/�C.:;5E�.:;:DE�	�$$��/�*/�

C.:;;DE� A�2�E� �/� A/� C.:;@DE� ����<E� A/� C.:-+DE�	�?��$E��/� C.:-+D� ?�	�����E� �/� �/�

C.:-3D/�

@8�8?8? 5�� ��	
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�
�)�� ��� )�	����� �� ��� �1����*	��� ��� ���� )�	������

��������	��8��

���K�����2�� ����4�����&�� ��A�� �$L���������>��� ����������� �� ��#��$�&��&4��2��

4��������>�������#��$����#��$��������$%���$�B�$���� ��$�!������ ���2��� ��K�1���� ���

2���� ��  �� ��4�����$LE� ��2�� ��2!�����&�� �������  �� ���  ���2��� �� K��������  ��

2���� �L�?���� ����2��� ��4�������"�� �������� �� ������#�$�2��������$�$������$%�/��

���$��������>����

9�������$��������� ������������� �����#��$����/�

9� )��A�� �� ������#�$�2��������$��������$%�/�

9�<��A�� �� ������#�$�2��������$�$������$%�/�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�:,�9�

9� �λ ��'�������"�� ���4����2����� �����#��$���>�����#����������������� ��2���� ������

���$%�/�

9 #4( �� 	�������� �����E� ��� �(�2���$� 2��������$E�  �� ���  �2�� �� ��� ��� 2���� ��  ���

����#� 4#
U /�

9 �( ���'����2������������� �����#��$����������(�2���$�2��������$/�

9�/4���8����� ��2���� �� �������#��$�&������������#� 4#
U �/�

9�()��'����2�������������#���� ��4����� �$���$���#��$���$�������2���� �/�

9�  )( ��'����2�������������#���� ���������$%��4����� �$���$���#��$���$�������2���� �/��

9��D�?�����8888��)���#��$���$� ���2���� �/�

9�4D�?����8888��������#�$� ��������$/�

����$��������� ������������� ������>�������#��$����� ( )�- E $��4�� ���74��$�����2���

�

( )<  �)��- λλ ++= .E � C0/.D�

�

���%�E� ��� 4����2����� ������ ��#���� �� ��� ��� 2���� �� #�� �B�  � �� 4��� ��$� )�

4����2����$��� �#� ����$��

�

�
=

=
)

�
�) ((

.

� C0/+D�
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������������ � � ���4����2����� ���� ����#��$����E� ������� ����������74��$��E� ���%��B�

����4��4����&�� �λ ��� ����������� ��2���� �E�4������>������4����2����������� ��#���� ��

�������$%�� ( ) )( �4�� ���74��$��$����2��$�2������� ����$�4����2����$��� �#� ����$�

��#���� �$��������������� ��2���� ���

�

�
=

=
)

�
�� ) ((

.

λ � C0/3D�

�

'��� ����� 4����E� ��� #�����  �� ��4���������&�E� ��2!�(�� ��� �(�2���$� 2��������$�  �� ����

��#��$�&� 4#
U E� ����� ��4���/4E��$����#����� ��2���� �� ���$�� ��#��$�&�E��$� ����E� $��

4������ ������� 4��� ��� �M2����  �� �1����$� ��� ���������&�E� 4��� ��� >��� ��� $�2��  �� ��$�

 �$�����$�#�����$� ����4���������&���$����#����������� ���2���� �� ����$���#��$����$�����

���$%� ( ))/ ����

�

�
=

=
)

4
4) //

.

� C0/0D�

�

��� ��� ���&��  �� �>����!����  �� ����>����� 2���� �� ���$�$��� ��� ��� �%��� � � ������ ���

�������?� ��� �2�� �/���� $��$�4����>����7�$������$���<� ������#�$� ����������$� ��"� ��

4��#��2����E� ��2�� ���$���������  ��� 4�����  �� #�$��� �$�B����E� ���  �2�� �� #�� �1��

 ����2��� ��4�������24�����2���������>���������"����� ����#��$���$��$�B�� �$4��$��$�

�� ���%���)�������$�2���� �$��������$%�/����������E�4���$��4����E����$��1��2B$�>������

#�����  �� ��4���������&�� ������  ���2���� �/� ���2���� �� �$���1�� ��� �>����!���E� ?E� 4���

�����E� $�� #�����1�� �� ��$� 4�����$� ���������$� ���� �� ��� >��� ��$� ��#��$���$� �$�B��

 �$4��$��$�����#�����E�����(�2���$�2��������$E������� ���7����2������������#�����������

 ����4���������&�� ���2���� ���
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λ � C0/;D�

�

��$� �$�>����!���$�>���4� ������4�� ����$��������2���� ��$���"�$���1��E�4������ �� ��

 ����� �2�� �E���2����� ���� �$2���?�� �����4��4����&�� ������������� ��2���� ��

��� ��� 4����2����� ������  �� ��$� ��#��$���$E� ?E� 4��� ��� �� ��  �� ��� ������E� ���� ��$�

�����������$� ����$�4�����$� ����$�����#�$/�

��� �>����!���� %��!���  �� ��$�2���� �$� ����������$� ��2!�(��  �!�� �����"��$��4���� �� ��

���� ����$�����#�$�>�����24���������������� ��2���� �/�����#������ ��4�� ��������$�

9)� >��� �����$4�� �� �� ��� ��������  ��2���� �E� �7����2�$� ��$�4�� ��������$�  �� �� ��

���� ����$�������#�$��������$%����� ��)����������=�4)2��

�

)�)4)))) ����9 E////EE////EC +.= � C0/-D�

�

��� �24�����2���������>����� �� ��#��$����$���1�� �$4��$����� ��#������ ����� ������ ��

��$� ����#�$E� 4���� 2�7�2����� $�� ����� � � �$4��� �E� #�� �1��  ����2��� �� 4��� ���

4��4����&�������� ���4����2����� ���%� �������$%��?����4�� �����&�� ���� ��#�����������

��������  �� ���$%�/� ��� $�2��  �� �� �$� ��$� ��#��$���$�  �� ��� 4�����  ��� 4����2�����

�� �#� ����  ���%� �� �� �$�� ����#�� ��$�  ��1�� ��� �24����� ������  ��� 4����2�����  �� ��$�

��#��$���$���#���� ����� ��)������#���
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���� �E�4��������E� #4( ����2�������������E�����(�2���$�2��������$E� ����� �2�� �� ���

����#� 4#
U E�>��� ��� �B�>��� $��� �7����2����� �%���� ��� #����� �� ��4���������&�� �� ��)��

����#��4����>������2���� �� �����$%��$����������������>����!���E��������������� � �$�

��2�����4�����$��

�

4#4 /( = � C0/:D�

�

�
=

=
)

�
4�4)� /(�

.

λ � C0/.,D�

�

�� ��>��� 4)� ��$��������$������4������ �$���$�4������4����$� ���2���� �� ������#�$�
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�
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�
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4
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�

4)4) //� = � C0/.3D�

�

��� �� ��$���!�����������24��������������$�&��4��������������������&�� �������������

 ��2���� �������� ������$� ���>����!���� �� ��$�2���� �$� ����������$E� ?��>��E�4����

>���$�� (���� �!����>����!����C���%��!��� ���������?� �2�� �� ������#�$��������$%�E�?�

��� �� �#� ����  �� ������� ?�  �2�� ��  �� �� �� ����  �� ��$� ����#�$DE� �$� 4����$�� >��� ���

4�� �����&�� ���� ������#���������$%���������������� ��2���� ��$����7����2�����$��

4�$������(�2���$� ����4���������&��������2���� �� ������#�$��������$%���

�

)

4
4) /

/
� = � C0/.0D�

�

���4�� �����&�� >��� ��� ��� ��������  ��2���� �� &4��2�� C�������� ���%������E� >��� $��B�

���%� ��4��� �� �$� ��� ��#��$���$D� ���%����� ����2��� ������#��$��B� ���4�$�� �� ��)��

����#�������������� ���2���� �/���� ��)�$�4�������"�$���������� �����E�$���"�$���1�����$�

4�����$� ����$�����#�$�?����4�� �����&�� ��2���� �� ����$�2�$2�$E�)�$���>����������?�

 �2�� ����������%����$/�

��4�$��� ��>������2� �����74��$���4����)��4�E�F /�A/��C.:;3D����4��2�����������������

4����$�&�� ��� 4����$��  �� �"�$��$� >��� $�� %������ ��� ��$� 2���� �$� ����������$E� ���

��$���� �������� ���4����$��$��B���������������&�� ��������#��>�����4��$�����������"�����
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����������  �� �4������ � �$�  �� ��#��$�&�/� ��� �����������&��  �� ���  �2�� ��  ���

2���� �������$�����#�$�>�����24���������������� ��2���� ��?���������� �������($�4���

4�$�����>�����$�����#�$�>������ ���2���4����� �� ����� ���#��1��������� ��#�$�&�� �� ��$�

4�����$�  �� �$��$� ����#�$/� ��$� 4�����$�  �� ��$� ����#�$�  �� ��� ��������  �� 2���� ��

��2�����B�� ?E� 4��� �����E� $�� ��� �2������ �$4��� ��  �$2�����BE� �� ���(� �$�� �$1�

2�$2�E�����������#�� ����$���2!��������$�>��������?����$��$�����#�$/���$�4�����$� ��

��$� ����#�$� ��� ������ �$� ��� ��� ��������  �� 2���� �� !�"��1��E� ��� >��� $�4�� �1�� ���

��2����� ��$�$���� �2�����$��$4��� �$/�

��$�$���$�#�$���2!��$������$�4�����$� ����$���#��$����$���� ����B������$�$�%������$�

��#�$����$�  �� ��$�  ���$����$�  �� ��#��$�&��  �� ��$� �%����$E� 4��� ��� >��� ���#�$�

��2!��������$� ����#��$����$�$��)��B���������#�$E���2����� ��$�$� �2�� �$�?�����E���

$��#��E�%������B���2!��$����������$� ����$�4�����$/�

��� ���$���������  �� �$��� 4����$��  �� �"�$��� �$� >��� ��� ��������� ���������� ��� ��B� ��

����������$�E�$�%���� �����4�� ������ ������1���� ���2���� �� ����4�����$E�4������>��E�

$�%M���)��4�E�F /A/�C.:;3D����)�?����%�������&����&�����4��������2���>����7�$�������

M����� ��2!�����&�� &4��2�� �� ��������  �� 2���� �E� $���� >��� ����>������  �� ��$�

���������#�$�$���� �$�$�!�����������$����&��C>���������%�����D� ������1���� ���2���� ��

 �� ��4�����$� ?� ��� ��������� ���������� �$� ���� �������� ���������� ���%�!��� 4��� ����>�����

��#��$����#��$��������$%�/�
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�������>�������$�E�?��$���4�������7�$������� ������M������������� ��2���� �E�?��4������

�����������&�� ����$����������#�$����������$E������$���� ��������$��B����2�$2�E��$� ����E�

>��� ���4�� �����&��  ��2���� �� �� ���2� ���4�� ��� ��  �� ��$�4�$�$� ��� ��$� �������$�

�� �#� ����$E���$4����#�2����E� ���� ����#��$�&��)�!�B� �������� ����������4�$�� �����

��4���������&�� ���2�$2��$�!������2���� �������� ������#�$��������$%�/�

@8�8?8� L��

������	����������)������ 9(�8��

'���� ���%��� �� ��� 2� ���� �������  �� #�������&��  �� ����#�$� ����������$� �$� 4����$�� ���

������ �������24�� �� �������&��2� ������$�4��$��$�2B$���2���$���$������#�$E�4����

>���)���4��2��� ���!������������$����$����4��!��$/�

�������2�������$>��2����� �E�����?���2������74�������4���� E��/�/�?�F �$���E�*/�A/�

C.:@@D�?��������E�	/�C.:@-DE���$�$�4��$��$�!B$���$�$�!�����$�>����$�B����$���� �����
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2� ���� ��#�������&�� ������#�$� ����4����E����%������2����� �$�����$�4����)��4�E�F /�

A/�C.:;3DE�$��4�� �����$�2��������$�$�%������$�4����$��

� ��$� ��#��$���$� $��� �� �#� ��$� �#��$�$� ��� ���$%�� >��� 2�7�2����� ��� ����� � �

�$4��� �� ��� ��� $���� 4��1� �/� ��� �����&��  �� ����� � � �$4��� �� $�� $�4����

!�4���2(�����E�  �4�� ������ �7���$�#�2�����  �� ��� �$4�������2���2B����� ?� ���

#�������� ����$� �$���!������$����������$� ��4��!�!��� � � ����$���� �2�����$�

 ����$�����#�$�����������$��������$%�/����>��� ��)��$�4��$���4�� �� ���#��$��

 ����������&�� ������� � ���� �B����E� �!� ������$��24�������$������#�������$�

 ��  ��)�� �����&�� 4���� ��4��$������ � ���� �2����� �� ��� ��#��$��� ��������� ?�

�#��$�� ��� ���$%�E� $�� ���$� ���� ��� ���$��������� � �&%����  �� $�4����� >��� ��$�

��� �2�����$� ����$�����#�$�$�� �$���!�?������2��2����/�

� ��$� ��#��$���$� $���4�����9���4�����$E�4��$����� ���74������#�$�)�2�%(���$�

$�!��� ��$�  �$���!������$�  �� ��� �2�����$�  �� ��$�  �$�����$� ��#��$����$�

����������$� ���� ���$%�/� ����� 4��2���� ���$� ����� ��� M����� ���"�����  ��

�4������ � �$�  �� ��#��$�&�� 4���� �� �$� ��$� ��#��$���$/� ���)�� ���"����� �$�B�

��4��$���� �� 4��� ���  ���2��� �� ��	��
�	�� �������
��� C����E� 
/� +,,,D/� ���

�%���� >��� ��� ��� $�4��$��� ��������E�4���� >��� ��$�M����$� ��������$�  �� ������&��

������� �$�$�������2� ���?����#�������� ����$� �$���!������$� ����� �2�����$� ��

��$� ����#�$� ?�  �� ��$� �����$4�� �����$� �������$E� $�� 4����$�� $�4�����

 �$���!������$����2���$� ����� �2�����$/��

� �7�$������4�$�!��� � � ����#����������������#��2���������$������$%�E� ��2������

>��� ��$� ��#��$���$� 4�� ��� 2�������� ��� 4�������"��  �� $�� 4����2����� ���

��>�� ��� �� �� �� ��$�� 4���� ��2������ ��� 4�$��  �� ��� ��������  �� ���$%�/� ���

$�4���� >��� ��� )�?� ��2��������$� ����������#�$� ��� �� ��� ��>�� ��� ��� ���

�� �� �2�����E� $��� �� ���2�$2�� ��4�� �� �����($� ��!���  �� ���$%�� ��� ����������

4�����2!�$�4�$������$/�

� ��$������ � �$� �$4���!��$� �� ��$� �$�����$�����#�$� ����������$��������$%��$��

�������������"� �$���2������#����!����7&%�������2� ���/��� �$� ��$�����#�$�

$�� ���$� ����� ��%����!��$� ?�4�������2�����  �#�$�!��$/� ��� ���$� ���� >��� ��$�

 �$�����$� ����#�$� ��� %�������  �#� �� �$E� $���� $�24��2����� %�������$�  ��

��4����/�
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� ��� )�?� ���������$� ��� ��$� 2���� �$� ����������$� ?� $�4���2�$� >��� ��� )�?�

��$��$� ������$����&�/��7�$��������2���&����24�����$�!�����$���� ������$� ��

��$� 2���� �$E� $��� ��$��� ?�  �$4���!��� $�2���B���2����� 4���� �� �$� ��$�

��#��$���$/�

� ����7�$������%M����4�� ���24����������$�����$���2���24��$��$E���%��������$�

����$������&������$���������$�$�!���#����$���� �$��!������C4�$������$������$/�

��%���$�  �� �$��$� $�4��$��$� )��� $� �� ������� �$� 4��� ������$� ��������2����� ���� �$�

C������� E� �/� �/E� F �$���E� */� A/� ?� �������E�	/DE� ����� ����� �� ���#�$�  �$�������$�

����1����$�������2�������2� ���������$�$�4��$��$� ��4���� �� ���2� ���/�

����<E� A/� C.:-+D� ���2���� ��� $�4��$���  �� ��� �7�$�������  �� ��� ����#�� 2��������� $���

���$%�E������ ����� �E�4����������������E���������4��� ���������� ���*�
����	��8�

�������E� 	/� C.:-,D� ��24�� ��� $�4��$���  �� ��� ��� �7�$�������  �� �24��$��$E�

���$� ���� ������24��$���$�!������ �#� �� �/�

	�?��$E��/�C.:-+D������ ������������4��� ������#�$�����������$������%����!��$�4����

���$� ����� �>������4�����  ���4����2�����4��$����� >��� ��� ������� ��� ��$�2���� �$� ?�

>��E�4��� �#��$�$�2���#�$E���24������$���������$��������!��������%�����&�� �������������

�� �#� �������������E���2�E�4����"�24��E� ���#�#��� ��4��4��E� ��$�)�������$��E�2��)��

2B$� �24�������E� ��� ��4����� )�2���� >��� %�����E� ��� ��� 2�?��1��  �� ��$� ��$�$E� ���

4�����4��� ���"��  �� ��%��$�$�  �� ��$� ��#��$���$E� �� �4�� �����2�����  �� ��� ��������  ��

��#��$�&�����%� �/�

	�����E� �/� �/� C.:-3D� �24�1�� ��� 2� ���� �� ��� ��2��  ��  ���$����$� �������24�����$E�

 �� �� ��$� ��#��$���$�2�7�2����� �������� � ��$4��� �� ������$�2�� ������$�2�� ���

������#����/�

���$$E��/�C.:-@D�2�$��&�>������$�4��$��� �����2��� � �$��4�� ������"�����%���2�����

)���������$����� �$���!������$�>���$�%���4��2����� �����$�4�����&����� �$���� �$/�

@8�8?86 <�	)�����
������)������ 9(�8��

���� ��� �!"���#�� �74�1�����  �� �74������ ��$� �������$�  ����2������$�  ��� ��� �2������

�$4��� ��  �� ��� ����#�� �� �#� ���� ?� >��E� 4��� �����E� $��#��  �� )����2������ 4���� ���
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#�������&�� ����#��$����$� ������������%�$��&�� ������$%�E�$��4����������2� ����������

>��� $�� ��2!���� ��� �������� ����������  �� 2���� �� ?� ��� ����#�� �� �#� ���E� ������� ��

4��#��2���������$���������/�

���$��������>����

9� ����������� ����#��$�&��

7��������#���������$%��

9� (σ ����$#����&���14���� ������������� �����#��$���

9 (µ �/���� �2�������$4��� �� ������������/�

9� ��)�� '�$�� ��� �(�2���$�  �� ��4���������&��  ��  ��)�� ����#�� ��� ��� 2���� �� ������  ��

���$%�/�

9� -µ ���1���� ���2���� �� ����4�����$/�

9� )µ ����� �2�������$4��� �� �������������&4��2�� ��2���� �/�

9� )σ ����$#����&���$�B� ��� �������������&4��2�� ��2���� �/�

9� �	 ����� �2�������$4��� �� �������������2�7��/�

9� -σ ����$#����&���14���� �������������2�7��/�

�������� ��������$�4�� ��������$�>���$��)�����"� ��4����>����$�������������������� ��

2���� ��$����������������>����!�����

�

( ) )��  �#� −+= .U � C0/.5D�

�
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��� �� ��� ��� �2������ �$4��� �� ?� ���  �$#����&�� �14����  ��  ��)�� �������� #�� �B��

�74��$� �$�4�����$�$�%������$��&�2���$��

�

( ) )�� �� µµµ −+= . � C0/.;D�

�

( ) ( )[ ] +
.

++++ .+. �))�� ���� σσσσ −+−+= � C0/.-D�

�

��� ���A�%����+.� $�� ��4��$����� ��� ��%��� %��2(������ �� ��$� ��2!��������$�  �� ���$%�9

��� �2������  �� �$��� �������� �� ��� ��� >��� �� S� .� $�%�������1�� >��� ��� ������ � �  �� ��$�

��� �$� $�� ��#�����1�� ��� ��� ����#� �#
U P� �� S� ,� $�4�� �1�� >��� �� �$� ��$� ��� �$� $���

 � ����1��� �� ��� ��������  ��2���� �E�  �� � �#
U � E� ��� �%���� >��� ��$�  �2B$� ����#�$� ����

���$%�E� �$���B� ��4��$���� �� ���� ���� 4�� �����&�� )��) //� = E� >��� �$� ��� 4�$�� ���

�(�2���$�  �� ��4���������&��  ��  ��)�� ����#�� ��� ��� 2���� �� ������  �� ���$%�/� 8�����$�

��%���#�$� ����$�����B�E������#($� ������4�$���&�������E���������������������� �� ��$��

�$�B������4�� ���� ���������#�����������&������$��4�$���$4��1����/�

�

�
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����>����!���� �� ��$�2���� �$E���2��)��>�� � �� �2�$��� ����������2����E�#�� �B�

����������� �� 4��� ��� ��������  �� 2���� ��  �� �� ��� )�?� �7��$�$�  �� ������� ���  ��

 �2�� �E�4������>����������������� ��)���>����!����#�� �B���4��$���� ��4�����S�,E����

4�����  �� ���%������  �� ��� ��������� ���������� C��� ��� ��������  ��2���� �D� ���� ��� ��%���

%��2(������ ���$������������>���$��)�� �$�J� ��K���!��L�4�������4��$�������B��$�$/�

�����#($� ����$� ���#� �$� ����$��74��$����$� ������ �2�������$4��� ��?����#��������

 �� �$��� �������� ��� ��� �������� ��������$�2���  �� �� S� ,E� $�� �!��� �B� ��2�� #��1�� ���

�����!��� � � �$4��� �� ?� ��� ���$%��  �� ��� ��������  �� 2���� �� ����� #���������$� ��� ���

4�� �����&�� ��2���� �� ������ ����$�����#�$�>��������24������

�
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����������� ��2���� ���$����������������������E�?�� �2B$�$�����$���?����4������ �����

���%������ ���� ��� �1����  ��� 2���� ��  �� ��4�����$E� 4��� ��� >��� ���  ��)�� 4����� ���

4�� �������)�����!���� ��?����4�� ������ �� ��)���1���� �!��������� ��/�

��� �1����  ���2���� ��  �� ��4�����$� #�����  � ��4��� ���� �74��$�&�� >��� �$��!����� ����

������&��������������������� �2�������$4��� �����������������2�7���C���2� ��4�������

 �� ��� �$�  �� ����#�$� $��� ���$%�� 2B$� �����  �� ��� �$� ���� ���$%�D� ?� $��  �$#����&��

�$�B� ��/�'�������E�$����$���#��$���$���2���������4��4����&�� ������ ���������$%�����

$��4����2����������E���2�����4��4��������2����������� �2�������$4��� ��?�������$%��

 �������������2�7����������

�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�.,3�9�

-
)

�)
�-

	
	 σ

σ
µ

µ
−

+= � C0/+.D�

�

���%��$�� �!����24��������%��� � ��

�

( ) )

�)

))�)

)�
	

σ
µ

σσσ
µµ −

=
−

−
+

� C0/++D�

�

��$4�"�� ��4���� ��� ��� �2������ �$4��� ��  �� ��� ��#��$�&� �#
U E� $�� ��� �B� ��� $�%�������

�74��$�&���

�
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+
)

�)
�)�� 		

σ
σµµ −+= � C0/+3D�

�

�74��$�&��>���$������������������2!��� ����'	�?�>����� ����>��������� �2������

�$4��� �� >��� $�� ��� �7�%�� �� ����>����� ����#�� ���� ���$%�E� 4���� >��� ��$� 2���� �$�

����������$�$��������������������$������&�� �������������?� ���>����!���E���$������4�� ��

�����($���!��� �����$%�� ����$�����#�$�2��������$�2B$�����4��2�� �����$%�/��$���4��2��

#����� ����2��� ��4������4�� ����� ������ �2������� ��������>�������������2���� ��

���$�����"����� ?� $�!��� ��$�����#�$�2��������$E�4��� �������� � � �� ���$%��>��� ��)��

����#�� �����4���� �� ��� ��������  �� 2���� �/� �$��� ����� � �  �� ���$%�� $�� 2� �� 4��� ���

��������� ������ ��� ��#�������� ������ ��� ��� �2������  ��� ����#�� ?� ��� 2���� �� ?� ���

#�������� �� ��)��2���� �/�

���$���M���2�����������$���������������������2!��� �����������%���%��!��� ( )β E�4������

>�������74��$�&��>�� ��B��
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���)���1����������$���������)�!�����2��������������2!��� �������������)�	��������

��
�����8�

��� !����  ��� 2���� �� �$� �%���� �� ��� ��� � /� ����� ��$� 4��2���� )����� ���� 4��2����

���$�������&��  �� ��$� ����#�$� ����������$�  �� ����� �� ��� %�$��&��  ��� ���$%�E� �$�  ����E�

����#�$� ������� ���$%���$4��1����E�����!����2�?���>��� ������ � E� ?�����#�$�����!�"��

���$%�� �$4��1����E� ���� !���� 2����� >��� ��� ��� � P� ����#�$� �����1�����$E� ���� !����

��%���#�/�

��� ��� �2�������$4��� �� ���$��$� ��4�$� ������#�$� �4�� ��B� ������2����� ��� ���$%��

�$4��1����� ���� ������#�E�2� � ��4�����$�!���$E� ��2������>�����2�?���!���E�2�?���

���$%����$4��������4��4���2���� �E�?�2�?������ �2�������$4��� �/�

6��� 4��1�����  �� ��#��$�&�� �%��$�#�� $�4�� �B� ��� $������&��  �� ����#�$� ���� !���$�

2�?���$�>������E�4��������E������$�!� �$�������2���� ����$�����#�$�$����24�����B��

2�"���>������2� ��E�2������$�>��������1 �$� ���2���� ��$�� �!���$4����E���$1�2�$2�E��

4����$���$���� �$/�

6���4��1��������$��#� ���E�!�$� ��������!���� �� ��$�����#�$E�����$�"��B����$������&��

 �� ����#�$� ���� !���� 2����� >��� ��� ��� � E� >��� 4�� ��B� 4�����  �� ��$� $�!� �$E� 4����

��2!�(��$��#����B����4�� ������ ����$�!�"� �$/�

���$������&�� ��#�����$������1�����$E����>������������!��� � �$�2� ��$��$4��� �$�4���

 �!�"�� ��� ��4�� �� �����($� ��!��� �����$%�E�4��2���� ��$%��� ��$�� �� ��$���1 �$� �� ��$�

2���� �$� ��� �$4����  �� 2�"���$� ��� ������$� 4���� $�����$�� ��� #�����$� >��� $�%��� ���

$�� �� ����������21�/�

������������!�������������������4��4�� � �2�?� �24�������E� ��������� ������������&��

 ���2�$2����2��)����2������ ��%�$��&�E���2���$��������#� � /����!���� ��������������

�$� ��� ��2!�����&�� �������  �� ��$�!���$� �� ��$� ����#�$� �� �#� ����$�>��� ��� ��24����/�

�$1E� ����  ����2��� �� �������� � �$�B� ��24��$��� 4��� �� ����#�$� ���� ��$�

�����$4�� �����$�4�� ��������$�����%� �$�������#������9���

�
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( )�4� ����9 E///EE///EE +.= � C0/+5D�

�

���4�� ����24��������!���� ������������� ������� ���������$�%��������74��$�&����������

�

��44� ���� βββββ +++++= //////++.. �

�
=

=
�

�
��� �

.

ββ �
C0/+;D�

�

�����4��2����>��� $��4�� ��)�!���� �� �������$� �%��$�#�$E� $�� $��!���� �$�2�?���>��� ���

��� � P��������$� ���$��#� ���E� $�� $��!���� �$�2�����>������P�?� �������$� �(4����$� ���

2���� ��$��$��!�����$��%����>��������� � /�

��� �$��� 2�����E� ���� ��� �M2����  �� #�����$� 2B$� �� ��� �E� ���� ��$� 4�� ��������$�

� ���� �$E�$��4�� ��%�$��������������������������� ����2��*���!)�	�����1� ���� ���

2���� �/���� $��>������ $�%���� ��� �#�����&�� ���2���� �E� ��� ��2�$�>��� �������������

$������&�� ��#�����$�� ���� ��4����>������!����4�� ��� ����$��������$������E�$��� ��

��� ��� �2������ �$4��� ��  �� �$�� �������� ��� 2�$2�� >��� ��� ��� �2������ �$4��� ��  ���

2���� �/��

��� $�� �4��$��� �����2����� 4��� ��� ����� ��� ��$� 2���� �$� ?� ��� 4�����4�� ���� �����

#������� � E��������������� �B�>���$�������$����2���������������������!����2�?���>���

���E� ���� ��� >��� ��� ��� �2������ �$4��� ��  �� ��� �������� $��B� $�4������ �� ���2� ���  ���

2���� �/�

'���M���2�E� $�� $�� ������ $����$�  � �$� $�!��� ��� �#�����&�� �������  �� ��$�2���� �$E� ��$�

�������$� ���$��#� ���$E� ���� !���$� !�"�$E�4��2����� $�%���� ��� ��� ������  ���2���� �E�

$�������%����� �$���$�$�!� �$E�4������24������ �$���$�!�"� �$/�
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@8�8?8@ �'������������
	������������ 9(�����������������)�	��������+!�	��8�

�)��4�E�F /A/� C.:;3D� ����� �"������ $�24��������&�� ����1����� �24�������� �� ���)���� ��

���$���������2� ���������2(������>���4��2��������$��2�����������!��� � ��$4��� �� ��

�������#�������������7�����&����/��

"�� )������ ��������� ��� +!�	���� %8� <8� $�4���� >��� ��� ��� �2������  �� ��� ����#��

�� �#� ����  �4�� �� ������2�����  �� ��� �#�����&��  �� ���� $�����  �� 1� ���$�

��4��$������#�$�  �� ��� �����21�E� ��2�� ��� 4�� ����� ��������� !����E� ��� 1� ����  ��

4�����$E����������4����B4���E����1� ����!��$B���E����/����#��$�&��2B$�$�24��� ���2� ����

$��1�� �>������ ��?��M����� #����!��� �74������#�� ������ ���1� ���� !��$B���� >��� �����"�� ���

�#�����&��  ��� 2���� ��  �� #�����$/� ��� 4��$����� 2� ���� $�� ���2��  ��%����� 4��>���

�� �������2������ ����#�������$�>���4���� �� ���������������	��C�
3������ ��%�����

 �� ��)��2�����E� �� ��>�� ��������� �$���$�#�������$� ����$�����#�$/�

��� #��$�&�� $�24������ ��  ��� 2� ����  ��%����� 4� �1�� ��4��$�����$�� 2� ������ ����

������&�������2(������������� ��������2���

�

�

���
 �*�	 ε++= P� �� E////+E.= P� 0
 E///+E.= �� � C0/+-D�

�

��� ���

��
	 ���� �2�������!$��#� �� ����1�����4� ����������4��1� ��
� ������������/�

�
� �a� ����!��$B���� ����������2�$2��4��1� ��
/�

��� �6��� �� ��$�4��B2����$� �� �$��2��/���4��$����� ���4����� ��� ��� �2������ �� �� ��

����#����>����$��� �4�� ������ ������#�����&�� ���1� ���/�

��* � ��%�� �� 4��B2����� �� �$��2��/� �����"�� ��� %�� ��  �� �����$� � � ���� >��� ��$�

#���������$�������1� ����$�����$2����������� �2������ ����$�����#�$��E� ���2��B� �$��

���������
���������
������/�
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=�
ε �8����!�����������4�����!���&�����������E�����!$��#�!���?�$�!������>���$��)�����

����$����� ��$�4��$��$�����$����$�4��������$��2���&��21��2����� �B�����4�����������#��

4�������4��1� ��
��

� �$4������������ ������ ��� ( ) ,=�
" ε P� 0
 E///+E.= ��

� G�2��� �$���� � E� >��� �24����� >��� $�%��� ����  �$���!���&��

�� �4�� ������������ ��
���2�� ����������#�������� +
�σ /�

�

( ) ++
��
" σε = P� 0
 E///+E.= �

,E =�εσ �
C0/+@D�

�

� ��� �������������&�E� �$�  ����E� ��$� 4�����!������$� $��B�� �� �4�� �����$�

������$1��

��

,E.
=

−!
εεσ @� .E///E+E. −= 0! � C0/+:D�

�

� ���2��� � �� ( )/E, +
��
 - σε ≈ ��

���?���E� */� �/� C.:;;D� ����2�� ���2� ����  ��%�����  ���)��4�E�F /�A/� $�$����?�� �� ���

#����!��� �7&%����  ���1� ���� !��$B����4��� ��� ��� �2������  ��  ��)��1� ���E�  �� ����� ��

)�2�%������������������ �� ����$� ���$�������� �$��

�







)
 �

��
	

−
= +. � C0/3,D�
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�

���2������>������2� ���������� ����2������������)�	��������+!�	���>�� �� ��

����� ���������$�%��������74��$�&���

�

�
)
���
 	*�	 ε++= P� �� E///+E.= P� 0
 ///E+E.= � C0/3.D�

�

���2� ����!�"����$�$�4��$��$��74������ �$E�$��)���$��2� ��4������2(�� �� ��21��2�$�

��� �� �$E� �� �� ��$���!���������$�$�%������$��$��2������$�4������$�4��B2����$� ���

2� �����

�

)��� 	*	� −= �

+
)

�)
�* σ

σ
= �

C0/3+D�

�

 �� ���

��	 �	� �������2(����� ����$���� �2�����$��!$��#� �$� �������#��$�&�������$4�� �����/�

)	 ��	� �������2(����� ����$���� �2�����$��!$��#� �$� ���1� ���� ��2���� �/�

��)σ � ��#��������  �� ��� $����� )�$�&�����  �� ��� �2�����$�  �� ��� ��#��$�&�� ���� ��$�

��� �2�����$� ���2���� �/�

�+
)σ �8�������� ����$���� �2�����$��!$��#� �$� ���1� ���� ��2���� �/�

���������&���7�$��������������������������� ��#������� � � ( )�* � ���2� �����241����� ��

2���� �� ���)��4�E�F /�A/�?����!���� ���2� ������&�������'	��$���2� ����/�
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��������������� ��#������� � ��4��������2������$��2� ���21��2����� �B����� ���*�
��

����)������ 9(�E����� ��$�� �$4���� ����$�$����$�)�$�&����$� ����$���� �2�����$� ��

��$� ��#��$����$� ?� ���  �� ��$�  �$���!������$�  �� 4��!�!��� � �  �� ��$� �����$4�� �����$�

��#��$����$��������$%��C>����$����)�!�����D/�

"�� ������� ��� )�	����� +!�	��� �4����� ����� ������$�&�� �24�������E� ��2�� �$� ���

 �$��24�$���&�� ������$%�������� ���������#����� �$��������$���

� ������$%��$�$��2B�����

� ������$%���$4��1�����

��� ��� �74��$�&��2� ����� ��  ���2� ����4� �2�$� ��������� ��� #��������)�$�&�����  ���

����#� �#
U E��4����� ����$�4��4�� � �$� �����#���������

�

++++
εσσσ += )�� * � C0/33D�

�

��� ��$���!$��#����2�����#�������� ���������#���� �#� ����4�� ���74��$��$����2�����

$�2��  �� ��� ��24������� ��������� �� ���� ��� 4��4��� #��������  ��� 2���� �E� >��� $��

 ���2���� �	������ ���
�),
���� �� 	������ ��� ��� �����)���� ( )++
)�* σ E� ?� ��� $�%�� ��

��24������E� ��� #��������  �� ��� #����!��� ������ �� 4�����!���&�� �����2(�����E� >��� $��

 ���2���� �	������ ��� ���
�),
���� �� 	������ �����������/� ��� ���$%�� �$4��1�����  �� ���

����#�� �$�  �#��$�����!��� ��� ��� ���������  �� ���� �������E� ?� ���� �� �� ����� ���� �� $��

��2���������M2���� ������#�$� �����2�$2�/������2!��%�E�������$%��$�$��2B���������$�

 �#��$�����!��� 4��� ��� ��#��$��E� �$� ��� ��#��������  ��� ��� �2������  ��� ����#�� ���� ���

2���� ��%��!����

�

+

+

++
)

)

�)
)�* σ

σ
σσ = � C0/30D�
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�)�* σ=+ �

�

���� �$��� $��4�� �� ����2��� >���2������$� >��� ��� #�������� �$� ���� !�����2� � ��  ���

���$%��  �� ���� �������E� ��� ��� �$� ������ 4���� ��� 2� ���&��  ��� ���$%��  �� ��� ����#��

�� �#� ���E� ?�� >��� ��� �� �$� ��$� ��24������$�  ��� ���$%�� $���  ����2������$�4���� ���

��"���&�� ����������!��� � � ���������#�/��$����!���� �������#�E������#�������� �������#��

�������2���� �����������&��������� ���$%��4��4��� ���2���� �E� ���>��� ����2���E� ��

����� �� ���� ��$� ������$����$�  ��� �������  9(�E� ��� ��� �2������ �$4��� ��  ��

����>����� ����#�/� ��$� ��� �2�����$�  �� �� �$� ��$� ����#�$� ����B�� $�!��� ��� �1����  ���

2���� �� ������#�$E���?��M�����#����!����� �4�� �������$����!���/�

@8�8?8� �9��	
���
�����$��������������� 9(�G�5�� �	
�	�����$�
�� �	�8�

������������&��$��#�����������������4������&�� ������<E�A/�C.:-+D����2� ���� 9(�E�

�������� �����($�����������4��� ��� �	
�	�����$�
�� �	��E� ��%��������#������4�������

%�$��&�� ������$%�/�

����<E� A/� 4������� ��� �$>��2�� 2B$� %������� >��� ��� >��� )�!1�� $� �� ������� �� 4���

�)��4�E�F /�A/�?� �$������������#��$�&�� ���2� ���� ��#�������&��������� ������#�$����

����������������� �����$%�E�$������$� ������������#��2���������$������$%�/�

	���2B����2������$��B���� �� �2�$�����>�������>�������2!�����&��������� ���������$�

���������$�%���$��� ����������������������/�� �2B$E����>�������������� ��2���� �����

���������M��������%� ��4�����$���#��$���$E���2��$��)��$�4��$����������� ������������#��

$������$%�E�$��24���$��4� �B��74��$��� ����������� ��2���� ����2��������2!�����&��

������� ����$��������$��� �#� ����$� ����$���#��$���$/��

���$��������>����

9� �λ ��'�������"�����>�������������� ��2���� �������������2���4����� ���4����2����� ���

��#��$����� �#� �����/�

9 #4( ��	�������������E�����(�2���$�2��������$E� ����� �2�� �� �������#�� 4#
U E�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�..+�9�

9 �( ���'����2������������� �����#��$����������(�2���$�2��������$/�

9�/4���8����� ��2���� �� ���$����#��$�&�/�

9�( )��'����2�������������#���� ���������#�$��������$%�/�

9� (σ ����$#����&���14���� ������������/�

9 (µ ����� �2�������$4��� �/�

��� �� �$� ��$� ����#�$�  �$4���!��$� ������� ��%M�� ��4��  �� ���$%�E� ��� ������ � �  ���

4����2����� ��#���� ��  �� ��$� �%����$� $�� 2�����������B� M����2����� ��� ����#�$� ����

���$%�E�4������>���$�%M������74��$�&��C0/+D�?� � ��>��������� ���&�� ���>����!���� ��

��$�2���� �$�  �!��  ������$�� ��2�� ��� �%��� � � ������  �2�� �� ?� ������E� ?� $�%M�� ���

�74��$�&��C0/5DE�$����� �B�>�����

�

� �
= =

=
)

�

)

4
4� /(

. .

� C0/35D�

�

���)��)�� ��>������$��4�� ���������������������4��� ���������� ��2���� ��M�����4����

�� �$���$���#��$���$�C����������� �����%������ �������#���� ����$����� �#� ��$DE��!��%����

���$� �������$���#������$� ��4�� �����&�������$4�� �����$����� ������ ����$��������$�

�� �#� ����$� ����$���#��$���$��

�

( )��4���� ����9 E///EE///EE +.= � C0/3;D�

�

'������>������4����2�������������#���� ������������#�� 4#
U �4�� ���74��$��$����2��$�%����

�
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�
=

=
)

�
�4�#4 (�(

.

� C0/3-D�

�

����#���%��!��E������������ ��2���� �E������ � ���)������2�����$�2�� ���� �$�?��� ��

���� �� ��$��������$� �� �#� ����$E� ������B��������#������ ��4�� �����&�� ���� ��2��$��

�74��$�!���������74��$�&��C0/-D�

���2������>��� ��)�$�4�� ��������$E�4��� �������&�E�$�������$4�� ����������4�$�� ��

�� ��#����E�����(�2���$� ����4���������&�E�4������>��������� ����������������74��$�&��

C0/.0DE�?�$�$����?�� �E� � ��>���( )�D�/)�4����>�����$�2���� �$�$����������������

�>����!���E����#����� ����4���������&�� �������#� 4#
U E�4�� ���74��$��$������(�2���$� ���

4����2����� ����$���#��$���$��

�

 )4)4 (�/ = � C0/3@D�

�

�4����� �������� ���&�� ���>����!����4������ ������#������������E 4#4 /( = E�$���!������

���$�%��������74��$�&���

�

�
=

=
)

�
 )4)�4� (�(�

.

� C0/3:D�

�

��� �� ��$��4�� �� �$4�"����B���2��������4�� �����&�� ��2���� �� �������#� 4#
U ��

�
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�
=

=
)

�  )

�
4�4) (

(
��

.

� C0/0,D�

�

��� >���  �2��$���� >��E� �M�� ��� ��$������  �� ���� ��#��$�&�� $��� ���$%�E� $�� 4�� ��

 ����2����� ��� ��������  �� 2���� �� ��2�� ���� ��2!�����&�� ���#�7��  �� ��$� �������$�

�� �#� ����$/�

����������� ��2���� �E�?��>���$�� �2�$��&�>�����$��������$�&4��2�$��� �#� ����$������

�� �$� ���������$E� ��2!�(�� $��B� ���� �������� ���������E� $���� �E� 4��� �����E� $�!��� ���

������������������/�

��%M����4���� /��/��/�?�F �$���E�*/�A/�C.:@@DE�$�� )���4��$���������������� ��2���� ��

��� ��$� �(�2���$� ��������2����� �74��$��$E� ?� $�� 3�=)2� $�� �����$4�� ������ ��������  ��

��#������������E�$��4�� ��������������4�� ������ ������1���������#($� ��������$������&��

 ��������������2�7��E� �E���2!���� ��������2���������������� )��������4��4����&����

?� ��� ��������  �� ��#�������� ����� �3=)2� ��� ��� 4��4����&�� =?7�2E�  �� 2������ >��� ���

��� �2�������$4��� ��?���� �$#����&���$�B� ��� ��������#����������$��4�� ����74��$���

��2���

�

( ) ( ))3�)� �� µµµ −+= . �

( ) ( ) ( ) ( )[ ] +.

E
++++ .+. )3�))3�)� ���� σσσσ −+−+= �

( ) ( )[ ] +.++++ . )3�)� �� σσσ −+= �

C0/0.D�

�

���4�� ������ �������1�������%�����������������������������������4����������$4�� ������

�� ��� �������� )E�  �� �� ��$� ��#��$���$� �������� ��� ������ � �  �� $��4����2����� ��� ���

��������  �� 2���� �E� 4�� �� �!�����$�� �������� �� ��$�  ���#� �$� 4�������$�  �� ��$�

���������$� �74��$����$� ��� ��� ���������D?8���$�  ���#� �$�4�������$�  ��� ��� �2������
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�$4��� ��?���� �$#����&���$�B� ��� ��������#���������������2��� ����$�#���������$�>���

$�� 4�� ����� ��� ��$� 2�$2�$� ����� 4�>��J�$� #���������$� ��� ��� ��24�$���&��  �� ���

�������/�A��2��2�����4� �1���74��$��$�� �����$�%�������2�������

�

( ))3�)
�

�
µµ

µ
−=

∂
∂

�

( ) ( )[ ] ( ) ( ) ( )[ ]++++.++++ +++.
+

.
)3�)3�)3�)3�)

� ����
�

σσσσσ
µ

+−−+=
∂

∂ −
�

C0/0+D�

�

��#� ��� �� �$��$�  �$�  ���#� �$� 4�������$E� 4���� �� S.E� �!��� ��2�$� ��� #�����  �� ���

4�� ������ �������������������������������������� ������������� ��2���� ���

�

( )

)

)3�)

�
�

� �

σ
µµ

σ
µ −

=
∂

∂∂
=.

� C0/03D�

�

�$1E�4��$���>��� ��� �1���� ( ) E))3�  µ � ������ ��� �"����� ���4����� ( ) E)3�µ � ?� ������2�$� ���

4�� ������ �� ��)���1����������4����� �����%�������������������������������E�$��4�� ��

�$���!������������&�� �� ��)���1������2��$�%����

�

( )
( )

�
)

)3�)
)3�� σ

σ
µµ

µµ
−

+= � C0/00D�

�

��� ��$��)��$�$����� �������4�� �������($���!��� �����$%��4��������� �2�������$4��� ��

 ������������� ����#���������������������������� ��2���� �/�
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��2�� ��� ��� ������$�  �� �>����!����  �� ��$� 2���� �$E� ��� 4�� ������  �� ��� ���������

���������� ��� ��� ��������  �� ��� ��������  ��2���� �E� ��� ��2!����� ��� ���� �� ��������  ��

2���� �� ���� ���� ����>������  �� ��$� ����#�$�  �� ��� 2�$2�E� #��1�� ����%� �� 4��� ���

�74��$�&���

�

( ) ))�)

)�

�
�

�

�

�

σσσ
µµ

σ
µ

I+, −
−

=
∂∂
∂∂

=
� C0/05D�

�

��� �%����2�$� �2!�$�  ����������$�  �� ���4�� ������ ��� ���4����� �����$4�� ������ �� ���

�������� ��2���� �� )E�$����� �B��

�

( )

( ) ))�)

)�
�

)

)3�)

σσσ
µµσ

σ
µµ

+−
−

=
−

� C0/0;D�

�

��$4�"�� ��4���������� �2�������$4��� �� �������#�� EU
�# �$����� �B��

�

( ) ( )( )
+
)

�)
)3�))3�� σ

σµµµµ −+= � C0/0-D�

�

�� ��� �%���� >��� ��� ��� 	� ���� ��'	� ���%�����
+
)

�)
� σ

σβ = E� $�� 4�� �� ��$���!���  �� ���

$�%�������2�������

�
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( ) ( )( ) �)3�))3�� βµµµµ −+= � C0/0@��D�

�

Q���$������������������2!��� �� 9(�����*�
����	�E�?�2��$������2�������� �2������

�$4��� �� ������>���������#��$��4�� ���!������2� ������������2!�����&��������� ���

2�#�2������ �$4��� ��  �� ��� ��������  �� 2���� �� ?�  �� $�� �����$4�� ������ ��������

��������� ����#������������/�

��� ��$���� �� 4��2���� 4� ��� ��������� ��� 2� ���� �������  �� #�������&��  �� ����#�$� ����
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Q��� ���� ��� >��� �?� �!�� �� 4��4����� ��� ��4��  �� �����($�  �� ��$� ����#�$� 2��������$�

���$������ ?�M�����4���� ��$� �4��������$�  �� ����#�� ?�4�$�#�E� ?� ���4�$�!��� � �  �� >���

����>�������#��$���4� �����4��$������4� ���4��$�� ��$����12����CA�%����+3D/������'	�

$�����#�������$1�������2� ���� ��#�������&�� �����B�����%�������?�>�����$�4��2����B�

�����4������?�4�� ������������� � �����������$� �����$%�E��7�$�������������4�� �������($�

$������$%�/�

�

.�� 1��	
���
����%
�
�
����� 
��
�$���
2���

��� 2� ����  �� #�������&�� 4��� ��!����"�E� ������ �� )�!�����2����� ��� ��%�($� ��� ���

������������������������2���'��C9	*�
	����(	������0!��	�DE��������2��� �E����4��2���

��%��� 4��� ��$$E� �/� C.:-;D/� ���>��� ��� $�4��$���  �� ��$������  �� ��!����"�E� �"��

��� �2������ ���2� ���E�?��)�!1��$� ��������� ��4�������<E�A/� ?���)���$E�	/�������

2� ���� ��#�������&�� ���4�����$�C9�:�������DE�$��������������2�?���2��� �E�?��>���

���4������ �������#�� ���#� �����)��1��� �4�� ����7���$�#�2����� ���4������ �������#��

$�!?������/� ��$$E� �/E� $��� �2!��%�E� 4������� ��� 2� ���� %�������  �� #�������&��  ��

����#�$��������$%�E��������� ����2��#����!��$��74������#�$�������"����� ���� ��� ���$�

��1� ���$�>��� �$���!��������24����2������%������� ����������21��?� ����$�2���� �$�

����������$/�

A������ ��� ��'	E� ��� �'�� ��� �������� ���%M�� ��4��  �� $�4��$��$� $�!��� ���

��24����2������  ��� ��#��$��� ������� ��� ���$%�E� ��� $�!��� ��$�  �$���!������$�  �� ��$�

��� �2�����$� ����$���#��$����$E�$����>���$��4�������2B$���2�����2� �����241�����

������ �������� �2�����2��������&2�������	��	�/������������������>��������� ��!�$����

����������&�������2(������2B$�>��� �����2��������2� ������&�����4�������#�������&��

 ����$�����#�$�����������$/�

����!$�����E�$�� �2��$�����>���$�����2� �����'��$������J� �������$����� ��$�4��$��$�

!B$���$E� $��4�� �� ���%��E�4��� ��� ��2���� ��24����2�����  �$������ ��� ��� �������E� �� ���

2�$2�����2�����&�� ���2� ������'	/�

�����'	��4�������)������2�������$��4���������� ���2� �����'�E����>���)�!�1��>���

�J� �����$���� ������$�4����������$�$�!��������24����2������ ����$���#��$���$E����>���
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4��2���� ���$� ����� �� �$� ��$�4�����$� ��2���� &%���$E�2������$�>��� ��� ����'�� ��$�

4�����$� ����$���#��$����$�$���������� �$���4������ ��4�����$��!$��#� �$/�

H�$�E� �/� ?� ��4�� E� �/� C.::+D� )����� ���� 4��$������&�� �$4�����2�����  � B������  ���

2� ���/�

@868? 5����	)���3���
������)������9(0�

���2� �����'��4����� �����$� �����>������������� �2!���$�!�����������!��� � � ����$�

����#�$�����������$�#������74���� ��4���������"������������ ���������$���1� ���$E���2��

4�� ��� $��� ��$� 1� ���$� !��$B����$� ���NE� �
F � *
���E� �6�
��
NNE� ���/E��

�� ��� ���$�  �� ��4�$�  �� �����($� ��2�� ��� �6���
�E� �	�E� ���/E� �� #����!��$�

2��������&2���$� ��2�� ����'�E� �����2������ ���'��E� ���//��$��$�1� ���$� $�� �������

��2��#����!��$����������$���?�$� �$���!������$� ��4��!�!��� � �$��������� �$�4�����$�

��#��$���$E������2���$E�$�$�#�����$��$4��� �$�?�$�$�#�������$/��

���$��������>����

9������'������ ��� >��$���&�� ���� ������ ����$���#��$����$/�

9� Y���������� ����!����"�/��

9���Y������ �2����������(�2���$�2��������$� ������������� M�/�

9� ��τ ��24�����2�����������#���� ������� ������#��������������������������� ����!����"�/�

9� ,λ ����#��$�&����!��� �����$%�/�

7�	��������!��� � � ���������#���/�

9� �β ����� �2�������$4��� �� �������#���/��

9� ��β �����$�!��� � �  �� ��� �����!��� � �  �� ��� �1����� ����� #���������$�  �� ��$�  �$�����$�

�������$���E�>���#����������������������$%��$�$��2B����/�

7�����8�����>�����2���������������
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9����A������$� �����$%��

����$��!����E��$1E�����������&�����������������������!��� � � ��������#��$�&������>������

#�� ?� ��$� 1� ���$� $��������� �$E� �����%� �� �$��� ������� � � 4��� ���� #����!��� ������

��������1$�����  �� �� �� ��#��$�&�E� ������ �� ?� ���� #�������� K (!��L/� '��� �����E� ���

�����!��� � � ���������#����$��B��

�

�
=

++=
)

�
����� �	

.
, εββ � C0/0:D�

�

'��� ��� >��E� 4������ ��  �� ��� ����#�� ����������� �E� $�� ���$� ���� >��� $�� �����!��� � �

���$��� �� �$�4����$���� �2������$E�$��� �����4��2���� ������$� ( ),β ������� �2������

�$4��� �� �������#����C#���������$�!���4������ �$���$��%����$� ���2���� �����!�$�������

�����2���&�� ��2���� �D�?����4�������$�����E�!����4�$���#������%���#�E� �����������$��

4�� �� 4�� ����E� ��2!�(��  ���2��� �� 	��
�*������� �����	
�/� ���)�� 4����� ��$������

���$��E���$��#��E� �����$�2�� ����$����$%�$�$�$��2B����$�C�
=

)

�
��� �

.

β D�?����$�$��2B����$�

C �ε D/�

��$���#��$���$E���2�����	� ������'	E�$�����$� �����4�����9���4�����$E��$� ����E����

������� ��4��� � � 4���� �������� $�!��� ��� ���2���&��  �� ��$� 4�����$�  �� ��$� ����#�$�

����������$/� � �2B$E� $�� $�4���� >��� �� �$� ��$� ��#��$���$� ������� �74������#�$�

)�2�%(���$�$�!�����$���� �2�����$�������$� ����$�����#�$�?�$�!�����$� �$���!������$�

 ��4��!�!��� � �>��������������������$�1� ���$� ������������/�

��� ��%�2����� ��� �2������  ��� 	� ���� �'�� �$� ��� ��$������  �� ��!����"�� ��� ��$�

2���� �$�����������$E������ ��� �������!����"�� �����2��������� ����������������21�/�

G�!�1��4�$�!��� � �  �� ��!����"�E� $�� ������4�$�!��E� $��� ��$��� ��%����4���� ��� ��#��$��E�

��2������ ��� �����!��� � � �$4��� ��  �� ���� �������� $��� ��2������ $�� ��#���  �� ���$%�/�

��2!���� ��� ��24�$���&��  �� ���� �������� $��� ��$��� $�4���� >��� ��$�4�� ��������$�  ��

���$� ��#��$����$� ��2�����B�� ?� ��$�  �� ����$�  �$2�����B�E�  �� 2������ >��� ��$�
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#���������$E� 4�$���#�$� ?� ��%���#�$E� $�� ��24��$��/� ��� $�� ���$� ���� ���� ��������  �

��24��$���4���������#�$E� ������� ���������#������ ��4�� ��������$�9������>������

�

( )����9 E///EE +.= � C0/5,D�

�

��� ���� �������4��$��������4�� �����&�� �������#��#����� ��)���������/������������ ��

��!����"��$��1������������� ����������� ME�$�����$��E�>���$�����2��1��4�������$�������������

��������4��#��E�  ��2������ >��� #�� �1�� ��4��$���� ��4��� ��� #������  ��4�� ��������$�

9M8�

�

( )YYE///EYEY +. ����9 = � C0/5.D�

�

��� �� ��$� ���2����$�  �� 9M� 4�� ��� ��2��� #�����$� 4�$���#�$E� ��%���#�$� �� ����$E�

 �4�� ��� ��  �� >��� ��� 4�� �����&��  ��� �����$4�� ������ ����#�� )�?�� ��2���� �E�

 �$2���� �� ��4��2����� �� ���$�����E� ��$4����#�2����/� ��� ��� ���&��  �� ��$��� �����

#�� �1����4��$���� ������1����2�����4��������24��$���&�������� ����$�#���������$����

��������������%������

�

�
=

=
�

�
��

.

,Y � C0/5+D�

�

'��������24��������#��$�&��� �������E�����$�B� ����� ����������� ����$�� �������!��� � �

 �� ��� ��������  �� ��!����"�E�4��� ��� >��� $�� ��������B� ��� �����4���  �� #����� �$4��� ��  ��

 ��)����������>���$��2� ������(�2���$��!$�����$/�
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��24����$��4� �B������4��������������������$���Y���2��$��)����������$�4�� ��������$�

���%�����$E�?��>������$�2���.E�$����,/�'�������E�$�� �!��� ����������#�$�4��B2����$�

>���4��2����� ��������� ��� ��� �2������ ?� ��� #��������  �� ��� ��������  �� ��!����"�/� �$���

�������� M��$���B����2� ��4�������� � �$� �υ �C4�$���#�$�4������$�����#�$���24�� �$�?�

��%���#�$�4������$�#�� � �$D� ���� ������ ����$�����#�$���%���� �$E� ��2������>���$��

4�� ����4��$��������2���

�

�
=

=
�

�
�� # 

.

Y υ � C0/53D�

�

��� ���4������ �� � >��$���&�� �� �� ������ �� ��$� ��#��$����$� $�� ��4��$�����4������ E� ���

)��)�� ���$�������2� �������������������$��������$��4� �1����4��$�������)������2���

�

�
=

==
�

�
�� �N

.

,Y υ � C0/50D�

�

��� ��� �2������ ��� �(�2���$� 2��������$�  �� ��� �������� M� $��1��' ME�  �� 2������ >���

$�%���� ���������2�$2�����2�����%1���

�

� �
= =

==
�

�

�

�
����� 		�'

. .
Y τυ � C0/55D�

�

��� �� ��� �υτ = ������$4�� ������24�����2�����������#���� ��C4�$���#������%���#�D����

�� ������#��������������������������� ����!����"�/��
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��� ��� ���&��  �� ��$��� ����E� 4��� �����E� ��2!�(�� 4� �B� �74��$��$�� 2� ������ ���

��24��$���&�� ����$� �$�����$ �τ E��$� ������

�

�
=

=
�

�
�

.

,τ � C0/5;D�

�

�����$������ �����$%�� ������������� ����!����"��#�� �1������������� ��4�������#��������

����E����>���$����$��1��4�$�!���$����$���#�������$� ����$� �$�����$�����#�$�����������$�

>�����24����������������$����24��$����

�

( ) ( )��
= =

==
�

�

�

4
4�4� '''

. .
b ,E��##�� υυ � C0/5-D�

�

( ) ( ) ,E��##��
. .

b ==��
= =

�

�

�

4
4�4� 		' ττ � C0/5@D�

�

'��������E������� ���&�� ����$������ ����!����"��$�4�� �1��>���$�������$��� �� ��)��

���������$������?�$�����$%����2!�(������E����#������$4��� �� �� ��)������������2!�(��

$��B������C$�� ( ) ,,,b b
+
b =�=∴=   '"N σ D/�

������ ���&�� ��#�������������$��$�$��������� �$�)�4&��$�$��

� ����7�$������� ���������#��$������$%�����������4�� �������($����$������	�/�

� ���4�$�!��� � � �����2��������������� ����!������E����������������2� ��

4��� ����#�$� ���� ���$%�$� ���� #�������� ����E� 4���� ��� >��� �$� 4����$��

$�4�����>�������M2���� ������#�$��$�$���������2�����%��� ��4����>���$��
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������ ������ ��� ���$%��  �#��$�����!��E�4��#��������  �� ��� #��������  �� ��$�

1� ���$�$��������� �$E���2����� ���$%����� �#��$�����!��E�4���� ����� ��

��$�#����!��$� �������E����>���$����$��� ��2�������4��7�2� �/��&�������

��?�  �� ��$� %��� �$� �M2���$� 4��2���� )����� �$��� M���2�� $�4��$��E�

���$� ���� �� ��� 4��!�!��� ���#��%������  �� #����!��$� ���������$� )�����

�������$�����/���

�������� �������� ����� ��)��)�$����)���E������� �2����������(�2���$�2��������$� ��

����������� ����!����"��4�� ����4��$�����$����������&�� ����$�1� ���$� ��������������
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,βτ � C0/;0D�

�

������2�$2��2�����E�������$%����� �#��$�����!��E���2�����$��������� �������?� ����$�

%��� �$� �M2���$� ��������2����� ���� �E� ��� �B� >��� ������$�E� ���>��� $&��� $���
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,,, τβττ � C0/;;D�

�

�$��� ��� ���&��4�� �� �����4�����$�� ��2������ ������&�� %��2(������ ������%����� � �

#��������E��$� ����E�>������4�� ������$������ ����$�#������$�#��������E�?����$� ���� ��

��$����$��74��$����$����������$���2��4�� ����$��$������$� ��#������$� �� �2��$�&���/��

��� 4��2���� �&�2���� �
=

=
�

�
�

.

,.τ � ��4��$����� ��� ����%����� � �  ��� #������

( )�ττττ E////E +.= �������#��������� � /��

���$�%�� ���&�2����
=

=
�

�
� ��

.

,βτ E�$�4�����������%����� � � ���#������ ( )�ττττ E////E +.= ��

������$�)�#������$ ( )����� ββββ E///EE +.= /�

��� �������� �&�2��� ( )�
=

=
�

�
�	� 	"

.

,τ E� �24����� ��� ����%����� � �  ��� #������

( )�ττττ E////E +.= ��������#������ ����� �2�����$��$4��� �$� ( ) ( ) ( )( )/E///EE +. �	"	"	"" = �

�$1����#������"�>�� ������$����2�������24��� � ��������)�4��4����� ����� ��4�����$�

)� c� .� #������$E� .E )βββ E///EE +. E� 4� �(� �$�� �$���!��� ��2�� ��2!�����&�� �������  ��

�$��$�#������$/����4�� ������������E�4��������E�)�c�.�4��B2����$� )λλλ E///EE ., E� ����$�

>���4��������>���������#�������������$��4�� ���$���!����

�

( ) �
=

+=
)

�
����	"

.
, βλλ � C0/;-D�
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�

Q����$�����&�2���� ����������9(0E�?�>���4��2������������������� �2�������$4��� ��

 ������>�������#��$�&����������&�� �����$��$�!��� � � ���2�$2��������$�#���������$� ��

��$�1� ���$� ������������/�

������$� ����>�������M2���� ����#��$����$��������$%�� �$4���!��$�������2���� ���$�

$�4����������M2���� ��1� ���$� ������������E����>���4��2��������� �������������4��� ��

��	
�	��$���������	����E�$�24������� ������!��2��������4����$�� ��#�������&�� ���

��� �2�������$4��� �� ��������#��$�&���� �#� ���/��$1�$��4�� �����$������������������

��?����$�� ����� �2������ �4�� ���7���$�#�2����� �����1� ���� ��������������

�

����� �" εββ ++= , � C0/;@D�

�

������ �2�������$4��� ��$��4�� ����4��$�����E� ������� ����������������9(0E���2��

$�%����

�

( ) ����	" βλλ += , � C0/;:D�

�

�� �$4�"�� �� �λ �>�� ���

�

( )
��

�
�

	"

β
λλ ,−

= � C0/-,D�

�
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��2�� ��#��$�&�� 4���������E� ��� ����#�� ��!���  �� ���$%�� $�� 4�� �� ��4��$������ ��� �$���

2� ���� ��2�� �>���� ��� >�� ( ) �		" == ,,λ E�4��� ��� >��E� !�"�� ��� )�4&��$�$�  �� >��� �$�

4�$�!������$������)�c�.��������$�!�$�E� ����&�2���� ����������9(0�4�� ����$���!��$��

��2��$�%����

�

( ) ( )
��

)

� ��

��
��

		"
		" β

β�
=

−
+=

.

� C0/-.D�

�

'��� �����E� �$� $���������� �������� ��$� ��$�$�  �� ��� �2������ �$4��� ��  �� ��$�)�c� .�

��	
�	��� *���� 4���� 4� ��� ��������� ��� ��$��  �� ��� �2������ �$4��� ��  �� ����>�����

��#��$�&��������>���������������24��$���4���($��$/�

@868� "��)������ 9(����)���������	
�����	�����)������9(08�

��2��?��$��)�!1�� �2�$��� �� ������&�2���� ����������9(0�$��4�� �� ���#������ ���

������� 9(��4���������$��4���������� ��>���$�����7�$���������������!�$�E������������

 �� 2���� �E� ?E� 4��� �����E� $�4����� �� >��� �� �$� ��$� 4�����$�  �� ��$� ����#�$�  ���

2���� ��$����� &%���$��

�

( ) ( )
�)

))

�)
��

		"
		" β

β
−

+= � C0/-+D�

�

������ ���� ������74��$�&���

�

( ) ( )[ ]
))

�)
�)�� 		"		"

β
β

−+= � C0/-3D�
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��� ��>����

�

( )
( ))	
		 �)
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�)

#��

E��#
=

β
β

� C0/-0D�

�

���4�� �� �74��$��� ��� ��������� �&�2���� ���� ��� 2�$2�� ������&�� >��� $�� )�� ������� ��

��������2����E�4������>����

�

( ) ( )[ ] ��)�� 		"		" β−+= � C0/-5D�

�

�$�������7�&���������2!�$�2� ���$�4��2���� �!����������� ����$�4�����4���$���1����$�

>���$�����)�������������� 9(�E���2���$�����24�$�!��� � � ��������$����241����/����

���������� 9(�� $��4�� ��4�������� ��2�������$��4���������� ����'�E� %���� �� ��$�

2�$2�$���������1$����$������2(�����$� �� ��)��2� ����?E�4��� �����E� �$� ������$��!���

�241����2����/�

��� ��� �2����� 2��������&2����  ��� �������  9(�� ��� �$� ������ �������� ���� ���

4�$�!��� � �  �� ������$��P� ��� ���������E� $�� ����������2����2����/� ��� ������&��  �� ���

$����1� ���E���2���$� ����������� ��2���� �E���2��#����!����74������#�� ����� ��$�� ��

�����!��� � � ����$���#��$����$��������$%�E�� >���������������&�����$��$����24��2�����

�������$�4��$��� �������������?��4��2��� � � �� ��)���������/����2� ���� ��2���� ��

 �� �)��4�E� F /� A/� ���%�� �� ��$� 2�$2�$� ������$����$� 4������ ��  �� ��� 4������2������

�241����� �$����������)��������� �/�

�
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��� ��� ������������$4��1����E�4���� ���2����� ��� ��$���� �� �� ���%�$��&�� �� �������$� $��

�$������(�2������%�($���	��	)����8�

����%����>���$��)���4������ �� �#��$�$�2� ���$�4�������%�$��&�� ������$%�E�!�$� �$����

���2� � ��� ���� �� ������$%�E���2!�(��$��)��� �$������� �� �$�����$����������#�$�4����

�#������ ��� ��$���� ��  �� ��$� %�$����$�  �� �������$E� ������ �� ��� ������E� ��� $&��� ���

��� �2�������!���� �������� ����2��� ��4��1� �� �� ���24�E�$���� ��2!�(����� ���$%��

>���)������� ��>����$�2���4������������� ��)����� �2�����/�

��� 2� ���&��  ��� ��$���� �� ������ �� ��� ������� ��� ���$%�� �$�2� ��4��� ��� �������� $��

����������� $��24��� �� ��� 1� ���� �� *���!)�	��� >��� 4�� �� $��� �����4���� �� ��2�� ���

�������� ��2���� ��>���$��)��� �$�����������$��4���� �$�4���� ����$/���$�%�$����$� ��

�������$� $������ �7�%��� �� $�$� �������$� �� �������$��$� >��� $�� ��$� ��"�� �$�� *���!)�	�� ��

�����������������>���$���#�����B����%�$��&�� ����$�2�$2�$E���2����$�1� ���$�!��$B����$�

C���N�35E��6�
�
NN�5,E����/D���1� ���$� �������� ��"��C��2������6���
�E�*/�'/�

	/��4������� $E����/D/�

��������� ��� *���!)�	�� ������ �� ��� 2���� �� ��2�� ��$� ���� �$E� $��#�� 4��� ��$�

��2��������$� ��%���$� $�!���  �#��$�������&��  �� ��$� ��#��$����$� ��� ��$���������$�  ��

��#��$�&�� �������#�E� �$� ��� �!"���#�� 4���� �7�%����� 4���� ��� %�$���� 4����$������  ��

��#��$����$E�?��>��E�4��� �������&�E��$�$�1� ���$���4��$�������������$����%�$����� �$E�

����������� �$� ��� !�$�� �� ��������$�  �� ��4���������&�E� 4��� ��� >��� ��4����� �� ���

�$��������� 4����������  ��� 1� ���E� $��24��� >��� ��� ��%�$����&�� ?� ��� 4����2�����

%�$����� �� ��� 4��2����E� ��� ��#��$�&�� �!��� �B� ��� 2�$2�� ��$���� �� >��� ��� 4��4���

1� ���E�$������%���������%�$��&��� ��������>��������24�����������?����$����������&�� ��

���2�$2��������2�2��������>������1� ������2!��� ��4�� ��������$�������#�$/�

	B$���24���� ���$�!��������1� ���/���!� ����>��� � �����!���2������$%�9�����!��� � E�

���%�$��&�� ��� ���$%��)�� ��$����#���� ������$�$� �(�2���$�?����$&������� � ��� �� ���

$���������� �������$�� ����� �2������ �������#��$�&��?� ���1� ���� ������������/�

6�� !���� %�$���� 4�� �� !����� ��� 1� ����  �� �����!��� � E� ��� ���$%�E� �� ��� �2!�$�

4��B2����$������#��/����$�2� � �$�$��)���#��� ���$�� ��4�����#���������"����2�����

��� ���$%�� ?� ��� ��� �2������  �� ���� ��#��$�&�E� ��$� �����$� )��� $� ��  �$������� �$�4���
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�)��4�E� F /� A/� C.:;;DE� ���?���E� */� �/� C.:;;DE� *��$��E� 	/� �/� C.:;@D� ?E� 2B$�

��������2����E�	� �%������C.::-D/�

@8@8? "������������+!�	��8�

�)��4��C.:;;DE�!�$B� �$�������� �$����������&����� ������1���� ��2���� �� ����4�����$E�

4�����&����������������%�$��&�� �����%��4�� ����� �$� ����#��$�&���2�������$������#($�

 �����1� ����>��� ��$�2����� ������ ��� �7�� ����� �� ��� �2�������!���� �� ��$4����� ���

��4��  �� �����($� ��!���  �� ���$%�E� ��2�� ��� ���$%�� >��� )�!1�� $� �� �$�2� �� 4��� ��$�

��#��$���$� ���  ��)�$� ��� �$/����� �$�� �!"���#��4������� ��� ���!�����&��  ��� $�%�������

�� ��� ��� ��%�$��&��+���

�

�

��
�

		
+

σ
−

= � C0/-;D�

�

��� �/�

9�+����7�� ������ ����� �2�������!���� ����$4����������4�� �������($���!��� �����$%�/�

9�	������� �2������ ������������� ����������4��1� ��������� �/�

9� �σ ����$#����&���$�B� ��� ������������� ����������4��1� ��������� �/�

9�	�����$��2���&�� �����4�� �������($�4��������!��� �����$%�� ����������2�$2��4��1� ��

 ���!$��#���&�/�

�

�����2��� ��� ���1� ����#�������$������K(	�)�����'�����L�%��� ��4��������������?����

 ���2��� ��E����#������� � � ���������������2���� ��� ��� ������$%������������ ��4���

��$���#��$���$/�������$��������E����O���������+!�	��� ������2� � �� �����4��2��4���

��� � � �� ���$%��>��� ��$�%�$����$�)��� ���$�%�� ��4���� ��$� ��#��$���$� �� ��� ��������



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�.3+�9�

������� �/� ������� 2�?��� $��� ��� 1� ���E� 2�"��� )�!�B� $� �� ��� %�$��&�E�

�� �4�� �����2����� ���#������!$������ ������ �2�������� ������$%�/�

��� O������ ��� +!�	��� 4��2���� ���$������� ��$� �������$� ��� �����&��  ��� ��$���� ��  �� ���

%�$��&�� ������$%�� ����$�2�$2�$/�6��2�?���#����� ���1� ����$�������$4�� ���������

2�"�����$���� �/������$� ���$�)�$�&����$�$��4� �������7���4��������������E����O���������

+!�	��� � ��4��$�����1������� ��� ��4����������$E� �$� ����E� ��2�?���#�����  ���1� ���E�

2�?�����#��� ������� � ��$4��� �E� ��2������>��E�����(�2���$�%�B����$E��������2�?���

$��� ���1� ���E� ��� ��#��$��� $�� $�����1��������� ���#�� �� �� ����������2B$� ����!�� ?� �� ���

��>���� �/�

������4�������� �2�����9 �$#����&���$�B� ��E������4��$������&��%�B����� ���O���������

+!�	��� #�����  � �� 4��� ��� 4�� ������  �� ��� �1���� ������ >��E� 4������ ��  ��� 4�����

�����$4�� �����������4�� �������($���!��� �����$%�E�4�$��4������4�����>�����4��$��������

4������$%�9��� �2������ ���� ���������/�

������A�%����+0�$����4��$����������$���� �� ����� �2������?����$%�� ���������������$E�

 �� �� )������$4�� ��������������� ��2���� �/����O���������+!�	���#�� �1�� � ��4���

���4�� ������ ������1����������>����������4����������$4�� �����������4�� �������($���!���

 �� ���$%�� 	�� ���� ��$� 4����$� �����$4�� �����$� ��� 4��� ���$%�9��� �2������  �� �� ��

�������/�

��$� �������$� ?� ?� �� )�!�1��� !��� �� �����2����� ��� 1� ���/� ��� ��� 4��2��� ��$�E� ���$�

)�!����!���� ��2�?��������!��� � �?�2��������$%��>�������������� ��2���� �/�������

$�%�� ����$�E����>������#������� � � �������������)��$� ��2�?���>������ ���2���� �E�

���2�?������ �2�����������24��$��$���������2����/���$��������$� � 6�?� @�4��$������

4����$� ��$���� �$� >��� ��� 2���� �/� ���>��� ��� �������� �������� )�� �!���� �� ���

��� �2������ ������2�?��� >��� ���4��4���2���� �E� ��� ���$%�� >��� )�� �$�2� �� )�� $� ��

2��)��2�?��E�4������>������#����� ���O���������+!�	���4���� ��)�����������$�2����/�

��� ��� ������� �������E� ��� %�$��&�� )�� $� �� 2B$�  ���������E� ?�� >��� ��$� %�$����$� )���

�!���� �� 2���$� ��� �2������ ?� 2�?��� #������� � � >��� ��� 4��4��� 1� ���E� >��� ���

��>������ ���%M�� ��4��  �� %�$��&�/� ��� %������E� ����>����� ��2!�����&��  �� ��� ��������

�(4�����  ��� 1� ���� ���� ��>�� ��� �� �� �� �2������ $�!��� ��� �1���� >��� 4�$�� 4���  )�

= �	
�	�� ���)�	����2�)�!����� ��$��)� ��2�"���$� ��$���� �$� >��� �$��$�  �$�M���2�$�

�������$/�
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���?���E�*/��/��C.:;;DE� ������ �������4����&����� ���������� 9(�E����$� ����>������
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D� 	��� ?� ��$�2�#�2�����$�  �� ��4�$�  �� �����($� $��� $���2����� ���4�������E� �$�

 ����E� �	�
�D� �	�E� ���  ���#� �� $��B� ��� $��$�!��� � �  �� ��� ��#��$�&�� ��� �����&��  �� ��$�

�������$/�

��� ��� �$��������� ��� �$� �� 4����� ��"�E� 4���� ��$� 2�#�2�����$�  �� ��4�$�  �� �����($� $���

$���2��������4�������E�$���!��� �B���2����$���� �����#����� �����$��$�!��� � � �����

��#��$�&�E���������&�� ����$��������$E� ��������E�#���	�����?�?���=����C.:@5D/����)��

$��$�!��� � ��$������� ����2��+����*����������<��!�	7%����8�

�����2!��%�E�$��4�� ��4��4��������2� �������������� ����$���2!��$��������$���������
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4�� ����2�������$�24��2������� ������ ����$��������$E���2!���� �����$��$�!��� � �

 �����������������#�$�?�4�$�#�$/�
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'�����74��������� ��24����2�������$���B$����� �� ��$� ��4�$� �� �����($�$��%���#����$�

2� ���$E� ������ ����$������$�$���������������$�2� ���$� ��8�$���<E�
/�C.:--D/�?��

��7�E�*/��/E���%��$���E�*/��/�?���$$E��/��/�C.:@5DE������$�>�����$���2!��$�4�� ��� �$�

��� ��� ��4��  �� �����($� �� ������ 4����� $��B�� �!$��!� �$� 4��� ��� 2�����$2��  ��

����#��$�&���� ���2� �����������&�� �����#����� � � ������#��$�&�E����$� ��B� �$��

��2�� 2� ��� ��� ��#���  �� ��4��  �� �����($� �� ���%�� 4����/� �2!�$� 2� ���$� �$�B��

��4��$���� �$� 2� ������ ���������$�  �����������$� �$���B$����$E� ��4��$����� �� ���

������� �2!��� ����$���4�$���������4����/�

������ ������������>���$�%M�����5�)������
���$��$�����������4����$�� �� ���$�&��#
�

��?��  ��B2���� �$� ( ) ( )�3
#��

#��# 


 EE += E� $�� $�4���� >��� ( )
#<� 

 E= � �$�

�����&��  ���4����$�� ��������E� $��� �� ( )
#< 
 E � ���� �����&��  �� ���$�� ( )+ℜ×ℜ+ E�

�������$��
��$����4����$�� �� ���$�&����?�� ������������$���B$�����#����� � ��4���
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���%�E��$�2��� ��>����$��$�2� ���$�$�%�������4����$�� ���
�E�$����2�����B�4���

������������2� �������&�� �����"�
	��
�	��0�)��	����������0����������
�	:��C"00�DE�

>���������24������������24��������� ��B2���� �����4�� �������($���$����B������!���

 �� ���$%�E� ��4��$���� �� �� ���#($�  �� ���� ������&��  ����������� �$���B$����� >��� ��%��

 ��)�$�2�#�2�����$������#($� ������24�E�?�>���#����� ����2��� ��4������$�%�������

�74��$�&���

�

( ) �%	�
	��	 


γσµ +−= � C5/3@D�

�
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9�µ ����4�� �������($������%��4����/�

9� γσ	 ��8������� � �>������������������#������&�� �����4�� �������($E�$��� ��σ ���4�����

 �� ��� #��������  ��� 4����$�� >��� �$� ���$������ ?�
γ
	 ��� 4�����  �� ��� #�������� >���

 �4�� �� �����#��� �����4�� �������($������#($� ����$�#�����$� ��γ /��

9� �%�� �����2�����  �� ��� 4����$��%����	� �$�B� ��� C4����$�� �$���B$����� $�%M�� ���

����� ���� #����!��� #
� $��  ���� >��� $�%��� ��� 4����$�� %����	� $�� ��24��� >���


## 


 ∆+= − ξ. E� ���� #>� ������ �E� 


 ∆+−= . E� 
ξ � $�%��� ����  �$���!���&��  ��

4��!�!��� � �-=>�?2� ?� 
ξ � �$� �� �4�� ������4���� �� �� �
 ≠ /� '����$�� >���4��2����

 �2�$���������0��	�)�� ��
	�������5�)�
��E�$��� �� ( )�
-�% E,≈ �/�

������>���$�� � ����>����������2�?����$����#����� �� γ E����#������� � � ���4����$��

$��B�2B$�$��$�!�������2!��$���������#��� ����$���4�$� �������($/�

�$����74��$�&�� �����?�� ���2�?���4����� �� ��$�2� ���$�2B$������� �$�?�$�����$���

���2� �� ��2�� �	������ ����	��� �� ���� 	��
	��������/� ���)�$�2� ���$� $�� �!�������

�24����� ����$���������$�����$�4��B2����$��� µ Eγ �?�σ /�

��$�2� ���$������$�>���$���������B���$����$�� ���$��B�E����	� ���� ��8�$���<E�
/�

C.:--D� ?� ��� 	� ����  �� ��7� E� */� �/E� ��%��$���E� */� �/E� ��$$E� �/� ?� � 8�$���<� E� 
/�

C.:@5!D/�

�8@8? ����������/��������&8�=?H��2G�

���)��2� ���� �24���� ��� ��$������&��  �� >��� ,=γ � C4��B2����� >��� ��� ������� ���

��4�� �������($E�?�>�������$�����$��$��#������&��$��B����$�����DE��������>����

�

( ) �%�
	��	 

 σµ +−= � C5/3:D�
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�8@8� ���������� �#��P8� 8������	�����P8�"8���'�����+8�98��=?HI�28�

���)��2� �����24���������$������&�� ��>��� +
.=γ E��$� ����E����#������&�� �����4��

 �� �����($� ��2!��� ���� ��� ��1�� ��� �� ��  ��� #�����  ��� ��4��  �� �����($E� ���

�����2�����$�����4����$��%����	��������>����

�

( ) �%	�
	��	 


+

.
σµ +−= � C5/0,D�

�

���$� ���� ���$��� ��4�� ����24����2������4���� ��$� ��4�$� �� �����($E� ?� ?��>���$��

����$���� $�!��� ��� �����!��� � � ���$�%�� �� $�%���� �� �$�����%��$�  �� ��2�������&��

!�$� �$�����$��$�2� ���$E��$��24��$��� �!����$��2������#����� ����$�4��B2����$� ��

��$�>��� �4�� ���$�����4�� ��2� ���$/�

'����4� ����$��2����$��$�4��B2����$E�$��)��� �� �$�����������$�2� ���$����������$�

C�$�����$�������2����������D/�'���������$��)��$�%�� ����� �$���������&��������� ��4����

���2��E�H/� C.::-D/� ���2(�� �� �����2(������ �$� ��4���� �$��2��� ��$�4��B2����$�

�$����������$� ����$�2� ���$� �����4�� �������($��$������4��7�2���&��!�$� �������$�

2(�� �$� ���$��2���&��
��$$����$� �$������� �$�4������$���2E��/��/�C.:@3E�.:@5E�

.:@;DE� �������� �� ��$� 4��B2����$� �� ?� µ � ��� #���  �� α � ?� β /� ��24��(� �$�� ��$�

���������$�� �−=β �?� µα �= /�

�$1�����$4���������&�� �$������ ���4����$��$��B��

�

( ) 

�



�


 �	�	 ηµ +−−= −
−

− .. �E���� 0
 E////3E+E.= � C5/0.D�

�

��� �� 
η �$���$�������$�$�%������$���� ������$��

�
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( ) ,=
�" ηη E������ 
� ≠ �

( ) ( )( ) ++
.

+
+
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 )	�

�
" =−−= −

− γση �

C5/0+D�

�

�$���2� ���� �$������ ������ ���#����"�� ��4��2�����>��� ���#�������� �� ��$���2!��$�

 ��� ��4��  �� �����($�  �4�� ��  ������2�����  ��� ��#���  �� ��4�$�  �� �����($�  �� ���2��

���$�$������ ���� ��� 2� ���� ��������� ?E� � �2B$E� 4��2���� �!������ ��� �$��2� ���

2B7�2��#���$12����7����/�

��%���� ������=2��E�H/��/�C.::-D�?�($�����$��#��������$���2E��/��/�C.:@5E�.:@;DE�

$��  ������ ( )θ5 � ��2��  �$� #���$� ��� ��%����2��  �� ��� �����&��  �� 4��!�!��� � �  ��


��$$/�
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( ) ( ) ( )[ ]
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µθ � C5/03D�

�

���� ��θ ����#������ ����$�4��B2����$� �����������&��� ( )+EEE σγµθ �= /�

���#����� �� γ ��$������� ��������4�������2� ���� ��/��������&8�=?H��2����2��4����

���  ����7� E� */��/E���%��$���E� */��/� ?���$$E��/��/� C ,=γ � ?� +
.=γ E� ���� ?� ��2�� $��

$�J��&���$4����#�2����DE������������������������!�"�/���4������ ���>�1E�$���$��2��E�4���

���2(�� �� ��2B7�2��#���$�2����� E���$���$�����$�4��B2����$� µE� ?�σ /��

��$�2� ���$��$���B$����$� �����24����2������ ����$���4�$� �������($�$���2� ���$�

�����$�?E�4��������E���� ��B2���� �����4�� �������($���$����B����#�� �B� � ��4�����$�

$�%������$��74��$����$E� �4�� ��� �� ���2� �������$� ��� �/�
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��2����� ��4������2� ���� ��/��������&8�=?H��2���>�� ��B��

�

( ) �%�
	��	 

 σµ +−= E��� ( ) ,, 		 = E�� ,E >σ� E��� ,≥µ � C5/00D�

�

�����#�������&�� ����$�!���$� ����4&���������������&�� ��� ��$������ 
E� ��� ��4�� ��

�����($���� ��)����$������?� ���4��������

�

( )( ) ( ) ( ) ( )�
$
	�
9��

	� EEEE −= � C5/05D�

�

��� �� ( )�
9 E �?� ( )�
$ E �����������$�%��������$����������

�

( ) ( )( ) ( ) ( )( )+
3

+

.
0

.
.

E 
��
�� �
�

L
�L�
�

�
9 −−−− −−−−−= σ
�

( ) ( )( )
���
�

�
$ −−−= .
.

E �

C5/0;D�

�

�� �� ��L� �$� ���4��2��  �� ���$%��  ��2���� �� ( )( )

	1 E � >���4���� �$���2� ���� �$�

���$������?�#�� �B� � ��4�������74��$�&���

��

+

+

+

.

��

1
L

σσµ −−= � C5/0-D�

�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�.-;�9�

'���������� �E����2� ���� ����7E�*/��/E���%��$���E�*/��/�?���$$E��/��/�4��4����>������

 ��B2���� �����4�� �������($���$����B����#��%�� � ��4�������74��$�&���

�

( ) �%	�
	��	 


+

.
σµ +−= E��� ( ) ,, 		 = E��� ,EE >σµ� � C5/0@D�

�

��� �����#�������&�� ��!���$� ����4&��������$��

�

( )( ) ( ) ( ) ( )�
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��� ��$� 2� ���$�  �� 4��%��2���&�� 2���2B����� �4���� �$� �� ���&2���$� �����$� $��

$����� $�4����� >��� ��$�  ���$� >��� �����#������ $��� ������ �$� ?� ���$�����$E� ��� >���

4��2���� �!�� ��� $�� 4������2������ ?� ��$�����&�/� ���� �2!��%�E� �$��� )�4&��$�$�  ��

���$������� ��� $����� $��� ������� 4��$��� >��� ���2��2����� ��$�  ���$� 4�� ��� $���

���&���$�������24����$/�

��2!�(��)�?�>��� ������ ����������>��� ��$�#�����$� �� ��$� ���$�>���$���$������ ���

2� ����$����$��2������$�!�$� �$��������4�� ����&�� ����$���� ������$�������$/�

'�������������>�����$��#���������#��4��!��2���� ��#���>���$��4�� ���������2!���

��� ��$�  ���$� �� $�!��� )�$��� >���4����� �$� ���!��� ����  ���$�&�� �!���� �� ��4������  ��

 ���$� �$��2� �$E� $�� )���  �$������� ��  �$�����$� �(�����$� ��2�� ��� 9�,������ ���

+����*������� C��B��$�$� �� 4�$�������D� �� ��� (	��	�)���
�� "�
��,�
���� C��B��$�$� ��

4�����D/�


���� ����$��(�����$���4������>���4�������$������#�������$���� � �$���������2����E�?�

�����������$����������$����4���� �E��$����&�
�)�3���
��'�*��
�E������������$�$������

��������%����&�� �����4��%��2���&��4����!"���#�$E��������� �$���4��&�� ����$� ���$�

 ���4��!��2�E�!�$� �$� ��� �$�������$�4�$�!��$/������$��E� $�� %����������� $����� ��

$��������$� >���4��%��$�#�2����� $�� ���#������� ���2���$� $��$�!��$� �� ��$�4�$�!��$�

������������$� ����$� ��������$��$�������$/�

���)��$�J��� ��>�������4��2�����&����!�$���4��$�����2B$�#����"�$� ���4����!��� � �

>��� ���4��%��2���&�� ������� �$���B$����� ?E� ���>���4�� �� ��$������2B$� ��24��"�� ?�

2B$������ �$ �����4����� ��#�$�����24���������E�$�$�$��������$�4��$������2�"���$�

%�����1�$/�

�

�8�8? ����������:	�������&�
�)�3���
��'�*��
�8�

'����4� ���4�����������2� ���� ���4��2�����&���������������� ��������� �2!��E�$��

 ������� �$�%��4�$� ��#����!��$��
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o .�'#∈ � >��� ��4��$����� ��� #������  �� ��$� #����!��$�  ��  ���$�&�� ��?�$� #�����$�

&4��2�$�����$�B����� ������ �$�4���������������&�� ������������ �2!��� ����$�

4��B2����$/�

o +�'�∈ �>�����4��$��������#������ ��#����!��$� ����������>����$�B��$�"���$����

�"�$��E�����#���$��)���!$��#� ������������ �2!��� ����$�4��B2����$/����#�����

 �4�� �� ������ �� ��� ���������&�� ��� �$�������� ��2�� ���#�����&4��2�� �� ��$�

#����!��$� �� ���$�&�/�

��$�#����!��$� �� ���$�&���� �� �$�J��$�����$�>��� ����2�����>�����4�� ���$���������

 ��4����$��)�?�>�����������/�

6��2� �����14���� ���4��2�����&���������4��$��������$�%��������$����������

�

	��/� ��������� ���#3 += �

��"�����/����� *9# = �

������������������� � �$# =+ �

������������������� ,E ≥�# �

������������������� .�'#∈ E� +�'�∈ �

C5/;3D�

�

��$��74��$����$� *9# = ���4��$��������$���$���������$��$����������$����������������$�

��"�$�?���!��$� ��������$/���$��74��$����$� � �$# =+ ���4��$��������$���$���������$�

 ����������?���$������������$� ���$��$���$���������$�$1��$�B��$�"���$���#������&�/�'����

4� ��� ���%��� ��  ������� ��� 4��!��2��  �� �4��2�����&�� ��!�$��E� $�� ����� ���� ���

���"����� ���$�������$� ( )+E////E+E.=Ω /������� ���$�������� Ω∈� �$��4�� ���$������

��� ���"����� ( )���� � $� EEE �  �� ���������&��  �� ��$� �����������$�  �� ��$�  �$�����$�
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#����!��$�  �� �������� ?� ��2!�(�� ��� 4��!�!��� � �  �� �$��� �$�������� �( /�

�#� ����2����E��
Ω∈

=
�

�( . /�

����(�2������!�$���$��4�� ���24�������� �$����4�����$����$4�����������4��2��� � �

?���$4����������� 2�$�!��� � /�

���$�����&��&4��2�� ���4��!��2������������$���!�$�����$4�����������4��2��� � �$��$��

2�����������		�����������&4��2�/��$� ����E�$��#��1��2�?�4�������$�����&��&4��2�E�

4���� ��� ���������&��  �� ����>����� �$�������/���� �$��� ��$�� $��  ���� >��� ���4��!��2��

����������$�����&����!�$��/���������$�� ��>���$��2�����%��� 2�$�!���4��������>�����

���������&�E�$�� ����>������2� �����$���!�$��/�

��� �$� ���������� >��� ����>����� $�����&��  ���4��!��2�� ��������� $��2�����%�� ������

&4��2�� ��2�� � 2�$�!���4���� �� �$� ��$� �$�������$/� '��� �$�� �$� ����$�����2� ��� ���

 �$#����&�������������!�$���� �����$�����&��?����2� ���/�

���2� ���� ���4��2�����&����!�$���4��4��$���4��$����� ���$�%������� ���2�������&��

4����2� ����$��� �$#����&�/�

��� 4��2��� ��%��E� $�� ����� ���� ��� ���"�����  �� #����!��$�  �� �������� 4���� �� ��

�$�������E� �$�  ����E� ( )+�� E///E. /� ��2!�(�� $�� ����� ���� ��� ���"�����  �� #������  ��

������$� ( )+33 E///E. E�>���2� �������� 2�$�!��� � � ����$���$���������$� ����������!�"��

����$���������/�

'��������E�$��4�� �����$� ��������$�%����������2�����&����2����� �����2� ���� ��

�4��2�����&����!�$��/�

�

	��/������������� ( ) ( )++ 33��#Y E////EE////EE .. ωρσ += �

��"����������� *9# = �

������������������� ����� �3� #$ =++ E�� Ω∈∀� �

C5/;0D�
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������������������ ,≥# E�� ,≥�� E��� Ω∈∀� �

�

���4��2����(�2���� ����������&��YE�σ=82E�$�� ���2���������&���%��%� �/�'����4� ���

 ��������E� $��  �!�� ���$� ����� >��� ���� 2M���4��$� �$�������$E� ��� �����&�� �!"���#��

���# +=ξ � �$� ���� #����!��� ���������� >��� ��2�� ��� #����� ����� ��#� +=ξ ����

4��!�!��� � � �( /�

���4� �1�� )����� >���σC/D� ��2���� ��� #�����2� ��E� ��� >��� ��4��$�����1�� ��� �����&��

�$� �� ���� ��� ���2�����&�� �� ��$�4��!��2�$� �������$��$���B$����$E������2B7�2�� ��

�ξ E� >��� $��1�� ���� ���2��  �� 2���2����� ��� 4���� �74������#�/� ��2!�(�� $�� 4� �1���

����� �����2�2����$� ���� ���$�4������ ����� �$���!���&�� �ξ /����)��4�$�!��� � ��$�

���� ����$� ���������$��������4��%��2���&���$���B$����/�

���$�%�� ���(�2���� ����������&��YE�ρ=82E��$����������&�� ��4���������&�� ��������
 �� ��� 2�$�!��� � /���� �$��4����4��������� ��$� #���������$�  �� ��$� ��$���������$�  ��

��������!�"�� ��$� ��������$��$�������$��/����4�� �����&��ω $���$��4�����!���������
�$4������ ����$4��$��$� ����� �$#����&�� �����$�����&��4���������!�$���� ���2� ���/�

�������� ����&�� ����������&�� ��4���������&���$����>��� �$���%�������4��2�����&��

��!�$��� ������$�4���� �2�����$����� ���$����7����$/����2� �������������>������

�$� 4�$�!��� ���������� $��������$� � 2�$�!��$� !�"�� �� �$� ��$� �$�������$� ?� %������

$��������$� >��� ������� �$�4��� ���  ���$��E� 4�� ���4��$������ ��� 2����� �M2����  ��

��� 2�$�!��� � �$/���2���"�24��$� ����������$� ��4���������&��$��4��4������

o �
Ω∈�

�


�� 33( /� �$��� �����&�� �$� �4����!��� �� 4��!��2�$� ���� ��$���������$�  ��

�%��� � ���� �� ����$� �$#�������$� ����$���$���������$E�������4�$���#�$���2��

��%���#�$E�$������ �$��!��$/�
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o ( )�
Ω∈�

�� 3( E,2�7 /��$��� �����&�� �$� �4����!��� �� ��$� ��$���������$�  �� ��������  ��

 �$�%��� � ����� ��$&���������������($���$�#���������$� ����$���$���������$����

$���� ��4�$���#�/�

��� $1���$�$E� ��� 2� ���� 4��4��$��� ��������2����� ��2�� ��� ���2��  �� �!"���#��

2������������/����4��2����(�2����2� �������!�$���� ������4��2��� � �2������$�>������

$�%�� ���(�2����2� �������!�$���� �������� 2�$�!��� � /�

�

�8�8� 5��&�
�)�3���
��'�*��
�� ��������� ��� �	�*��)������ ��!7<��C�)�
�!����

��������	
���)*	�8�

���4��!��2�� �����%�$��&�� ���������$�4�� ���!�� ��$�� �� ��������$�2�����$E�������

����#�$���2��4�$�#�$/�6��� ������$��$������� ����2�����4��!��2�� ��� ��!7���C�

��
�!���E������������$��4����� �� ����2���������24����� �������#��$�&����������������

��� 2�2����� �������E� 4���� ���� ��� ���� 4�$�!��� $�����  �� 4�%�$� �� ��� ���%��  �� ���

 ����2��� ��4���� �� ��4����������&�/�

���>���$��4��������$����2� ���� ���4��2�����&����!�$���>���4��2���� ����2��������

��24�$���&�� �������������>���4��2����)������������������$����� ��4�%�$���������$�

C4���� �� ��$� �����$� $�� �$����� ���� 4��!�!��� � �  �$������  �� �����������  �� ��$�

$���$�$D/��$������������� ����2������$���B���24��$���4���!���$� ����������"�E�������

��������$�� �����$� �����!���$�$������$%��C4/��"/�!���$� �����$���D���2�� ��������$�

!���$����������%� �� �����������#��/�������2�����&�� ���$���4��!��2������(�2���$�

 ����2���$��$E������?�� �� �$#�������$�4����7��$��?�4��� ��������$��

�

	��/�������������# �

��"����������� *�J�J9# =+− −+
+. �

������������������� X#∈ E���� ,E ≥−+ �� �

C5/;5D�

�
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��� ��#���4��$�������$�����#�$���24�� �$�?�2������ �$�)�$���$��#����2������?���

�$� ��� 4������  �� ��24���  �� ��$�  ��������$� ����#�$/� ��� #����!��� +� ��4��$����� ��$�

�7��$�$�  �� ��"�� ����#���� �$� ��� ��� 2�2����� 
E� 4���� $&��� ����#���� �$� 4��� ���

4���� �/� ��� #����!��� −� � � ��4��$����� ��$�  (������  �� ��"�� >���  �!��� $��� ��!�����$�

2� ���������4�����&�� ��4�($��2�$�����( ���$�>��� �!���$��� �#�����$�������4���� ��

$�%������/� ���2������9� ��4��$����� ��$� ��$)9���=�4�� ��� �$�4��� �� �� ����  �� ��$�

����#�$�������4���� ��
E������?�� ����������$���4���$���2����$��2�����������$/����

2������ .J � ��4��$��������2������ ������#��$����$� ��������� ��4���� �E��$� ������$�

����2������ 00 Z E� �����$�%����������2���

�

( )
( )

( ) 
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J � C5/;;D�

�

���� �� 
�	 E ������4�� �������($�>�����2��������$�$�� �$�4�$���#�$� ����������4���� ��


/�

	������$�>������2������ +J ��$����2������ ��4�%�$�4�����$�4�($��2�$�$������� �$�������

4���� ����������/��$� � (������ �� ���2������ .J � $���2B$�>��� $�$������� 
�	 E 4��� 
�	 E � C���

��4��  �� �����($� >��� $�� 4�%�� 4��� ��$� $�� �$� ��%���#�$E� �� 4�($��2�$E�  ������� ���

4���� �� 
D/� '���� >��� ��� 2� ���� ��������E� ���%�� $���� �� ����&2���E� ��$� ��4�$�  ��

�����($� ����$�4�($��2�$�)��� ��$���2�?���$����%����$�>�����$� ��4�$� �������($� ��

��$� �4&$���$� ������� �$� ������� �� ������ �� ��$�4���� �$/��$� ����� 
�
� 		 EE ≥ /����

#������*E���4��$�������$�����$� � �$�����!��������� ������ ����$�4���� �$/�

������"����� ���4������ � �$�XE�4�� ���$���� ����� �E�� �2B$E�4���������"����� ��

��$���������$� >��� ���%��� ��� ������� ����$� ��4�$�  �� ���$� ��������$E� ��2�� 4���



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�.@-�9�

�"�24��E���$����������$���������$� ��������$� ����$�����#�$�?���$�4�$�#�$������%M����

��%���$�4���� �$� �����24�E�������$� �����&�� ������$�$�4������$������������$�4����

�� ������ ����$�����#�$E���$���������$� �� �#��$�������&�� ������������E������$�&�� ��

��%���$����������$���������$�#�����$��������$� ����$�����#�$E����/�

'���� ������� �� �!�� ��� �$��� ��4�� �� ������� �2!��� $��)��� �� ����������$��2������$�

$�!��������24����2������������� ����$� ��������$� ���$�>��������#�����/�6������2��

 ���$��2����$��$�4��B2����$� �� ��$� ��������$�4���� �$��$��$�� �� ��� �(������ �� ���

%�������&�� ���$�������$E� �����2��>���$��4�� ����$��!��������7�$� �����&��������

��$� ��������$�4�$�!��� � �$� ����$�$���$�$/����� ������ ���$��$��$�������$�$�� ��$�

4�� �� �$������ ���� 4��!�!��� � �  ��� ��������2�����E�  �� ���2�� >��� $�� 4�� ���

�����������/�

��� ��� 2� ���� >��� $�� 4��4���� $�� #�� �� ���$� ����� ��� ����� ����&��  �� ���

������� �2!������ �$��4���� �$���

o ���������$� 4�$�!��� � �$� 4���� �� �� ����  �� ��$� 4�%�$� ��� ��$�  �$�����$�

4���� �$� �����24�$/�

o �J� ��� �� ��$� 4�$�!��� � �$� ���������$E� ��� ���2���&��  �� ���� �������� ����

 ��������$���4�$� ������#�$������������������$%�/��$��$�����#�$��������$%��$��

#����� � ���$� ����� ��2��!���$����� ��������� �����%E��$� ����E� ���$����� �$�

��2��9�=99���9992��$��� /��$��$����$����������$� �������%� �� ��$�!���$�

��������$���� �$����$�4��!�!��� � �$� ���24�%�/��

�������>�������$�E����>���$��4����� �� ����2������$������������>��� �!����!������$�

 ��������$�����$� � �$� ��4�%�� ���� ������ �� ��$��$�������$�4�$�!��$E� �� ���2��

>���($���$������2B$���!�$�����$4������������� 2�$�!��� � �?�����4��2��� � /�

���� �� �� �$��� ��� ���2�����&��  ���2� ����4���� ���� ����� ��$�  �$�����$� �$�������$��

>�� ��B���2��������������&��$�� �$�������/�

/�	��*���G�

��4���M2���� ��!���$� �����4��4�>���$��� >������� ��������$����C�����%D/�
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�( ��� ��$#����&�� ��%���#�� C������  �� ��!������D� ?� 4�$���#�� C�7��$��  ��

��!������D� �������#��$�&��4�������� �������$�4�%�$� ���4���� ��
�!�"������$���������8�

�%( � ?� �%- �� ��$#����&�� 4�$���#�� C�7��$�D� ?� ��%���#�� C ������D� ��$4����� �� ���

��#��$�&�� ������ ��� #�����  ��� �$�������� ���� ��� �� ?� �� �� ����  �� ��$� �$�������$�

�� �#� ����$/�

�

��
��G�

�( ��'��!�!��� � � ������������� ����$���������/�

�

( ��'��!�!��� � � ������������� ����$���������� ����������4���� ��
/�

��4��'������ ��� >��$���&�� ����$�!���$� �����4��4�>���$��� >������� ��������$���/�

�>����#��$�&�����������������#�$�$������$%�/�

�
�4� ����� �2������ ���!����4� �����4����!�"������$���������/�

� 
�	 E �?� 
�	 E ����4�� �������($� ����$� �4&$���$�?�4�($��2�$� ����������4���� ��
�!�"�����

�$���������/�

�

- ������$� � �$� ��4�%�� ����������4���� ��
�!�"������$���������/�

Ω/ ��8����� �$�� �� �������#��$�&��!�"������$������������ ��� ��f8�

�

(�	,)�
	��G�

������"����� �� �$�����$������%� ��!���$� ��∈ ����D�?�����888���8�

P����4�$� ��!���$� ������ �����2�$2�������%� P4 ∈ ��4�D�?�����888��)8�
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0��'���� �$� �����24�� 0
 ∈ ��
�D�?����888��08�

Ω ���$�������$�4�$�!��$� ( )+�� E////E+E.� ∈Ω∈ �


�	 ����4�� �������������&������$�� �� �$������� ����������4���� ��
/�

δγβα EEE ��'��B2����$� ��4���������&�� ����������&���!"���#��2������������E�>���$��

 ����������������74������&�� ������������C2B$�� ������D/�

�

'��
	��������G�

��
= =

=+−+
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4
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, , E��� Ω∈∀� �

,EEEE ≥���
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�

���4��2������$������&��$��B�>�����$���� �2�����$�4�� ��� �$�4��������������2B$����

����� � �2������ �� ���������#�� �!��1��$��� $����������4������!���� ��$�����$� � �$�

 ���4��2���4���� ������� ������ ����$��$�������$E�4���� � ��>�����$�����$� � �$����

�� ���$��������$��� �$�����$E�$��� 2�������4�$�!��� � � ��>����7�$���� �$#�������$�

������4����7��$�� ( )��(. ���2��4��� ������� ( )��-. /���

������A�%����+@E�$��2��$����%�B����2��������!������� �����"�$� ����"��������4���� ��


E������$4�� ���������$�����$������&�/��
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Rendimiento de los bonos

Necesidades de pago
Desviación, si positiva en

la Cobertura (sobra dinero)
Desviación negativa que
Hay que pagar al tipo de

Interés del periodo anterior

Desviación, si negativa en
la cobertura (se necesita

Más dinero)

Desviación positiva ligada
al tipo de interés del 

Periodo anterior 
��
� 4

�4�4�#

( )
��
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��8��;
�
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������
2
�����
�
� ���
�
�
�

'����
D?����$�������� �

�( .− ��� �


�- .− E�4����$�������������#��$�&�����������������#�$�$���

���$%���>���2����4��/�

���$�%�� ����$������&���$����%�����������&��4������ �$���$�4���� �$� �����24�� �����

4��2���� ��$������&�E� 4���� ���$� ���� �� ��$�  �$#�������$� )�!� �$� ��� ��� 4���� ��

��������� ���� $�$� �����$4�� �����$� ������$�$� ������ ����#�$� ��2�� 4�$�#�$/� ��$�

 �$#�������$� ��%���#�$� C �$��!�����$D�  ��� M���2�� 4���� �E� $�� �����4�����

C��������� �$D� ��� ��� ������� �(�2����  �� ��� �����&�� �!"���#�� C$��  �$���!��B�

4�$������2����D/�

��� ��� A�%���� +:E� $��2��$���� %�B����2����� ��� !�������  �� ��$� ���"�$�  �� ��"�� ��� ���

4���� �E������?�� �E�����$�����$�E���$� �$#�������$���%���#�$/�

�
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Inversión en activos
sin riesgo

Valor esperado de la inversión
Para el escenario coordinado

Desviación 
positiva

Desviación 
negativa

Inversión en activos
con riesgo

,�

� �4�4��
Ω/

�%( �%-−

�

"����
��9��;
�
����������2
������
2
����������
��
�����%�
��
�������
��%
��

�

��� �������� ��$������&�� 2� �� ��$�  �$#�������$�  ��� �$�������� ���� ��� �� %��!���

��$4��������� ������ �� ��$��$�������$� �� �#� ����$/���� ������ �� ������������#���� ���

�����4�����&�� ����� �$#����&����� �B�����4������������&���!"���#�/�

������A�%����3,E�$��2��$����������"�� ����"�������$�4���� �$E�
7?E�
�?�4�������4���� ��
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�D ��� �24�����  �� ��� ��#��$�&�� �������� C!���$� 2B$� ������#�DE� 4������� �� 4��� ���

4��B2�����α.��

!D ��� $�2��  �� �� �$� ��$�  �$#�������$� ��%���#�$� C4��$��2�$� �� $��������D�

4�� ��� �� 4��� ��$� 4��!�!��� � �$�  �� ��$�  ��������$� �$�������$� ?� 4������� ��

4������4��B2�����β/�'�� �������4�����$����2��������$%�� ����$��#������ �����

��24�J1�/���4��$����������� 2�$�!��� � /��

�D ���$�2�� ����$� �$#�������$����������#����� ����������������"�����?����#����� ��

��� �������� ��� �� �� ����  �� ��$� �$�������$� �� �#� ����$E� 4�� ��� �� 4��� ��$�

4��!�!��� � �$�  ��  ��)�$� �$�������$� ?� 4������� �� 4��� ��� 4��B2����� γ/� ���
4�� �� �����4������ ��2�� ��� ���������  �� �4��2��� � � %��!��� ������� �� ���

�4��2��� � � ���� ���$�������/�

 D '������� ��4������4��B2�����δE��$����$�2��4�� ��� �� ����$�#�����$��������$�

 �� ��$�  �$#�������$� ��%���#�$�  ��� M���2�� 4���� �� C������  �� ��!������D/� ���

4�� �� �����4������ ��2�� ��� ���$%��  �� ������  �� ��>�� ��� �����/� ��4��$�����

��� 2�$�!��� � �?���2!�(��$��4�� �������4��������2������>����!���������������
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��2��$��)��4� � ��#���������4��$��������!�"�E�������$%���$�B���%� ��������>�������4�� ��

��#��$�&�E��$� ����E��$���)�����������$�4���!��� ���$�������#� � /��

���>��� �$� 4�$�!��� >���  ��)�� ���$%�� 4�� �� $��� 4�$���#�� 4���� ��� ��#��$��E� ���

4��!�!��� � � ��>���$��4�� ������4(� � �$����4��#�$��$��$�2�?��/�

��2!�(��$��)���������� ����$������� �$� ��� ��#��$����������������$%��?E� �4�� ��� ��

 ��� ��4��  �� ������ �$�  ��� 2�$2�E� ��� ������&��  ��� ��4��  �� ��#��$�&�� !�"�� ��$�

������� �2!��$��14���$� ���� ����4�� ���$�������$/��

'����#��������$�$��E� ��������2��2B$��!"���#��4�$�!��E���$������� �$� �����#��$����������

��� ���$%�E� $�� )�� ������� �� ��� �$�� ��� $�!��� ���;
������� "���	���E� 4���� ��� ����E� $��

�24�������2(�� ����24�����#��������>���$�������������������&�� ������� � �4������ ��

$�"���E� ����!�?�� �� ��� #����� ��2(����� ���  �$������ ���$�%�� �� 4��� ��$�  �$�����$��

����� � �$� ���� ��!���/�������� ����������&�E�?���24���� ���������� � ��$4��� �� ��

�� �����������#����������&�� ��$��4��!�!��� � E��� ��$�"�������%���>������>������%�����

��$���� ��2B$�����/����)�� �����&�����$��)�� ���2��� ����2�������� �� ��������� � �

$������2���74��$�&��������!��� �����24����2������ ����$�4��$���$/�

� �2B$E�4���������������$������� �$� �����#��$����������������$%�E�$��)���������� ����$�

�7��2�$�  �� /��� -�C)��7��	����
�	�E� ��2�� $��� ��$�  �� ��24���!��� � E�

����$���#� � � �� ���$�$������E� $�$������&�� �� �� �4�� �����E� �������� � � ��

2��$���!��� � E� �� �����&�� ?E�4���M���2�E� ��� ����1��  �� ���4��$4����#�E� ��� ��� >��� $��

�����"�� ��� ��24����2������  �� ��$� 4��$���$� ��� ��$�$� �����$� ?� ��� ��2�� $��1�� ��$�

��24����2�����$����������$/��

���)��������� �����2(�� �� ��%�$�������������$%�������#($� ����$�'��2�$� �����$%�E��$�

 ����E���$������1�$�2��������$�>��������#��$����#��$��������$%���$�B� �$4��$�����4�%���

���� �"��� ��%�����4�����#�����������$%����)������������� ����2��� ����#��$�&�/�

������ ��$�4��2�$�  �� ���$%�� �$�� �� �$� $�� ����������� ���  ����	��C�
3��� ��� ����� � �

2B7�2��>��� ��� ��#��$��� �$���1�� �$4��$��� ��4�%��� �� ��  �"���  �� %�����4���� �#����� ���

���$%��  �� ���� ��#��$�&�� ���� ��$���� �� ��������/� ���  �� (	�

� �� 9		�CE� ��$� �����$�
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4��4����������&�2����4�������$%�$�4�>��J�$����������&���������4����2������������� ��

��$� ��#��$���$� ?� ���$%�$� ���������2����� ��������$E� �$�  ����E� 4���� 4�>��J�$� ���$%�$�

��?��#������$4��� ���$�����/�� �2B$E� ������� ��$��#��$����$��!$�����$� ?� ������#�$����

���$%�/�

'���� ���������� ��� �$�� ��� ?� ��� ��B��$�$�  �� ��$� ���$%�$E� $�� )�� ������� ������2������$��

���$�������&�� ����$�2�$2�$E� ������� ��?��������� ���� ������ ������$E��$1���2�����

��24�$���&�� ����$�2�$2�$/�6���#���������� ���� ����4�� �����$%���7�$�����E�$��)���

 ������ ����$�)����2�����$� �$4���!��$�4����������������������2������ ����$�2�$2�$/�


���� �$4����� ����� �� )�� $� �� ��� � 2���$�����&��  �� ��$� ���$%�$E�4���� ��� ����� $�� )���

 ����� �����$��!"���#�$�?����$���������$��$���� �$���($��$E�� ��������� �E��#����� �E�

$���������� �����24��2����� ����$� ���$����$���2� �$/�

���)���$�� �� �����������&����������$�4��!�!��� � �$����24����$� ����$����$%�$�?�$��)��

 �$������� ������2������ ��������$� ���������� �� ��$�4�$�!��$��$�����%��$� �� $�%�������

������&��������$��$�� �$� ��������7����7������$�!�����$�>�������2�$��������� ������E�

�� ���������2��2(�� �$�!B$���$�4�������%�$��&�� ������$%�/�

��� )�� ������� �� ���	(�� ��  �� 8�������&��  �� ���$%�$�4��� ��!����"�� C�'�DE� ��� �����

4�����  �� ���$� ����� >��� ��� ������� �2!��� $�!��� ��� �����!��� � �  �� ��$� ����#�$�

����������$�#������74���� ��4���������"������������ ���������$���1� ���$E���2��4�� ���

$�����$�1� ���$�!��$B����$����N����
F �*
���E��� ��� ���$� ����4�$� �������($���2��

����6���
��������	�E���#����!��$�2��������&2���$���2������'���������2������ ���

'��/��$��$�1� ���$� $���  ����� �$� ��2��#����!��$� ���������$� ��?�$�  �$���!������$�  ��

4��!�!��� � �$��������� �$�4��� ��$� ��#��$���$E������2���$E�$�$�#�����$��$4��� �$�?�

$�$�#�������$/��

��2�� ��$�$�4����������$�  ���	(�� ��  �� 8�������&��4��� ��!����"�� $�� )��� ������� ��

2� ���$� ��#�������&��������E���2��$������2� ���� ��#�������&�� ������#�$� ����4�����

C������� 9�(DE� ������ ���2�$2��$��)���$�� �� �������������&4��2�� ��2���� �E����

�>����!���� ����$�2���� �$�����������$E�$��)����������� �������������������+!�	���?�

$��)��#�$�������4������&��>���$�����)�������������� 9�(E��$� ����E���������$�&�� �����

��������  ��$�
��  �	�E� ��� �����2��$���� ��2�� ��� ��� �2������ �$4��� ��  �� ����>�����
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����#��$��4�� ���!������2� ������������2!�����&�� ������� ���2�#�2�������$4��� ��

 ������������� ��2���� ��?� ��$�������$4�� ����������������������� ����#������������/�

��2��2� ���&�� �����$���� ��������%�$��&�� �����$%�$E�$��)��� �$������� �� �$�����$�

���������#�$�4�����#�����������$���� �� ����$�%�$����$� ���������$E������� �����������E�

���$&��������� �2�������!���� �������� ����2��� ��4��1� �� �����24�E�$������2!�(��

��� ���$%��>���)��� ���� ��>��� �$�2���4���� ��������� ��)�� ��� �2�����/�'���� ����E� $��

)���������� ����$�1� ���$� ��+!�����0	����	��P������?�����������8�

'����#��������$�)��� ��$�����$��$�����%��$���$�%���������#��$����$� ����������"�E�$��)���

�4���� ��2� ���$� ��4��%��2���&��2���2B�����4�������%�$��&�� �����$%�$�����������$�

 ����������"�E�4����$���4������&��$��)���$�� �� ����� �����&������������� �������#��$�&�E�

�$� ����E���� �����&�� ������1�������2��2� ���4�� ��� �� ����$�#����2�����$� ����$�

4�($��2�$��� �#� ����$�>���$�������$4�� ��������� ��4�%��������/�

��� )���  ������ �� ��$� 2� ���$�  �� ��2�������&��  ����2���$��$E� ������ ��$� >��� $��

����������� ���  �� <��!�	�� +8� �� %����� (/E� ���  �� <����� L8� .8� �� /�������� &/� ?� ���  ��

-�C���!��� +8�N8� �� !�)*�	����8� '8�8� �$1� ��2�� ���2� ����  �� �������	)� ��	
������

0!��	�� ��2�� 2� ����  �� ��2�������&��  �� �������$� >��� �������� �� ��� ��#��$�&�� ?�

4�� ��������$%�/�

���� ��$4����� �� ��$� ��#��$����$� �� ������ 4����E� $�� )���  ������ �� ��$� 2� ���$�

�$���B$����$� $�!��� ��� ��24����2������  �� ��$� ��4�$�  �� �����($E� ����$� ��2�� ���  ��

/��������&/E� ���  �� �#�� P8� 8�� ����	����� P8�"/� ?�'����� +8�9/E� �������� �E� � �2B$E� ���

 �����&���$���B$�������4�����)�$������#����2������ �����!���� ����4&�������$�"�������

2�$2����#��� �����$%�� ��2���� �E��$1���2�������2�������&���$���B$����/�

'���M���2�E�$��)��� �$������� ����$�2� ���$� ���4��2�����&����!�$��E�������%��(����$�

��2�� �4���� �$� ��� 4��!��2��  ���  ��!� <��C� ��
�!���� ���� ������� �2!��E� ��� �����

4����� �� ����2���������24������ �������#��$�&�������������������2�2������������E�4����

���� ��� �� ���� 4�$�!��� $�����  �� 4�%�$� �� ��� ���%��  �� ���  ����2��� �� 4���� ��  ��

4����������&�/�

�$1E�$��4�� �� �����>�����$�2� ���$E�������%��(����$���2���$4��1����$E� �$������� �$�

4�������2���2�����&�� ����24����� ������$%��$�!�����$���#��$����$�������2���� �� ��

��������"�E�$���$��������$�4����4��#�������$�4�$�!��$�>��!�����$� ���#� �$� ���2�$2�/�
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��2���1���� �����!�"��������E�?�4������ �� ����$�$��������$�>����4��������$�2� ���$�

�$�� �� �$E� $�� �4�����B�� 2� ���$�  �� ��2�������&�E� ������  ����2���$��$� ��2��

�$���B$����$E��$1���2�����2� ���� ���4��2�����&����!�$������$�������$�����#��$����$�

��������$E� �4����� �� ��$� ��$���� �$� �!���� �$� ?� ��24���� �� ��$� 2�$2�$� ���� ��$�

�!���� �$�4�������$�������$/����

�
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9�
���� ��*�����
�87� '�� �� $��� ���4������  �� ���� ����&�E�  �� ����2�������4��2�E� ����

 �#�$�������4��?����� ����#��$�&�E���2���"�24��$�2B$���2M�2������������ �$/�

9	*�
	�4��=��������	�287��$����>����4����$�!�����$� ���������$� ����������&�E�!����������

2�$2�� !��$�� ������ �1����$� #�����$� $�2�����$E� �� !���� ��� !��$�$�  ��������$E� ����

�����������$� ���2�$2���1�����#����E�?���?���!"�����$��!���������!��������/�

9��	��
�� �*����
�� ��� '�����87�	� �� ��� ����� � �2��������� >��� $�� �$�B�  �$4��$��� ��

��#���������������#��$�&���������$%��4������ � �2���������4����2�����/�

9��	��
�����'�����/9���� ������ ����� ��#��$���4�����������#����� �$4��� �� �������#��

���������������������4��4�������#�/�

9��	��
�� 	���
���� ��� 	�����/9� �$� ��� 4��4����&��  �� ��#��$����$� ���� ���$%�� $�!��� ���

4����2����������� �����#��$��/�

$�
�� ��	�87� ���� �� ��� #������&��  ���4������  �� ���� ����&�� ?� ��� >��� �74���2����� ���

2���� ���$����2�$2�/�

$���� ����	��	/9� �$� �>���� ��?��  �2�� ��  �$2���?�� ���� �� ��2����� ��� ������ C���

4����2����D� ������$�2� ��/�

$���� ��	)��/9� �$� �>���� ��?��  �2�� �� ��2����� ���� �� ��2����� ��� ������ C���

4����2����D� ������$�2� ��/�

 ��
	�
�� ��� ��	������/9� �$� ��� ��������� ��?�� #����� �$� �����&��  �� ��� ����#��

$�!?������/��

��	���
����������	�87�������&�� ������1����� ����������"��>���%�������������������� ��

4�%�$/�

��	���
��)���������87����$�!��� � � ��������������$�#���������$� �������$����������

 �������!��� � /�
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�
������'�����87�'����$�� ����2�� �� ���$����$��������2!������ ��������� �2!���

$�!��� ���� ����&�� >��� #�� �� $��� ��� ?� $�!��� ��$� ���$��������$� >��� �7�$���B�� $�� �$���

����&��������/�

5�1����3����)�	����87���� ��������2����� ���$%�� �����4� ��� �$)������������������

4�$���&�������24��������2���� ��������2�2����� � �E�$����24������������4������ ��

2���� ������������$��� ���������$����&�/�

&���
���)�	�����87���� ���2������ ����4��&��>���$�� ������ �������24�� ��� �����

�4��&�E� � >������ �� ��2!���  �� ���� 4��2�E� ���  ����)��  �� ��24���� �� ���  ����)��  ��

#�� ��� ��� ����#�� �� ��� 4������ ��"� �� ��� ��� ��������� ��� ���� ���)�� ��������� ���

#����2������ �����������/�

&���
�����'�����87�'&����� ��$�%����>�����!����� �$���$���4�$� �����$%�/�

&���
�� ��	����/9� ���  ���2���� �� ��� �4��&�� >��� $��  �� ���� �� ��� ��24�� ���  �� ���

�4��&�E� � >������ �� ��2!���  �� ���� 4��2�E� ���  ����)��  �� ��24���� �� ���  ����)��  ��

#�� ����������#�������4��������"� ����������������E�>���$���"������B�!��������������)��

 ����2��� ��������2�$2��?�>���$�� ���2����K#����2������ �����������K/��

&��������	�����/9����� ��$��4�����$� ����������$�$�!�������#�$� �����$���2��������$E��$�

 ����E�����#�$��������������$/�

(	�)�����	�����/9��$����%��������� ��������>���$������7�%����������#��$�&���������$%��

4����>���$���4������ ��4��������#��$����#��$��������$%������������������#��$������$%�/�

'������ = �����
�2/9� ������� ���2�����#�� >��� ��$� ��������2�����$� � #��$�$� 4�� ���

������ $�!��� ��$� �!"���#�$�  �� ���� ����#� � � 4�������� �/� ��4���� ��� ������%�����E� ���

4��!�!��� � � �� ��� 4��7�2� � �  �� ���  �J�� �� ��� 4���%��E� $��� �� $�$� ��������1$����$�

!B$���$������������� � �?����������� �2!��/�

'������ ��� �	:��
�87� �$� ��� ���$%�� >��� $��4��$����� ���� �� ��$�4����$� ���������$� �$�B��

4���� �$4��$��$����24�$�!����� �$�4������24����$�$��!��%������$�������������$/�
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������4� �$� ����$���4�$� �������($/�

'������ ��� &��	
������87� �$� ��� ��4��  �� ���$%�� >��� ��$����� $��� 4�$���#�� 4���� ����

��%�������&�/�

'�������-��+��
�),
����87�������$����$%�$�2B$��$4��B ���$�?�����2�������������$�!���

����$/�

'�������+��
�),
����87�������$����$%�$�>���$�� ���2B$����������2�����?�$�����$�2B$�

�B���2�������������!��$/��

;
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6�� ���������  ��  ���#� �$� �$� ��� ��������� ��?�� #����� �$� �����&��  �� ��� ����#��

$�!?������/��������#��$�!?�������4�� ��$������4������ ����������&�E� ������2�������

4��2�E� ����  �#�$�� �� ��� 4��?�����  �� ��#��$�&�E� ��2�� �"�24��$� 2B$� ��2M�2�����

������� �$/�

��$����$��������� �$� �� ���#� �$�2B$���2���$�$����

� ��������� ����	C�	��

� ��������� ���������

� 
4�����$� ����24���I�#�����

� ��
	�
�������	C�	�8��

�$������������������� �$�4����$�4������>���$������� �E�������2�2����� ��$�����2�E����

�����%�� ���������#��$�!?������������4������ ����2��� �E�������2�2������������0/�

���$�!?�������4�� �������%��$���1$���2������E�$���������������$�4���2���������������E�

��� �����%��$�� ?E� ���$�������� 2����E� ��������$�� 2� ������ ��� 4�%��  �� ��$�

�����$4�� �����$� ���������$� ��4�����/�

��$�4�����4���$���������1$����$� ������������ ����	C�	��$����

� ��������������2� � �E�����$��� ����� �/�

� ������������&��������2���� ����%����� �/�

� ���$�������������!��$�?�4�%�$�)�$������#����2�����/�
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�$� $�2����� �� ���� ��	C�	�E� 4���� ���� ��� 4���������� � �  �� >��� �$� ��� ���������

�$��� ����� �E�>����������������2���� ����%����� ��?���?�$�!��������$���4(� � �$�$��

��>�� ��� �����2����/�

��$�4�����4���$���������1$����$� �������������� ���������$����

� ��������� �$��� ����� �� C����#�� $�!?������� ����� �E� �$1���2�� $�� ����� � � ?�

#����2�����D/�

� ����������2���� ����%����� �/�

� ����7�$������$%�� ��������4����E�%�������� ��4��������%����� ��� ���2���� �/�

� ��$�!��������$���4(� � �$�$����>�� ��� �����2����/�

� �����>������%�����1�� ��������#�����1����$�4����)��������������4�$�!��$�4(� � �$/�

�
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�8��

�$�������������4������ ��������#�� � ��� ����!����������� � �2��������� C4������ �� ���

�4��&�D� >��� 4�%�� ��� ��24�� ��/� ��� ��������� 4��4�������� ��� ��24�� ��� ���  ����)��

C4�����������!��%���&�D� ����24����I�#�� ����������#��$�!?������������ ����2��� ��

4������ ��"� �� ��� ��� ��������� C4������  �� �"�������D� ��� ����  ����2��� �� ���)�� �������

C�4��&������4��D���)�$������� ����2��� �����)���������C�4��&���2�������D/�

��$� ��������$�  �� �4�����$� ������� ���� �24���� )�$�����/� ���� �2!��%�E�  �!� �� �� ���

������#����24��"� � � ��$�����������#�������&�E�)�$���2� �� �$� ����� (�� �� ��.:-,�

���$����2���������������$��4�����$����2���� �$���%����� �$��������� � �$�����2�����

�24�������$/� 6���  �� ��$� ������$� 4���� �$��� 2�?��� ���4����&�� ��� ��$� 2���� �$�



�
�
�
������������������� � �����������	
���
�
�����
������������������
�

9�'B%/�+,0�9�

����������$� ���� ���  �$��������  �� ���� ���#�� ����1�� >��� ��$���#�� ��� 4��!��2��  �� ���
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�#�����&�� ��4�����$�>������%�����2���� �������� ����2��� ��4��1� �E���������4� �1��

�!�����$��  ���  �� ��$�  ���$� )�$�&����$E� ��� 4������  �� )�?� � C4��1� �� 09.D�  ��� ����#��

$�!?������E� >��� ��� 4������ 4�� �� $�!��� ���� ��� ������� 2����4������#�� �� ?� ����

4��!�!��� � �1����!�"�����������������2����4������#����?�����4��!�!��� � �.91E��$��� ��

��� ��4��  �� �����($� $��� ���$%�� 	<� ?� ������ �� ��2!�(�� >��� �g.c	<g�E� 4���� �#�����
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9� ��8����� ������4��&�� ����24��/�

7��8+��8����� �������#��$�!?�������$��$�!�����4�����/�

9��8+��8����� �������#��$�!?�������$��!�"�����4�����/�

9��������#��$������$%�/�

9�9�������������� � � ����� � �$� ���$�!?������/�
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